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3TE. W, uH. (Wiferew) wdiarm, 1993
HHT 3 A

T Y-
(ereTTIar faverouTr |fga )

%Hémmzzm

The term nishka, which meant an ornament in

the Vedic period, was used in later times to
denote a/an:

wier o TR 916 AT YOI Teh SATIEUT %k
g grar o freg waet et ® SHeRt T 3
(a) Weapon/3t&
(b) Agricultural implement/&f IR
(¢) Script/fafy
(d) Coin/ferhr
ST —(d)

T dfesh Hiet § T F T & o Fep’ v 6
TN A S oA, W Wad b §OCFE & 3
foeeh & forw fepan ST @

(& - grefi O @ gfaere - . ' sfarwaa)

Tsﬁa S, |RTad T It ad

The Buddhist sect Mahayana formally came
into existence during the reign of:
WA I w®U ¥ fraeh
YITEA A § Yehe g3 2
(a) Ajatashatru/3TSIIdST
(c) Dharmapala/%llfrmﬁ
ST —(d)

(b) Ashoka/3TeT%
(d) Kanishka/sf<e=h

9T Vs S § o d9 & waifus a e
TEH WEE a9 dig WedH vl & SR S &
TG Fel § B F prserad # dig od # wgd w
sfm dtg i & mEsH # eremerr |
(IuTezE- STYEE) gl I W § dig e s
®Y G & WMl - S9EE 9 qeEE d fawfa @ wem
St Eemrt dor Sfeardt 9, g fomr fohedt afada &
g@%igwéﬁﬁaﬁ?%mwﬁﬁggg ar
gazaé | 3HAq H[HhT 3 11\31'[
wmé‘rlwgﬁm I, Fifar, @mfaar e
SO H WEEE d9r oo, oui, Sen e 9 # A
el §1 S % & GHEE e-d9ihe Td g, qeE
ft & ToeEl ¥ de M-1- yEER A At 59

3.  In Jainism ‘perfect knowledge’ is referred to

%ﬁaﬁﬁ‘wﬁn’%mwm%?

(a) Jina/S (b) Ratna/T=
(c) Kaivalya/daed  (d) Nirvana/fafor
3T —(¢)

TS & 248 Sid wd S9ud % ardias
LIS HlER Wl 1 12 a8 P ST qURn & gvEn
42 79 F oMy § eI & g weuiae & &
fepR Tt 3toran qut [ St Wit gF | 3 “quisE b &
G’ FHEl T FAT T @ I b qE @ FEER
‘Faferr, T ol fawmr, e (ImE), fElw
(Fgfed) FEamw| SEH % B & (1) 99=F IH, (2)
TG A, (3) TEh AT (AR | Weed @ % faior
dt o F W ug () 7, fme o @ v B ogm
ST 37 S-TR0T 9% § g @l S|
(B - reit e o gfaerd - o, ', sftemae)
4. The last in the succession of Jaina Tirthankaras

was:

I deferdl o o 3ifem T ar?

(a) Parsvanatha/9T¥d-g (b) Rishabha/Fowed

(c) Mahavira/Ag&R (d) Manisubrata/Afrgerd

3T —(¢)
-5 W % IER 39 gH § ol de (24)
didfert guI 24 PR H FERT FI SHEH F G,
Yadeh T J99 Al & &Y H AT @1 21 wrgey S
o F Teud Ud e dide 91 uvd & A i
‘Tl @l ST 21 WEER @l SHuH & sif<m wE 249
drefept qem S g & arsdfas TS 91 W HeER &
S FuA & fbe FUeAm (IRSHT H TR F IGH
Fa & g fagrd & =@t 599 090 H g3 ANl T AW
frere stean fadgamr dumeht % forsfy $ & @ e
i ag of o uett awier ff g Sragyar awe
S g3 W WeER & 12 9% I J9e & ] 42
e ¥ yewIm F i T &
A F TH IF F A Facd (ared ) F A g8
(Ea-greiia are @ gfeera - . . sfaraa)

T ua HiEa et

=355

Tadeh g, 2- fagmaR a1 AR - 39H Jads

P 9| Feed @ 6 gdd 99 % uEs EIEIGNFS % @g||5.  Ashokan inscriptions were first deciphered by:
483§.§§mﬁwﬁwﬁwaﬁw 9 & D@ st wagaw fRa ugr ar?

¥ wem Tififa, RryEmT SEl s e & 9u (a) Buhler/sEer

383 €. 4. & el # werheare & sremerr # G4 alg (b) Robert Sewell/Afad Faer

w?rl%r N HHA % e WEE AW % A 251 g (c) James Prinsep/3g f=3g

am‘lﬁm T oA I —(0)
IAS (Pre) G.S. 1993 YCT



ETEAT— 3% &1 e g Je: 344 el 9 &
T 2 21 31t T ST % 40 § off s o ora
@ gh §1 i & Redl S gduem 1837 § o
g 7 ver)

(Ea-greits e oAt gfeemd - o, ©t. sframeae)

6.  Chanakya, was also known as:
TSR <hl 3T A 4T :
(a) Bhattasvamin/9egEarH
(b) Vishnugupta/fesopre
(c) Rajasekhara/?ﬁ@'@'(
(d) Vishakhadatta/faemass
3™ —(b)

a0 YEH 9Rd & oMl [uwe  adr
ey &1 T w1 g gor @i o e
W ¥ S S @) e ¢ f oA F 322 € A
FE U TR § WY F A Fw & sitw e
TR T G FUBL ARG H HF SO ST TG BT Hewagut
w1 o R o1 A SeEe & Sfid & wdved wRd @
IO THBT g | Seara@-E € 6 =i 3 w=a 6
e & ST I T SaTe fRaT 9T TUEE 98 )
1 o Sifeed g @ rfurer M 99 9Rd & geH
I T AT ST 1 ORI 6000 Y ATl 59 U9
(arfeTren) & AR s Td T A el SR
(wueh) # fyaisa 8, frad fife & gdg @ it
T 81 faemeed 3 fERe qu TR 7 HYwEed
e T B T W

(Ba-vref 9 =t gfagra-o. . sframee)

R A . L B e L R 2 S L - B
7.  The earliest rock-cut caves in western India are
those at:
ufgerdt e ® Yrefian ot T el €2
(a) Nasik, Ellora and Ajanta
e, TANT 3 7=
(b) Junnar, Kalyan and Pitalkhora
IR, HTAMT SR e
(c) Ajanta, Bhaja and Kondane
FTST, AT 3R S
(d) Bhaja, Pitalkhora and Kondane
ST —(¢)

TET—IT 9Rd # AT Sedd e (JeE A
el AfY) WERIE F SIS, W1 U9 aied § fRd #
WY % Somer S # e s ¥ T\ $a 29
TR § ¥ 6 THU (TH T - 9, 10, (FFR), 8, 12,
13,15 (faer) fadar waredt €9, @ wom voed =it & i
FHEH 6 Y, TH HEA-16 T 17 Tt el @ §
Tl % FEF T4 TR S 1 TE 2 TERR we J A @
| g g § TR 3 fava sy e § e |
fAffa o 9= 16 § I T TepA & o
W?Q@THﬁW‘WSﬁIM’WﬁHWEﬁ
3y T Ty 31 weRy & qul fet & fem anr § e
v €. g, # i @ Fa 22 T §, S Se,

8.  Among the four works mentioned below which

one is encyclopedic in nature?

R T § | e o1 favaenndia T §?

(a) Amarakosha/3THThIT

(b) Siddhanta Shiromani/fagafyRmfeT

(c) Brihat-Samhita/ggdqsfear

(d) Ashtangahrdaya/37877ged

3T —(¢)
AT - FaqHied e § aREHel 5N Whd § o
T foeasm 2
9.  Who among the following is NOT associated

with medicine in India?

¥ form w1 gl wRa & smade

I W Heie T §?

(a) Dhanvantari/&~a=i

(b) Bhaskaracharya/wﬁ

(c) Charaka/<%%h

(d) Susruta/g¥d

37X —(b)
T 1114 . I 9= 9Rd & 7eH TR
TS GO 91 SR A § FE ey TG ATl
e g fafad it do Siemady qur @t 9
wafem dg fagra fRmfr g1 e § 9 A
T AR Sfeat 9, GIT Td g & s
fafermes o1 dor & v o # IMHEH HTH &
I HA H ST IE eyl e fage @ far
Fel ST 21| g Wi i Tk dfear @1 el vl #
T e & WEE B F WS dg g=wn 6
S feeg wfaed el % gd oeae & & qamEn S 8|
gyt fefar o % sfag og 4 =4 gy Wi AW
o e fafeen & d9 &t @
(B - g wRa T 3feem@ - &, i sftarae)

800-1200 Sht TST-TeTeh QTATIGR eIt

10. Consider the following passage:

frafafaa et W s g

“In the course of a career on the road spanning
almost thirty years, he crossed the breadth of the
Eastern hemisphere, visited territories equivalent to
about 44 modern countries, and put behind him a
total distance of approximately 73,000 miles.” The
world’s greatest traveller of pre-modern times to
whom the above passage refers is: .

“ITU T & = et Sfew |
IO YAt MeATs o faega -9 @t AT &, 39
foromer -9 A T@ET R H onw wiE 44 9T oA R
3R et TaeTeRt T 73000 Hier B gl wIeteRt UR
#‘“n

IAS (Pre) G.S. 1993
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-3k ShHIST ST HHR T TaH &T I8 AT
I o TRt TUi U & TeRoT | §?

(a) Megasthenes/ﬁ?T@T-ﬂ_ﬁ

(b) Fa-hien /®ifgam=

(c) Marco Polo/amehiarat

(d) Ibn Battuta/gsIeqr
I —(d)

ST — TG H oTaqal -97 H q= ud feremerar
# 3y T uuen ¥ off Se gEewe o1l 3§ R
e, el snhe, Rl ud odf g, wer o,
TS STHRTE, A ufvrn, aferr gd wfern wd < e
& 44 9 H @ 73000 He 117000 fwdr. @ g e
30 gt % Sfed # @ F A1 gsTega g oA
TS & THA 9T 37T M|

11. A lot of details, regarding the Vvillage

administration under the Cholas is provided by
the Inscriptions at
el Uy % agd ¥ =R =

RremerEt o € o et 82

(a) Thanjavur/4siTeX

(b) Uraiyur/

(c) Kanchipuram/ai=ige,

(d) Uttaramerur/3tREE

I —(d)

ST THE 0= & IMET & 129 T 149 98 §
TG ST ARGl ¥ Hiedeid MHT @eEd ud Im
TR 36T & G99 7 Suee @i 2| g ud am
T STl el ST 1 gevgE AR 81 € st
¥ qe: e @ SR A et & 3o R T 8-
1. ST, 2. 990 A MR, 3. TRW | AW ST a«r 9
aiferT wewt g fffa & o el & o FEt & mw
T FHEHRT Gy w R, Y aiaw #ed 91 TR
T TR AewEqel yemEe e ) qengy |
TG o TG FEGH gl S TS 4
(EA-grefi ae o sfeera-h. . sfara)

12.  Which one of the following is considered to be

the world’s greatest iconographical creations
made by the sthapatis of south India,

articularly during the Chola period?
%ltl‘l%l‘l"@?r T W fohe @ 0T 9RE o favreet

TS G oh TATICT hi fover ® SISaH Qiamr-TomT
T ST 32

(a) Mahishasura mardini/Afesrgafe-t

(b) Nataraja/=Tst

(c) Rama/T™m

(d) Somaskanda/FEh=<

I —(b)

TSR0 YA § =it 997 & Tror ‘fostarera’ 3 &
f| HEM T MG A A HAA S TG FeAl el H
fopre & wRdicrd W ugarn g aevT Fer 9 gfdeen §
IECEHT T T | Arel & gne (AT o g §
‘T o @ we e 1 fava & e qfd e §
%Ewwélaﬁawmqmﬁﬁ%ﬁ
TORISIYaR 319aT Jediver AfaX &1 q97 39% [F Toi5 J49

9 Tievedaqd § FedReR AR & fmi &
FedvR AfeX # A’ W S H e ¥ wenfed
femeRrd &t T 21

(& - grefi aRa @ gfeera - o, . shtaraa)

13.  Which one of the following pairs of kings of
ancient and medieval periods of Indian history
and the works authored by them is correctly
matched?

Hror & g A TE AR el iR Wemw gw *
Tt & AT € SR gEdt 3 ek fafura Ty €
T A W g wd git 82

(a) Krishnadevaraya : Samarangana sutradhara

(b) Mahendravarman : Mattavilasa prahasana
: Alde e Yged
(c) Mahendravarman : Mattavilasaprahasana
(d) Somesvara : Amuktamalyada
: 3 AT

I —(b)

RS IR F Yoold Y9GY B TeH IEH HEHaHT
% HeH A, Siiay & fmtar o 3 wmfEemaeE
qAE TG TEIHY H A w1 T TS H wIIfeln Td
fiegslt W = fFar T @1 afE Herd % WAR e
HETS A T TR (SRS ¥ geEi)
g ‘ogde gaw (fafeer o 9 weifed) qwe
WA FAUT F AAHE WEE  GHTER gag |
Rremmrs & wfog dy Andeas # oqdr R &
fegUed fasaR & q@ 99 & WeH Y ad der
Tifecd & fogM FUREE 7 da] 9o § ‘SFEeas A
‘fogfofa’ @ T 9N H T A STEe Hedwn
T @ ey e e ‘e AT @ el ¥
AfiT FOREATT F AR F dh BT & I T (31
) @ A1

(B - e e @ 3o - o ©. sftamee)

feeett Hoa=a

14. Who among the following introduced the
famous Persian Festival of NAWROJ in India?
frafefiaa @ @ fora e o wfag wrEr Sier
RIS T AT ST ?

(a) Balban/scTa

(b) Iltutmish/geqafaer

(¢) Firoz Tughlaq/fRst USED

(d) Alauddin Khilji/3fesedq Raersit
3T —(a)

T THH RN gear | aaad 3 wrer ifg-Ra v

WIS SR 971 39T BRE W e @ da

Y& R a1 3 A H BRE ieR TES BT ST fRar

o (B - HEAHTA Sierere - givers amf)

IAS (Pre) G.S. 1993
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HITA 9T
15. = 2 we o € R @ 1w @ wE (A) @R
O T I (R) el T §

Assertion (A) : Babur wrote his memoirs
Baburnama in Turki.
HAT (A) : TR F A i H forar
Reason (R): Turki was the official language of the
Mughal Court.
SHRUT (R ) : TH T @R TSI o |
In the context of the above two statements
which one of the following is correct?
FW & Al wmAAT K Hed § wany fw
frfafaa ® & =i ar ad #?
(a) Both A and R are true and R is the correct
explanation of A
A 3R R T W& 3 S A # & SR B
(b) Both A and R are true but R is not a correct
explanation of A
ASIR BT T8 § W A T8 R T B &
(c) A is true but R is false/A FgI 2 TR 7o @
(d) A is false but R is true/A Teid @ WR T&l &
I—(c)

T TERAAT 3@l Tooh qa A AR
T 99 A AERME A & | aER g 9 A b
R e ) T s o | e o e o M R
HFZEW A & G TEAET AW H gEE AR
HRE AT H fRA TN S99 ¥ 9NG & 1504 § 1529
Th & ToHifaeh Td TemEeg fRrfq & SHer s g
2| e @ f6 qoet wrEe & o W o, g T
(| - HemreRTelta gioare - gRyers o)

16. Which one of the following is a monument
constructed by Sher Shah?
frafafaa & @ forw e o fmio oeme =
HIETAT AT?
(a) Qila-i-Kuhna Mosque at Delhi

feeett &1 fopaT-u-Fen AfesR

Atala Masjid at Jaunpur

S 7 37en wfees

Bara Sona Masjid at Gaur

TR ) AT WA AR
Quwwat-ul-Islam Mosque at Delhi/
faeel & pead-Ia-geam AR

ST —(a)

(b)
©

(d)

TS A faeeh fem QU fhar & sy foharr-u-
FE A AIEIR 1 0T 1545 3. F HOA 411 39 AR
¥ 3Isoadl AgHATHS U F HRUT I WRA I ARG §
T 3w WE R S 31 SAR # 9 s
Afesa’ st fomior 1408 20 # goEm wmewe |, TR @
AT witeg 1 fmior e wid & wree JERd We 3 a9
feeelt & ‘FoAd-sa-geam ARSRE & T qRT # g
TS o He9% HAIe Uah (1206-1210) 7 FT@mET ol
(| - HemeRTelta gioare - gRyers a9i)

17. In Mughal paintings one notices the adoption of
principle of foreshortening whereby near and
distant people and things could be placed in
perspective. This was due to the influence of the
et Tt e ® ewrEeuur i gt stuATEn
g femté 2 € fed forepe oit @ & =t aan
uered Ueh & uRyed W I W &1 A foRdeh wre

& THIRTT 37

(a) British/fafesr (b) Dutch/ga

(c) Portuguese/Jameit (d) Danish/STmht
I —(0)

AT IEF TR & HA P &
AN I B & | GCHC b el Bt (),
TR q9 A feEewen dferdl & wwfem A g o
Sl & e @ fagr g iwid e wd g
=fF v e uw & ofea | fafa fee S 9, gl
fepeTelt % yara 1 aRemw ot graee § [dE fE S
Tequl 9mit S S ol # WSl arel gegut Rt §
e, HyEe, fufefed, diem, sd s e €
[ e 1 B o B 1 O | S e G
[SEEEEIN

(B - WEARIE gieerd - gRyverx am)

T AUsa o faged wd gud
TS T YIFH

18. The Ryotwari Settlement was introduced by the
British in the:
TS 7 TSt SErae wEt An] feRan an?
(a) Bengal Presidency/smet Sefig -t
(b) Madras Presidency/As JHie=t
(¢) Bombay Presidency/a=g Jge~dt
(d) Madras and Bombay Presidencies
TE SR iR 9 S
3T —(d)

TET—EAaTE] 9 F T AR, T9E T§ IH &
aAferpier i n it T oft ) A s F gevem
1807 § FeA T % v ¥ A% F TRHee foret #H wn
feFam 7| AT AU 39 HEE WE % a9 39 YRR
TAaTEl e F FH 209 TR U6 FAA I 91 39
e § Tl (fpamt) At 9ftt 1 ardfas @rf 99 ge
foFei & T ®9 § 39S & 55 FavW § 66 FfwE
WS HH ZR age TN SeEHd @ f6 e
=g & Siad ey wRa @1 gt 51 Woww (Haity)
feear enfirer ol TR @ et F 1793 € H &,
fer, s 4 Wl s<ew (W a=ies) s
T T AN & foEes i SefeRi @ qfy @6
Tl AR 3TY T AT W @I agen S|
(BN - SME(Th WA T FfereTd - WaR T ATTUTA)
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WA, Hikhiaewh, SO, s,
T 9" foram= =g
19. Uplift of the backward classes was the main

rogramme of the:
%@%aﬂﬁwmmg@m or?

v

(a) Prarthana Samaj/Sﬂ?j:lT THTST

(b) Satyashodhak Samaj/Seaenees THS

(c) Arya Samaj/3T% GHT

(d) Ramakrishna Mission/TH&T foee

I —(b)
HE—TENY & TN GRS sAfdargd 3 e sfaai
% g anf & som & fow w1 1873 € # ‘wewius
TR F TG 1 S Bt 4 Tam W (1872),
‘qrais 9 g9 AHES eI P

SEEEE H e W g faam @ sravesa | SR
fear WA o # e weRd e e aen
ENH GV 5 1867 | os H &I 5| o WA &
O] qAHE A R 1875 5. H g H & e o
Safs THFWT AT & T @l [FeasE= (FEe &
A X A1) ok BN E 1897 H e (Ferdwhan) § H TR
oA R 6 gumeR a9 3 faere @ syt afe
ST T AT T el

(BN - 3Tk TR o T - TeR T F9TUTe)

T WG, |-, AT, ey

20.

The foundation of modern educational system
in India was laid by:
e o Toram wurreft =t e feraa wi?
(a) The Charter Act of 1813
1813 & =X i
(b) Macaulay’s Minutes of 1835
1835 & HaHiel & fie
(¢) The Hunter Commission of 1882
1882 1 2T MM
(d) Wood’s Dispatch of 1854
1854 &1 98 =l
I —(b)

ST Mo St faferaw sfess = 2sf an
forg o & weem g R § S, F faEe &7t
FH & fou ol Sifga & fafy gew o
rezerar | ol e |fafa &1 T fRan 2 wEdl, 1835
F HHrd A AT g SRonY ofg (e i)

8,
aﬁgw
&i%ﬁigw..

W =8, SdAhdl UTd A5E H
QAT 1 gaE e T A
foreqr o1 Heerehrel’ ST ST 2 |

;

21. Among the four political parties listed below,

which one was the last to be formed?

= 3 g % W et T W ¥ e

TITOAT HEH 31T T §8?

(a) The Conservative Party in Britain
fseT # soafea wref

(b) The Democratic Party in U.S.A.
R

(c) The Republican Party in U.S.A.
T T e i Rafeers aref

(d) The Indian National Congress
TR T HiEg

I —(d)

HEAT—4H% & (Labour Party) Td1 3TER &
(Conservative party) fsea &t Mg e wieEt g1 3
I WAt TRfeys e den ‘TR Ame TeHifas wifeat
F & i w emgfs w9 ) B § Fowafea uef #t
O 1834 H g2 il SHibed wd Rufsera wiéEt
s # T wgE WAl 1 emis wiewm fmfw
TeHifoes g & Afea & faws o foheg sl dfaum &
A B (1789 §) F UvEN 19df Vs & gRew H
Rufecisr Wa SHIshfeh el ol TATqAT G5 | HIcshA i g8
¥ 9 T SE9 # e sewaea ulf (3eve)
o Rufssd (1854) T8 SHRECH WAl (US.A) &
TYEI g5 AR TEE FEE # e fewwer, 1885 H
FIHY W S AHEE TSN W A aWE F FH A
(B - ST T T FfereT™ - AR T ATTITA)

22.

The first political organization established in

India in 1838 was known as:
9 # 8 ggw Ueifees 6T st ST 1838

H g3 SeR A1 o1

(a) British India Society/@fewr gfear Tramt

(b) Bengal British India Society

ama ffewr dfean dwe

(c) Settlers Association/HZerd THATIH

(d) Zamindari Association/STHigR} Q’@I’f@?ﬂ:{

I —(d)
T 1938 § Frbar # it v gesd gERd ar
‘Tl TR 9IRGB g9 Toifae g@een o, S
SRSEHY 2K % w9 wifta o v ) 3w ween &
Ie¥T SiaR] & fodi ol RN F AT T9 W & 3 W
I TS FAR IER g1 TS [EEG 39 91 dma By
QRS & O 1843 H SRGHEY UK F & s 9
Foamar § # T O saEfe Biew sftear Sl o
28 ITFER 1851 I Fordhdl H ok @d i, e <4,
s SR q aives et ok % g & o
(B - MYk WA T FferaTd - TR T AT
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TASAT GO Te T 3=
23. Which of the following were the
objectives of the Khilafat movement?

& T frafafaa & @
HA-HE H A7

1. To rouse anti-British feelings among the

Muslims of India./<TRa & AW ¥ farfeyr
ferieft sremT Seusr T
2. To reform the Muslim society.

main

™ TuTsT o gur

3. To demand separate electorates and
preserve the Khilafat./geres faieres Wsa =t
T 3iR Raerka =t Teror

4. To save the Ottoman Empire and preserve
the Khilafat.
AT WU i &7 X RacTrera s Tero

Choose the correct answer from the codes
iven below: _
few gu et & wE 3T &1 99 T
(@) 1 and 2/1 3R 2 (b) 2 and 3/2 3N 3
(c) 3 and 4/3 3T 4  (d) 1 and 4/1 3N 4
I —(d)

-T2 fIvags (1914-1918) F WY 9RAA qHAHHl
T By TR # 39 W | gudT e oo 5 3 g F
?meﬁéwgmmﬁ

gmmqﬁqgamw|m§a a1 fafewr JR
9 310 39 91 &I digd g¢ Ha™ @ §f¥ (10 3T, 1920)
%m@%mm?mﬁa?ﬁ(ﬁw)mﬁm

AT GHAHET 5 3Tl aY3A (PeFIe el Ud
ésﬁ‘gaﬁ wﬁmwmﬁmlmﬁr

ﬁfﬁ’

24. “Indian cotton merchant, banker,
Congressman and a close associate of Mahatma
Gandhi” This description fits:

‘Ot et , ST, q[AT T
Tieft @ Free wEanh %” Ig IUYTH forawur ¢

(a) G.D. Birla/st. €. foren

(b) M.R. Jayakar/TH.3R. SR

(c) Jamanalal Bajaj/SHATellel SISTTST 3l

(d) V.S. Srinivasa Sastri/a.Tq. Hif1arg ImEt &1
I —(¢)

T A I 9Rd o 9fg FIST SR, el
FEAG FA A TR e kb F wEArm ) wfoad
A FE, JT faew | afeenst @ a=a & weam
Td IWE § IFE AMEH & AU FEACTA a9 ERR
fear ST 81 ScoeHE @ TvareE faser ff 9Rd %
g @AW S, e siEfe g % owgE a
Bf wffs, s, awte 3 s et %
TEs 41 3% 1967 § e fomor § wefAq feRar
S 1983 ¥ ! e 2 T

25. The title given by British Government to

Mahatma Gandhi which, he surrendered
during the Non-cooperation Movement, was:

TR 3 wgrer et st S st & eft
AR R S WEH e W auH
Tear, o ot -
(a) Hind Kesari/féa &9
(b) Kaisar-e-Hind/&&t-u-fg=
(c) Rai Bahadur/TIeI8gt
(d) Rt. Honourable/ge 3A{aat
I —(b)

- TElE M # W fIvd g & IR I
et & forg ffesr TR g/ FeR-u-fews =it sufy &
of, B 3= oo & faam il St A 3§ 9 o g%
USH qA AR uesh o A # faar e SHAena
IO | ST N @ T T aRIgy U rer & o
(BN - STk T T Sierer™d - TaX TE A9TITe)

26. Which one of the following statements does

correctly defines the term ‘drain theory’ as
propounded by Dadabhai N aorop"
EINE)

EWY ‘3rveme fagr=r’ st
Tt ufiamen e & foRm g o STt &7
(a) That the resources of the country were
beingutilised in the interest of Britain.
éwmﬁwwmq%%ﬁﬁﬁmm
T
(b) That a part of India’s national wealth or total
annual product was being exported to Britain
for which India got no material returns.
IA H TEE HUS B TH A HGAl oA aluen
3 T & fafa = fea s o s fo
A I FIE AA(H FfThel Fel e o
(c) That the British Industrialists were being given
an opportunity to invest in India under the
protection of the 1mper1al ower.
o § Gz s
I | ﬁ%ﬂ B W ﬁ?} S 9
(d) That the British goods were being imported to
the country making it poorer day by day.
aq ¥ U H AW fhar S o
i a1 fo wfofem siferepferes éar s S o)
3T —(b)

REIT— 9T & FA1g% Aar (Grand old man of India) &
IH G gg e 9 AST 4 wEwed 1901 § Yoy
A qEIh T TS sy w34 sfvsar # fafew
TR g fFT o1 @ 9RA & NfF 0T HT 3T B
g g ‘a9 & vErR A (Drain Theory of Wealth)
F forega =aRe # AR T e e § g fases
fapren f& Sl TR g 9Rd #F U THEE # U
AT T 9 H pol T IR T fafd w fm smar
%mmﬁwﬁﬁéwﬁaﬁqﬁtﬁamm#@
2| TTeT @ 6 9N % TS % 9™ ¥ =fEd e 9
ST T 1906 H HEY AT F ®Y H gAgOH W
AT 33 i1 1892 H @y Wi AN I SENAE & &
3R ¥ fafesr 992 =Y % FMY & fau g1 T 3=
1886 # ‘¥ 3fUgar THIRGUY S TIST I T H
(B - eIk WA T FfereTd - TR T ATTITA)
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27. What is the correct chronological sequence of

the following stages in the political life of
Mahatma Gandhi?

TETeT T Tifaes g @t fafataa
AT T HICTHT T &2

1. Champaran/=qRA

2. Ahmedabad Mill Strike/3@HerEE e gsarad

3. Kheda/@gt

4. Non-cooperation Movement./3T9gaIT ST=Iel

Choose the answer from the codes given below:

frer fau gU Fet ¥ ST & wEH
%< :

(@2, 4, 3, 1 b)1,2,34
©4,3,2,1 3,4, 2,1
37T —(b)

- M S, 1915 # T oThe § Ay
WA ST 1915 # & IBH TRA & SEHEER e #
TETH 3TEH B WO S G 1917 H TSFAK &
T o SRR % =g et § Sl A A % 5w

g BT T SR T SR #SA A g A
e St T AN @ gedld AW TATRE & ST
Wﬁmmwﬁswzzw 1918 F WeT (T5HM)
§ e afy T ® deR & W% Jg Rear e
3TN <o S 37afr 1920-22

28. Mahatma Gandhi was referred to as the

‘Father of the nation’ first by:
TgTenT el st welgey ‘gfuar’ feea wer en?
(a) Jawaharlal Nehru/SametaTel Se&

(b) Vallabhbhai Patel/aeas+r g2

(c) C. Rajagopalachari/@. TS

(d) Subhash Chandra Bose/g¥T o= a4

ST —(d)

E—-1943 € # MR § gum ux a9 q ereerh
TEHR & WO qd wereE mer A wdyem qgfa
FEd gU A9 IIRfiare Wi o11 (B - MR WRA 1
Zfoerd - Hiew we TTTer)

TR T T
Hiferer HEMT/3TUATE o1/ AFa JIeT

29.

Which among the following pairs of places had
most marked difference in total rainfall per
annum even though located approximately
along the same latitude?

{ % S g fer € S qEn g i |
t fod 99 TR ana uw € seiw W
srafera € fRt oft st anfiies @t &t &et wmn
T A T T &2
(a) Bangalore and Madras/sTTeiR 3 A5
(b) Bombay and Visakhapatnam

EEEAC

(¢) Ajmer and Shillong/3TsTHR 3T et
(d) Nagpur and Calcutta/AITgX 3N T
I —(¢)

TSI T 3 I a9 TcAd bl Joremy
R o T & ST @ W a1 ST a9

ﬁmwi@sﬁzzgaﬂfrmﬁ@ww%m

Tt ¥ B g TR 7, e @1 T HUL AT 26° FRAT
# fom 31t & iy W eEfem B gu ot oTTET ae
fRreti =1 e ot &1 71 & waifes o = &1 SRR
qied R T F 91 FAaq a9t Gt 8, S et
Hfgd Trqul Bere U5 Teifsdl § R g 6 HROT <97
Haffees feq ot aren TS 81 qed ¢ 6 R | waifes
ot aTel A TE HAY: AT q9r st Jererd § &
fer 21 (B - 9RE &1 e - wgedfs amfaE)

30.

In Mlzoram, the settlement pattern is mostly of
‘linear type’ along the ridges, because

TE HEU GEAA: wedhl o WII-Tg
‘Yger-gferey’ = ¥, FAH -
(a) The valleys are cooler than the ridges
At e 1 e 3 &
(b) Accessibility is easier on the ridge tops
T foradl W wga W §
(c) The ridges are cooler than the valleys
Feeh T P AT 3T §
(d) The valleys are densely forested
aifedl § g o9 §
I —(a)
=E—9Rd § gaf o e § o=t 980 ger w9
T Fehl & wg-gy e ey & 2 s B=E &
wfeal =gt % e 1 STueT s I B
(BT - 9RA T T - i AHiRa)
31. According to the ancient Indian geographical
concept, ‘Bharatvarsha was a _ggart of:

ﬁwaﬁwaﬁr@zm?

(a) Pushkaradweepa/J&=ht 19

(b) Jambudweepa/Salq

(¢ Kraunchadweepa/ﬁ?l?ﬁq

(d) Kushdweepa/H3TErd

ST —(b)
-3 § e § o s § 9% % el gu
T 3uMerT 1 fafae At @ S S @) stg et §
ARA B S A FET T B Sl W g gF el e
¥ weH Wddw H W o911 Seoeg @ B gk 4
TR & o ‘Tfvear v &1 yA e @ Selh syl
TS T AT W GH AR ey T g
(B - 9RA T P - gt qrHam)

32.

Consider the map given below

e fo2r gu Amfes W e @i

The mean annual rainfall in the shaded parts of
India varies from

WA o Y@ifeha W § aTfier oot ot ATed feha=t
¥ fra e gear-aedr §7
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(a) 100 to 150 cm/100 ¥ 150 T, T
(b) 150 to 200 cm/150 & 200 THY. T
(c) 200 to 250 cm/200 & 250 THI. T
(d) 250 to 300 cm/250 | 300 . dh
37X —(a)

- 9 # U 70 9rd % 3ii9q aifties e gt
P TG T TE WE & W 2 F swHe aetm § i
T 100-200 T, e auf W& HT 81 oF: feedn
foshed (a) TE 3T MM

33. Consider the Climograph given below:
fror feu gu ey Srady WA i

—_—

40 b
% 3w
0} W it
A
10
LE

rzﬁ*

Wﬁ% E|le 40 o sn""uu]
The above climograph relates to

SUh SeraTy ferm &1 &y O €7
(a) Northwestern region of India

T T IT-G(TeT &

Southern region of India

AR T IFRIUT &

(¢) Mid-central region of India

AR 1 HEH-Hes1T &

Northeastern region of India

A H SR-G &

I —(d)

(b)

(d)

AT ¥ # U T Far] a0y & IRG 6 eI
Y wy g 2 75 o oM@ o % e WA § 9K &
Tad-udl &6 STy S =¥ fhar T 21 5 & |
I, W T I ¥ qeh Jorarg, A adr v §
g o T, fyAeR, sdesR 9 TeEr ¥ Wi e W
S a9 feweR, SHal @ wad § qeur Sy (3
3e) T S g1 g @ fF Sy e e S aw
o A A R S 81 Ra & Stearg Fen
Hiesidi g Sterary 21

34. A rainy day, as defined by the Indian

Meteorological department, is a day when the
rainfall at a point received is:

i TRATET % AR
Fut @1 fo % 2rar @ 5 forelt fordier v we W
T Y T 39 Yk Biell §—

(@ 0.5 mm to I mm in 24 hours

24 52 # 0.5 iyt 91l q=

1.1 mm to 1.5 mm in 24 hours

2482 # 1.1 iyl 9 1.5 a0

(¢) 1.6 mm to 2 mm in 24 hours

24 92 H 1.6 . ¥ 2 Al T
Above 2.5 mm in 24 hours
24 92 H 2.5 il ¥ IW

I —(d)
Ay 5l e @ ereuwfer (FU-dfe A
TreTfeeh) T 31 WRATF G faee fam
g ffTem &t T 3fE 24 5 At S =AAw A 25
frfl. § $w & auf 8, @ & ol aren & wer s 2
Y &9 auf B Hiew faunr # ok & sitd aut &
AT S| ST @ % 9Rd § A gEe dar o 1875
7 0 A TR M, T 3HH qeAerd e a1 9w favd
I5 & 9% 3EH YEAed U (FRNY) @ T S
e § gHeE e 7% fieel § @1 % WRA & Hie
et AR 98 ¥ TR @ §
(B - A T T - AGHST ATHIRE)

35. Soils of Western Rajasthan have a high content

of:

ufgendt TereaT Wit fredt # et we siftes 32

(a) Aluminum/TeHifaw

(b) Calcium/afeyEm

(c) Nitrogen/ﬂﬁ@\_ﬂ

(d) Phosphorus/®EhRd

I —(b)
TET— U G faedt § gdfoeem &
U] UM T Td dauid SR e 81 3: 3
& & et § Sfcvrem @fas i sk 71 W S )

Wi, vfel GATEA Te SETT | SR

36. The Neyveli thermal power plant is fed by
Freft AT farge Weist T 9T feREd WA €2
(a) Gondwana coal/TgaT HiFer
(b) Tertiary coal/gaiae e
(c) Quarternary coal/ﬂ@% T
(d) Cambrian coal/HE= Higel
3T —(b)

T AT U7 aferg, | @ dier o

(b)

(d)

3

¥ ffad g (g gm) F R (SeimiEE) 9T %
Sl # forTge HiFen g S 81 gdEs Siaen gy
e dftrerrg § Jach # urar s 21 s fee s
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F TG WA H TS b FROT A W A9 e Hem
WO A T 2 eamed § 6 AW S 98 e Fier
T Tiea T Sl # o 9 2 ek s gaEes 4
=¥ 7 =t # forew 2

(BN~ T e - Tgefs qrfan)

37. At the present state of our knowledge and
resources position, India will remain self
sufficient for the next three decades in:

LI

gRfeafa @t @ gu ara frafafaa @ 9 fea o
e o R ST m?

(a) Tin/fl& ()

(b) Coking Coal/shishaRI et

(c) Copper/disT

(d) Petroleum/J2iferam

I —(b)

ST T o A -aqi=ehl ST TET el gam
f6 aRa ®Fd F GUER H el 21 R adAe
uRftafaedl & SER 9Rd &1 fag § HEen wvere #
s5af M 21 fheq 9Ra H U S ATt Ed # T
AfHTE AT AT S 81 39 asie § 9RA H andE
Tl IUTEA B HIFet H AW W A T g B

fova @1 e
FEUE Ta GRAvSH
38. Even though Pluto is usually the farthest
planet, its path is highly elliptical, crossing
inside the path of some other planet. As a result
for a period of twenty years from 1979, the
farthest planet is not Pluto but:
JAf AETTE: WEl 9ed g TE §, W SHeRT
gRymur vy aga € g €, S e o= me
& U T HIEAT g1 TRUTEG: 1979 ¥ T g 20
T8 @ Aty H el ad gy T € A &

T g §7

(a) Jupiter/gg&afd (b) Saturn/ITH

(©) Uranus/{@:m (d) Neptune/ﬁq?{_ﬁ
I —(d)

EEIT—A-Augd & Jid a9 Gl B2 78 ‘@Rl (I35 a1
FoR) F @ 1930 €. F FoRs TH T A A wEl @
aRymor aRuy defgefta qur Tawor (FUeE) @ oFem @
FeA 21 3 FROT B W @ o Tew gf ¥ 999
T ff & 29 €1 T 1979 ¥ 1999 7% ¥iq FA 20
¥ q6 TEU A AT g H e gf W oem Wy
w1999%¢ﬁrﬁw@g¢r gd ¥ g g fefy § &
T R 3 Rl B g § e g W el s
228 I T S W | Wl B UF IWE TN &1 qAA
%%ﬁ%Wﬂ%%&ﬁ%Wéﬂm e |

(B - fava o1 e - GI9T JEE)

39. When there is depletion of ozone in the

stratosphere, the wavelength of radiation
striking the earth’s surface will be:

T AT WA § ST ST UL BT & A
geeft & aae W guratda fafeRvor @y air et
fera=t greft §7

(a) 107 l"M (b) 10" M
(c) 10° M (d) 100 M
I —(b)

AT UV-C T § 100 — 280 mm &t & 3 &
aren a8 fafr S WA g waite gufad g 2
3 HUATT Heel H SIS 1 U g4 W ekt % eRe
W ufed fafeer & =graw &eed 100 nm Bl
< 1nm=1.0x10"m
. 100 nm = 100 x 10~
© 1nm=1.0x10"m
. 100 nm =100 x 10~
=10*x 107
=10"m
40. The solar eclipse achieves totality only in the
limited geographical regions because:
T (70) g-g § &
(a) The earth is not a smooth flat surface, but has
elevations and depressions
gedl & STRY URESR F g § g W ugH
ATl =% 1 BT H HK DT BAT &

The size of the shadow of the moon on the
earth is small compared to the cross section
of the earth

gt 1 Hag TuE AE § afcw IEH IR IR
T 2

The trajectories of the earth around the sun
and the moon around the earth are not perfect
circles

i & 9 SR gedt 7 qen geAt % IR R °9%
H1 $8T g quid: AR T 2

Sun rays can reach most of the peripheral
regions of the shadow of the moon due to a
atmospheric refractlon

& HRoT gd # el <ssrEn
& 3rfereBier TR & T TET Tl ©

ST —(a)
ATyt 3R I3 S e & HRoT 5 B g iR
g@%@amwwéaﬁqﬁwwg&ﬁm%"f
g &1 Ut feufy & gﬁmmﬁ%mmgﬁaﬁ
78 T < ol g a g9 i gdf Feur ed 21 gl %
Wqﬁﬁaﬁw g W U ATl T P B
F SHR Bl B 8, sHeC g gF 3w Faw it

5 & s S 8
(B - Tava &1 et - G vEE)

41.  'Which one of the following is NOT an astronomical
object?
Frferfiga # & i ot Eielte oeg 7 872
(a) Pulsar/9ceR (b) Brittle Star/97X T/T
(c) Black hole/F™T faaX  (d) Quasar/Faras
I —(b)

(b)

©

(d)
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SRET—T a1 (221 4N) @il a%g 78 81 Fared,
TeHt d9T FWT e (Black Holes) dHI @iiielid fyus g1
Fared T awEd e Al swsts €, S 4 ¥ 10 ea
yebreT A A g8 W fRm g1 3 a% 600 ¥ i Frad
I & IH &1 TeH TH W five g, S e % ®9
¥ foraftid sraae # el @l Seafoi e T 81 frme
AR &1 o1 ‘FOT U (Black Holes) % &9 § grr 21 340t
=% 2 P Wi AU IRAT S GIRvIH TSEET
F 1983 F WA H e [ERR S fFA T 411 HR
71 22 gU AR & e siakey § & g

(BT - fergar a1 aTiYeT - 9T YETE)

A HISH
42. Which of the following places have their

standard times, that are the same as GMT?
TRt W1k 9T GMT &

T 2

1. Accra/3%h 2. Dublin/Efseta

3. Madrid/afgs 4. Lisbon/foream
Choose the correct answer from the codes given

below:

o fou gu wel ® 9 9 ST o wE Hitwg
(@) 1, 2 and 3/1, 2 3 3

(b) 1, 3, and 4/1, 3, 3 4

(c) 1, 2 and 4/1, 2 3 4

(d) 2, 3 and 4/2, 3 3 4

I —(¢)

TS & TS9H ded § s Gl T8 Srearis
@ 0° 2R A FAfaE ST 2T (GM.T.) Fed 81
W F @ H SR TEH 15° R W G | 90T 9
ST @ e FefeE 3@ % uivEd 3R S W gdS 15°
W 1 90T THF 9D & ST @1 S A % defee 2 §
TEAE % 12 S B € a9 3T 3R s (3meetvs &
TeEEn # off gue IR H @ R @9 % SR q9el
H 12 & T &, W AES (T A TR o o
(qTe &t T # 00 SRR H uREH H 15° AR
W R 89 o SR T &% | Sod &1 39 TR e # Y
T el § FE ey tHan ¥ wE A8 81 f of
foheq (c) 1 & b T& ST AT ST Gehal &

(e - forgar a1 ol - GIOT WEE)

TR e

43. The production of cultured pearls is an important

cottage industry of:
HETR A T Seare fohd 9T T HEeduul HeER

I §7

(a) Belgium/sifesas

(b) West Indies/a=gElst
(c) New Zealand/=sieis

(d) Japan/STar=
IW - (d)

TIET— el Hidl SIS &t deheileh ol STAEHR SATAH
& forrmmar ifsret = fpam on) qevar SE § e wi
IR FET T AGEYUl HERX e & T

e T Ta Wt
44. Consider the map given below.

e fegr gu A W e i

2

The countries marked i, 2, 3, and 4 in the map

respectively represent: .
AT R 1,23 S 4 SR e -
(a)

Libya, Somalia, Nigeria & Namibia
e, dmferar, ArEsifian 3
(b) Egypt, Somalia, Congo and Namibia
FHT 3R AR

LER )
(c) Sudan, Ethiopia, Angola and Botswana
’ . .
(d) Algeria, Kenya, Ghana and Zambia
ST, T, =M 3R
3T —(a)

-9 § R W AR e WY & gl
qEfeE | 1,2, 3 T97 4 37 ¥ [Wifehd 9T 3T ARET
& SHAY: oAlfor, Sferar, eSiRar qur AwifeEr <
eI R W B ol @ qsrE fedeh, dmfern @
TS AMGY], AESURAT & TSN qdr AW &
foreems 21 (B - forvar @1 Qier - GRoT waTe)

45. Among the four house types shown below,
which one represents the house type of the

g%gmies? ) .
& W 9R weww @ ¥, 3 ¥ @E oW
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46.  When the Couple Protection Rate is going up:
el Ut 10T W H gleg & @ A A
(a) Birth rate must necessarily fall.
S I & weA
Birth rate will fall only if couples are of
younger age.
S adft g 5@ dudt w9 g & &
Death rate must necessarily fall.

preciiccre i Recail

Infant mortality rate must be falling.

1y g s & el
I —(b)

(b)

©
(d)

HATEAT— 59 Il W0 ) H i & W@ @ 5
ft =l S T w9 o o a

47. Which one of the following shows the

descending order of the four metropolitan cities
in the Indian subcontinent in so far as their

opulation strength is concerned?
%tri%—rl@?r T ¥ fem ¥ awedta Sumegide & =R

TR SHEET ot ¥ o T e o fodr 9 €72
(a) Bombay, Calcutta, Dhaka, New Delhi
/95, Shotehdl, @I, T4 faee
(b) Bombay, Calcutta, New Delhi, Karachi
S, e, A feel, FUE
(c) Bombay, Calcutta, Karachi, New Delhi
(d) Calcutta, Bombay, Dhaka, Karachi
ST —(b)

TS § T M0 9RAE TR & IR H

ST T ST A 36 FHR -

TEE > HoAhdl > A3 fSeell > HUHN| SHIAUAT (2011) &

Wm%wmwmwmﬁﬁmw
3 UEE-1,15414288 > T facel- 1,63,14838 >

aﬁam14112536>a»‘n%ﬁ12827927|

48. The New Population Bomb refers to:
‘T ST S @ A g
(a) An increase in the population of the aged in
the Third World.
dredt gfan 7 gai it SHEe | gfg
(b) Rapidly growing urban population in the
Third World.
At gfer § v @ 98 @ TR A SEEEn
Large scale distress migration in the Third
World.
frlt g § 92 Tu W Hebeora oo
(d) Deluge of Soviet emigrants.
Hiferer [ i aTe

©

3™ —(b)

SRS FaRE W § I3 @ At T e e
9 H1 A g F AW Y I S g1 AW g S e
¥ e Sl 7 G K GO AR & o g a9
frEe o &, 98 W 3 9 § 9O ReR ¥1 39 woawy
Eé&ﬁﬁmﬁawﬁﬁﬁagﬁggé o o 2w
TR & G & & ¥ 9 @ {1 W ;T e 9w f;

T & I B 1 (B - AT T AT - T 2007)

WA GITEnT Ue Teaaeln
WA T FHaetres o
49. Match List I with List II and select the correct
answer by using the codes given below the lists:

Tt 1 @ gEt 1§ gae siwe iR gt &
o fear 7= HeET 1 ITANT A g W I A

I it
List I/ 1 List II/G=h 11
(Features of the (Borrowed from)
Indian Constitution)
(YR & Gfererm o @eron (R 2w & i)
A. Fundamental Rights (1) U.K.

et HRrehT g

B. Parliamentary system (2) U.S.A.

of Government .
IEA I GHET YOSl HYTh TS STHRERT
Irelangl

C. Emergency provisions (3)
CILIGESEE LS )

D. Directive Principles
of State Policy
T Hifer o T9TeR T

©))

German Reich

wH= S

Canada
hATST

@

%< :

(a) A-2, B-4, C-5,D-1 (b) A-5, B-1,C-3, D-4

(c) A-2,B-1,C-4,D-3 (d) A-1, B-2, C-4,D-3

3T —(c)
TR SEuE § Hifer SR 9w T SRe
T e ¢ @ T # SEdE wonel gARes fhen
(5r37T) §1 39 3Tary S o s Hfag™ ¥ @ T
F A Frderes e TS % Gy  wefad 21

(B — 9 1 "@igen - . g 99)

50. Which of the following statements regarding
the Constituent Assembly are true?

¥ g7 d@faU 99 &
oo o =t 2

1. It was not based on adult franchise.
IE IO HATfereh UT efia &t off
2. It resulted from direct elections.
g weael Tate ot afomw ot
3. It was a multiparty body.
g Sgactd e ot
4. It worked through several committees.

IEA 3k |ttt o ATEAH | T feRaT

Select the correct answer from the codes given
Below:

ot feu gu et # W I N wEH HIWT ¢

%

(a) 1 and 2/1 3 2

(b) 2 and 3/2 3R 3

(c) 3 and 4/3 3i 4

1,2, 3and 4/1, 2, 3 3N 4

ST —(¢)
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-G 9 & T34 & fIu Tsai &l fqumgmet
F1 39T fatas gea & &9 | fhar T 91| oA g
T 3ty fated & oRom o 3k o fafes af@m
(T faurmsel &) T W 995F TSR JUel 5N
foram T em

ANTRRAT, T TRR, T e, TS

& ifafaeyes aa

51.

The Swaran Singh Committee considered the
question of:
wtufa 7 fw go7 w foem feran ag o1 -

(a) More autonomy to Punjab on the model of

Jammu & Kashmir.

SH-HYER & Ffed dSe S e @
(b) The suitability of the Presidential form of
government for India.
A & foIC qgfd gas T H STIH
The precedence of the Directive Principles
over Fundamental Rights.

©

T F g | R qw S S
(d) Administrative reforms./SREM® 4R
I —(¢)

FER 6 I8 HEAT M TG A GAEY fHar 731 o)
(BT — WA o1 "iee - & g a9)

W Td ST ki wrAUTART, A9

ERERS)
52.

The only instance when the President of India
exercised his power of veto related to:
9Ra o Tgufa 3 9t 9 awe ¥ erust dfier
St ITFYR oRT W= foRarT a8 o1-
(a) The Hindu Code Bill
fog BIS foret
(b)

The PEPSU Appropriation Bill
farferatr ﬁ%%sﬁ
(c)

(d)

The Indian Post Office (Amendments) Bill
EENGNICERCERED)
The Dowry Prohibition Bill
sfoue faeee
I —(¢)

HET— 3 T fosedl § 9T S (Fenyd fq8ee)

53. The Chief Minister of a State in India is NOT

eligible to vote in the Presidential election if:
Ed H TS @ =it W
o ot urs T g Afe—
(a) He himself is a candidate.
8 @ gemeh
(b) He is yet to prove his majority on the floor of
the Lower House of the State legislature.
3 T fque ded & fae Wed # S1oe agha
forg % 9w &

(c) He is a member of the Upper House of the
State legislature.
I T 99 Hed # I=9 §ad F1 98 &

(d) He is a caretaker Chief Minister.

I 9 FHAAS: ®Y § g T @

37— (¢)

T RAT WU % T 54 ¥ WE ¢ fF T

four He@ & =9 wed ofulq foum wReg & we=m &

o fratas qued § 981 21 3 f&ded (c) T8 I &

54. The abolition of the I.A.S. and the L.P.S. has
been recommended by the:

AT (1AS) 3R 9Reta gfera dan

(IPS) T AT T T FawTier feraa at ofi?

(a) Dhebar Commission/gaX 3T

(b) Kalekar Commission/&TcieRt 31T

(¢) Kher Commission/@X ST=mT

(d) Rajamannar Commission/{SHAR E Do)

I —(d)
HET—h5-T5d Hafdl R @R & 8 T S
F A 1969 H AHCHIG THR ERT fhal T &11 TR %
remer O Al qomER ddr & 92 O . T qur @
9. T, qRfeER 411971 § FHIRW 1o R § Tomean
HEN F W U Wl B AT ST g &
THERA & Y- FE GER N T § R R S
el AR TS T4 (1LAS.) T IR e ga
(LP.S.) &l THI& a5 &l fawiisr &1 o) ey @ %
FIHT BT AN &H1 ST 1953 3. § 9RAT gUNT &
Rz a1 # TEEE AU I R Haed 3 RHRY 3
fore fopam o on1 S S S WX STENT 1955 H qwufy
g R fopan e st SR o, R 1956 F ST
o gyufa & did o

farem= Aquse : Hhuiug
55. Which one of the following statements
regarding the office of the Speaker is correct?
wfiet & ug & fowar # frafafas waat & @
I | HE §?
(a) He holds office during the pleasure of the
President.
F€ TPU & TEIE T IE G e 8
(b) He need not be a member of the House at the
time of his election but has to become a

member of the House within six months from
the date of his election.

. . YIS Tl & 3 faa &
%Sl & o A B A B R A A S T T
fepa el ¥ fifR TeT F 92 & S TR
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(c) He loses his office if the House is dissolved
before the end of its normal tenure.

Ife g 1l ¥ q@ Wed & A e S
@ 3T U1 Ug BISAT @I

(d) If he intends to resign, the letter of his
resignation is to be addressed to the Deputy

Speaker.
I 98 @MY AT 9 3§ A AN

IUTEAET i el T @I

ST —(d)
TET— 39 I3 & Tl S & fou 38 9ot fosredl ®
U AR T B e () TEAA 3T &, i
dfge & ﬁaﬂ%mﬁ@qﬁaﬁﬁé{ﬁw
T gt fawes (b) ff W 8, Hif SR 93
SR ST h T 370 § T AT 7ey AT | SR
T e ( )ﬁ&ﬁ%&g@ﬁ%gﬁﬂaﬁﬁwm
%%#W%q@aﬁﬁm%@m%ﬁw
TS YT UZ W ST WA 3T g fahew o IrHe
ﬁaﬁq(d)%ﬁwﬁﬁ@a%(@)ﬁmaﬁ@%
a: faed (d) W& S R
(B - 9 o wiee= - | H. 5g)

56. Which one of the following is INCORRECT in
respect of Parliamentary Control over the
Budget?

F9E W HHE o fEEwr & faww # fretataa §

F o o e w2

(a) Parliament has no say in the preparation of the
budget.
Foe o fAEioT § HOg & FE g T ara

(b) Parliament has the power to increase
expenditure charged on the Consolidated Fund.

Toe Ay w g9qikd == @ ToF @
vifth o @

(c) Parliament has no power to impose a tax
without the President’s recommendation.

T2 & qpufd i fawier & o B8 X i
F N wh o T 2

(d) Parliament has no power to increase a tax
w1th0ut the President’s recommendation.

Tgg i qgufa &t fawier & e et a8 afg
F F ol o T 2
I —(a)

ST : a5i¢ T GHE & (50T [=feiiad JHR § & o-

o THE & TRd P W wwRd =@ & sed &
3tk e 2|

oW W R # FwRW F M WE W
STRIfE & & e 91a & 2

o g & TP & fgmRw ¥ fow fFH s A
g F@ 1 ol s & 2

e # wigd & T a6 TR FET HR TWHR

T TS HRI, 1 Gl et 81 He W feerh

faomfoer, =@ W faurEl fEaor 9@ o amel ®

FrRINfes g0 wed Hude foim e womelt 5 e

T T 21

3 3T A ¥ W g b fakew (a) # faan mn Fom

T forEer & g | e 21

g

57. Which one of the following statements is
correct?
frafafaa # & & a1 wew wd €2

(a) Neither the Finance Commission nor the
Planning Commission is a constitutional body.
@ fd emm & wifserte few @ sk oA
TS ST &

(b) The scope of the Finance Commission is
limited to a review of the revenue segment of
the budget while the Planning Commission
takes an overall review embracing both capital
and revenue requirements of the States.

o/ @M #1 &4 @ So F Tod T &
e 7% & diftd @ sEfe A s
gafrgel gFieer Far @ R & Ts9 # oS
3R TSR &l 37U Y ST &

(c) No one can be a member of both the Finance
Commission and the Planning Commission at
the same time.

FE e Th & T A W e SR A
ST ST B g T @ b

(d) There is no overlapping of work and
responsibility of the Finance Commission and
those of the Planning Commission.

ford ST 3R ASHT AW % HET AR it
#F e stfyenfa T8 7
3T —(d)

ST AT 3 IS &N & @ 3 et
I e et T8 21 o S g i H TsAl %
AT T 5 g T4 & (T & 9 arett fordia geraar
% fygra fwiRa & 8, Sef deMm @ 2w &
guferd anfdes 9 gmife foeE & faw I & famior
B 2| (BT - AR R Gleren - <. €. 79)

A ST (H9 Te TH)
58.

Which one of the following comes under the

jurisdiction of both the High Courts and the
Supreme Court?

q former ame Se9 =ETeE 3R
TN TS ST hl STTARTRET o 37T &7
(a) Disputes between the Centre and the States.

3R Tl & Frg F foae
Disputes between the States interest.

[ % TR faa=
(c) Protection of the Fundamental Rights.

T SRR T |
(d) Protectlon agalnst the violation of the Constitution

% Iooted § TRI0T

(b)

I —(¢)
30w fowedl § (a) d (b) N AHRAT 7
Ieaaq =aEeE § fafed @1 Safh fhed (o) qa SRt
& TV T SIUFR STET ISR 32 F Ted Hared =
F G 8, T DR 226 & ded T TSA I AR
& f 9T 21 o7 [T (¢) HE IW B
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59. Which one of the following is a feature common

to both the Indian Federation and the
American Federation?
F | HIA-9T T AR uiEe iR

feRT URES T GUH ®9 F UTIT AT€T &7
(a) A single citizenship./Ts & TR
(b) Three lists in the Constitution.

s & A grE
Dual judiciary./=Iaqieish sl e

A federal Supreme Court to interpret the
constitution.

dfgye & fawg & fw aRes s=aq =mes
I —(d)
HEAT— gy & fydea & fow & aRede s=am
AT A TG AT R dfgde § R
G @ wofed @1 g8 g7 SR SR s S A8 o
T T8 TG T AEET F AR H e 99 6w
g0 S fopam = ani

Tl T aell d Higemd |Imned,
SRkl

60. The Anti Defection Law was enacted as early as

1979 in:

T aftad= famieft faftr = ferm = & 1979 o &t

st s oo T ar?

(a) Kerala/&%

(b) Jammu and Kashmir/SF-sHR

(c) West Bengal/afS=m amat

(d) Tamil Nadu/ﬁ&lﬂ?@

I —(b)
AT §98 5 4t Tofta Me & werwst e §
s2at dfeu denem sifufem 1985 TR @k dfau |
39 gEfea 7% 106 SgE wid oE 39 9 d @
a7y fvT X e T W 39 T & 9N % W
FYHR TS ) faum a9 3 gdwem 99 1979 # I 98
ferdieft sferforem aiite e S8 @ & e o) e @
919 dfeum demem sfaf=Ew 2004 N €9 7 T T
ot et wawEr § g qon Shufvd & SR @
fraffod e & Fa 9ae @l & 15 W ds Hia
T 1 e fehar = 21

61.

©
(d)

Which one of the following is in the Concurrent
List in the Constitution of India?
frefafaa # @ ®F-91 98 9Ra & Giaena &t
woedf gt o &7
(a) Population control and family planning
G T 3 oRaR foeem
(b) Public health and sanitation
e T 3 Tl
(c¢) Capitation taxes/dfdeafth &
(d) Treasure trove/f@m 4
I —(a)
HATEAT— AT HfagH & TG 7 o ST FHed g
% 9 20 () § friE0r 9 oRe freiee aftid 81 38 42 o
e e 1976 g THa g # < T g1 A
T8 T Gl &1 v or o e (a) T 2

fererravfier wa faenfaa sreferawen

62.

Which one of the following sets of economists

strongly favoured market economy?

srefontrat & et ot A @ fea w3
TR STefeTae ot yae aaei ferar en?

(a) Adam Smith, Keynes, Hicks
ey oy, #=, fRew

Adam Smith, Marx, Strumlin

Adam Smith, Hayek, Friedman
Adam Smith, Ricardo, J.K. Galbraith
weq fary, ReEl, 3., sy

I —(d)

- e wen fy, ReEl o 3. &, Mosy
T TER F WY F STEHER FA g, TR refeawen
H ol g9 foa o

63.

(b)
©
(d)

Which arrangement of the following show the

correct sequence of demographic transition as
typically associated with economic

development?
ﬁwﬁ%ﬁﬁﬁaﬁwmﬁﬁmanfﬁmﬁm@
Hatta fafte Swifemesia d@wuor @ wd
3TRT oI A2
1. High birth rate with high death
Iool T X T Sed G R W
2. Low birth rate with low death
fasTwam R
3. High birth rate with low death
T TH W R A TG XY
Choose the answer from the codes given below:
XU g FEt ¥ I a1 =
%< :
@1, 2,3
©3,1,2
ST —(b)
AT e GhAv fagid @ e gy, .
IHHA T Th. T AR ) fhan T 39 g &
FER FOF ¥ H TGN e H FHE st §
TR TR TSl @1 SHEEN gfE HaMed §HE @
g TRt grr FrafRe g &1 Sifheb Hehor
firgia’ § S gfg A uiw e aqE TS § - Se
e SEE iy & SRR s B @ el 3w
S qUT Ied YR IR S @1 fadie st S
foremie & sraeen g @ fEd 3=9 SR A e gEw
U S @1 g St SEen i § g @ e 8,
fred forey SFoeR e et geget il St 21 we v
feR SAgen gfg & srawn 21 uEEl qur sifw stEen
RO SHE g o o gt 8, R sRre
TR T H & S 2| Heewy SHEE R HE
A A 21 T e § Wy g fF 9w & S fade
(b) SIS Hhaor #1 yaeenstt # TE w9 § yef¥|
T | (BT — WA refezewen - g9 G<tH)

) 1,3, 2
@32,1,3
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TR et s

64.

The Employment Guarantee Scheme, a rural
work programme, was first started in:

AT TTHOT VSR HIdshmA
TAYIT el TR TR wan?
(a) West Bengal/afeadt smmer
(b) Punjab/gsiel
(c) Kerala/&ta
(d) Maharashtra/AgRTY
I —(d)

I &7 & TE A ISR Ui HM U
RO Y& F el RIS (ISR) TROST FieT gefsrer
TRRY T $ TWHR g a9 1972-73 H 9 # | 78
TEel AT @ RgH FW U % SRR B S A &
TE| e B 5 HERIy # g@ A S ae W b WHR
N 2 HEY 2005 ¥ I F 27 T & 200 e #
FRfOT ISR MRS TS (M) ST 7 B

(B - AR sTeferaee - T Ga)

65. The growth rate of which one of the following
sectors has Very low employment elast1c1ty"
¥ TR aseh ot gl o T
Jeameerar ag?r w0 8?
(a) Manufacturing/faf-mfor
(b) Construction/fFmfor
(¢) Financial services/foxia Tard
(d) Mixed farming/fafsr @t
37— (a)
TEAT— HHFIR TTHTT & 3 ST TSR Feareerel
forer 8 -
2 EE] SR FeaATeerar
femfor - 060
fofg ¥a@ - 0.53
fifs@ @ - 040
fafemor 0.25
SUPED ﬁaﬁm LeRCREEICIE SR
66. The basic difference between imperative and

indicative planning is that:

RIS 31 ﬁ%w IS

3T o §?

(a) In the case of the imperative planning the
market mechanism is entirely replaced by a
command hierarchy, while in the case of
indicative planning, it is looked upon as a way
to improve the functioning of the market
system.

RS A1 H FRET WUE TIOR3 F ©&F
O @ ¥ o o 8, Sefh e e § 39
TSR T % FRFOT H GIRA F Had Th
e [T ST 2

(b) In the case of indicative planning there is no
need to nationalize any industry.

7 forddt off 3amm % Tt &

HIE SATTTIHA FEl BA |

HT SR

(c) In the case of imperative planning all
economic activities belong to public sector,
while in the other type they belong to the
private sector.

Qe H mefi e fraremad s
9% & &9 § B §, el MEuES Ao § 9
st &9 & =19 § 29 g

(d) It is easier to achieve targets in imperative type

of planning.
ﬁ%%mﬁwﬁa&ﬁa?rﬁﬁgwﬁm%
3T (a)
T S Ao § aeR @F f 7@ ¥ ffa
BT 8 M SEvaha e ST A qRad By ST gehd
g, s fademcrss deHr § SeEr i 9 AR Sumel &
fepeT-sheimdl 1 GURA 1 WE Th W€ A1 39 & el 8
(B — R TefeaawaT - g1 i)

67.

Which of the following are the main causes of
slow rate of growth of per capita income In
India?
frafeea & ¥ =9 ¥ 9&T &R ¥ 9Ra ¥
gfereafs 3 | gfeg i o &fidt 82
1. High capltal output ratio
= Jof-fotor e
2. High rate of growth of population
SHEET # ghs B HA N
3. High rate of capital formation
GSi AT ol Fheit &
4. High level of fiscal deficits
TSferita =18 &1 3 TR
Select the correct answer from the codes given
below:

T I @ oA o fou gu gt § Wit

<he

@) 1,2, 3 and 4/1, 2, 3 3N 4

(b) 2, 3 and 4/2, 3 3T 4

(c) 1 and 4/1 3 4

(d) 1 and 2/1 3R 2

I —(d)
AT XA H S9E & g 3o
aﬁqﬁrwﬁaﬁaﬂmﬁmﬁz%aﬁ
a9 % Il Sadl SMEEI 9 Sl @
SMHAT I T H Fh | 3R
IE, TEET B HAAN SR I
uftfeufodl & Sror oot ot fafrafem
T § Iqed e @ @ 9| gRomEEy g
UM A W FA @A 81 FT A Il 4§
=t 3 # gy Y o il @ 2
(BT - AR T - TAT GraH)

HiY, ST T EUR

68.

‘M}

412
b
cE.

By

p
ﬁ?
&’iw
411

&
e

In India the Public Sector is most dominant in :
aRA | lren S for gt o waifrss DT gom €2
(a) Steel production/s&Id 3cdEA

(b) Orgamsed term lending financial institutions

& fAu 3R I el "@ufed o
L
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(¢) Transport/dRag=
(d) Commercial banking/aTvTfdes s &t
37— (b)

HNET— G § fseieh GRT (Slih &) o1 Haideh
e gufed fordia deenstt @foisas & weshrl S qu
3 forfiar geemd) s/ fAfvaa oafy & fog suRr fRw o=
S am § 31 % frdm e B vET od 4 A ¥ R
oo o7afy &1 07 YeH HA 81 e IE H ol &

& anfrerd s it 2|
69. Which one of the following is the best strategy
for environment friendly sustainable
development in Indian agriculture?
g -3, dreeerEdt faema

* fou FPreafafiaa § @ @ o wrEfy gd9s 87

(a) Expansion of cultivable land, increased use of
superphosphate urea and effective blocldes
F g F R, R B, IRA AR gt
STl &1 3o 3TE

(b) Wider popularization of high yielding crop
varieties, better and more frequent irrigation
and increased frequency of aerial sprays of
inorganic fertilizers and pesticides.
Afeep TeER Al fFel @ e dwhE
FE ST, dER SR sifYe R fGEE qun ene
I 3R FeANRE B TR-9R PR Fewa

(c) Mixed cropping, organic manures, nitrogen
fixing plants and pest resistant crop varieties.
fy T@m, FEf® e, TR F qY
ol afie Sy W Fre

(d) Improved farm implements and machinery, use
of potent insecticides to minimize post harvest
grain losses and mono culture cropping
practices.

IAd H STHWOT AR T, T BEA b Al B
ef A FIA B GUH BN B FAT
3N wwyreRE i

I— (¢)

HTET— U T=2H, FEfs @ 9 die gt st &
TN 9T H PN & e ga gatawer, Y werl e &
foe weise fafy 2

(B - AR STefeaawan - g Gain)

70. Which one of the following modes of privatisation

is the most comprehenswe and co ‘%lete"
&t frfafaa o

warfefrur s wftguf 32
(a) Introduction of plri_iq\%ate capital in public sector.
EA)
(b) Contracting out management
enterprlses to the private sector.
% waY 1 Hee W T & F g S
(c) Transferring ownership and management to
the workers.
FI W@ S Foe B G
(d) Transferring ownership and management to
the private sector.
forsft & 1 Tfr S Yaler T g
3T-(d)

of public

STl AfFat aur el st agel # san &
@It T TEEA T g AT ST & s
Hify 1 gaifees Taffior wa oRgel sfear 81 fefieor &
ify gofiardt g SIoR Steforaen &1 oI €1 ol Sl
ﬁqﬁaﬁmmmﬁﬂmmﬁmw@w%w
HiEe o I B |

/AR Td o Wuefl, e T
Torear wva=r

71. When partial convertibility obtains the
exchange rate is:
EE @y giet € o fafme
et 3-

(a) A weighted average/9Rd e
(b) A simple average/dTH= 3figa
(¢) Fully floating/quid: e

(d) Fully administered/gofa: sremfea
3T —(a)

e R 91 g oTe qsm § o AW A qEred
¥ WY WER @-a & e o7ifvres fafmemr amp &t s
2 @ 39 3w A fAfmg ® o4ifve ®9 § WER gRT A
i &7 T R A wREA g qF oS g1 e
oot fafe @ wiRa sited @ @1 g @ Bt w
F quf oRad-iaa &1 e T e ¥ 7 s sida
fehell o1 1 51 o &9 9 @ el gued § qen v
foeft gTd g w9 § T g § gRadqeie @ 8|

72.

A zero rate of Inflation obtains necessarily in a
year where the annual rate of inflation:
& I 3T a8 W 3ravH il At €,
-
(a) in every week of the year is zero.
T # gerehfy o aiffs R I ®
(b) is falhng in everg week of the year
A I Tl ST
(c) is both falling and rising in a year.
¥ F afish o TS off IR g off
(d) is constant in every week of the year.
T # qeref s s w R ©
3T —(a)
HTEAT— A q51 T H GGl H A qare-at-
garE At S 21 ST Y & # At & A 35 39

a % Yol g # S i S & Y e e 7
T ffy § 98 9 @ fer @@ @ & 7 ed-agd 2

73.

Which one of the following pairs is correctly

matched?
o | %= v gw wét gafea &2
(a) Rationing Fiscal control
RNIED) [GREL
(b) Cash Reserve Ratio : Selective Credit Control
THE ARV A TS IHR
(c) Licensing : Comprehensive
Control
EERILE) e E0
(d) Import Quota . Physical control
EiRict 7
- (d)
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STET— I T & Aead ¥ TWHR 51 frdr fAfgea
A FHITET | N # ST o A e
& ot 71 e wer § fifved wEr § iy s @
ﬁm;m|mzmﬁa%ﬁﬁaﬁﬁﬁwaﬂm
3T 21

74. Euro dollars are:/J% ST &1 &7

() A currency issued by European Monetary
Union. HETEE g0 S T oI
Special  currency issued by federal
government of U.S.A. to be used only in
Europe./8% U7 3fie & IR€dd TR
R S U e qE1 fee wem fad 0w §
B &
U.S. dollars circulating In Europe.
9 # gRenferd sRE (U.S.)Sfer
European currencies exchanged for the U.S.
dollar in U.S.
T TS IERE § sTfE (USSR

IT—(a)

HE— 0 TR 1958 H wfiq d €9 & 12 TP
g feger 1991 § & W Wiy d@fy @ & enfiw

TR 3 T F T THA TR 2
(BT — AR HLTATEAT - T GEW)

75. Variable reserve rates and Open Market
Operations are instruments of:
TR IR STJUTE HRX Gl qR HRATE [heh
e 87
(a) Fiscal Policy/Tsiferit ife
(b) Monetary Policy/qgT ifd
(c) Budgetary Policy/ssie Hifd
(d) Trade Policy/amMdR Hfad
I— (b)

A T IR0 S F T Gl & e T 2
TUH -G ISR | # Am w R S W
T fHar S 21 RS o9 3R gen aeR HEaE 6
T TR [ @ Tl & wWem ¥ qm A
A Al w0 F fog e fFar s g1 =9
fspen &1 g7 frams R9d d6 @ S 39 e e 2
HA: uE g AT H & H R s TefadE A
H & T RE oo Hify 8 o =R Hify e =
ded # feeh =R § & g 2

R oAl Tyl SIUR Ud 31TfeTeh 4T,
IR AN

76.

(b)

©
(d)

The earnings of India from diamond export is

quite high. Which one of the following factors
has contributed to it?

W & fala @ ura = Fwwr R I T

ot ¥ zEd frfafes 4 @ fRw wwe @

RCERY

(a) Pre independence stockpiling of diamonds in
the country which are now exported.

LRl C I IR N IR B E K
a7 oy e o @1 @

(b) Large production of industrial diamonds in
the country.
I F sfEfes X 1 TR S

(c) Expertise available for cutting and polishing
of imported diamonds which are then
exported.
fererst @ Syafsy, S swafad € & P 3
qifersT ed €, difeh &g # S frat & ge

(d) As in the past, India produces huge quantity
of gem diamonds which are exported.

29§ Ige A @ 9 W I 2 S fawner "qEn
§ 3ared @, fome fafa fear s 2
IT—(c)

- 9YRd goq: a0el g gR & & fafd s 2
foomsi o Fua HOR A wed ¥ omfd @R
TEGH § TVER ITH FE 3R AfeTer b 39 TgHA
1 foa e
77. Most Favoured Nations (MFN) clause under
GATT implies
ME AR =R Feefi AR W (GATT) &
efi walfeh gUE Wi WY (MFN) @€ o
Torarfera € -
(a) Most favour to some countries.
TS M & T st e
Most favour to all countries.
Teft <l & wfa T SR
No favour to any country.
ferelt <1 o wf @S ST T
No favour to some countries.
TS I F 9 FE TR T
I —(b)
HET— 2% 3N IR gl U F R (GATT) &
a1ef el ST 9IS TF (MFN) &1 aegd 2 7 wee
v 5 W Te 3w H S RS gy ik R
o § A wh R Td g o e aE A
forT o SUed HTA BN | 3H THR GlaEd W F A
oft Te TP I TS TR ASH TE (MFN) 3 S0
T @ T (H - T - g Gaw)

78.

(b)
©

(d)

Consider the charts given below:

et fau gu =el W i

Fﬂi" :ﬂh' mﬁlf} .

L T mam

w%mﬁuqqmﬁ:m:ﬁ i

“n T A

Wﬁmqu:imﬁrafﬂ'ﬁ
i = 3
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FEmATLT A rara R

Ex il
AwEM T AN AfE
= n

Tumanwy AR A

The given charts depict the price variation in a
stock market during a year. Movement of
industry wise average price is plotted for the
sectors of iron and steel and petro products.
Price movements of four companies A and B
(iron and steel), C and D (petro products) are
also plotted. From the curves, a significant
feature that can be deducted is:
U o e Wik AR § 96 W7 §T Ted qRadi
gy 1 e iR T aun UeY SAE
IR F STER HrEa goar w1 werwr faba
feram T 31 O ShufeEt A, B (@@ 3R @)
qAqT C, D (VST STE) o Tod Terur aht oft Farfra
foren e %1 O @Rt w8 W fafie weror
AT TR 51 WehelT §, TEE -
(@) Compa %/ C made large profit around June.
S & G-I T AT HHRT

(b) All share prices will increase steadily in the

next year.

atTet ad # et IRR-ed gedr ¥ agh

(c) Company B seems to be performing better than

the market average.
HTH B N g Afs s HM Hl
fead @

(d) Petro products are performing better than iron
and steel.
AT SR TE F AT § Ul IR HT e
37BN 2|
I —(c)
AT | R MU 9 § wd a9 § U a § S
A, B, & Wig-3W@ a4 T CD, & U2l S § T
el i o Tl & st § A P st e o
Tl 8 5 ofie 350 A N B 3Gd ¥ 31 st i R
@ 2, Fiih B B 1 qed TR A o W 3 B
AC T D &1 31T gfg FI TR & 2

79.

Which one of the following types of borrowings

from the IMF has the softest servicing conditions?
) & RUEH & i

T F fergent Jar o1d rfreran 3maT §7

(a) Second tranche loan/f§d& i@ (TRANCHE) 01
(b) SAF

(c) ESAF

(d) Oil Facility/det gferer

3T —(¢)

T AT 6 (IMF) i S0 seAge qee
& faofargear 27 e 1945 & g8 ff fobeg 389 arafas
w1 H | A, 1947 ¥ P& HE IR fEAm i
ST F TG IG2VT G A ok A e
feafy &t 3w qon fafma =0 & fora 9 W@ g
m@wwwmmm%m@wm
¥ HEH H ESAF (3R WFRA USILHS
Hiferdt) &t Yar v T SAEH B
(B — R tefeaawan - g1 i)

wiferer ferzm

80. Which one of the diagrams given below

represent most closely the path of geostationary
satellite in space? .

feu gu oM@l # ¥ ®A-91 MW Jiaier §
FeAAhTIoTeh SUUE o UL a1 Aehad &l feaur
YT &7

3T (d)
AT - STRT i e gedt = 3 fq &
UE B 81 T IO T IWE Th W R BR i I
?1 I sweeR uRuy § N F g€ ITE I IR
HA 81 3T FHT qeAdlcd STE F A o ge
Tfer & THA B ok BT FUSHR GRAT F grii| 37
2 % fed (¢) # seqa SR s &
[ s T & g aRuy @i frelid T 81 6 @
FHM ITME F g § AT 36000 fFA. A
rare  wenfua foa ST 2|
Hd - &= - N.C.ER.T.)

81.

11512

”ﬁ%

~

Consider the figures of a metal ball and a metal

ring given below: .
Meteh 3R arg aer™ & fosl W

The metal ball can just pass through the hole of a
metal ring formed out of a strip. When the ball is
heated it gets stuck. But when the metal ring is
heated.
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Tt ¥ I RIGEEER ER ) SJ'I'g’-TﬁFIH-T T4eeT | 84. The formation of brilliant colours in soap film
W Fehal §1 Al TMeTeh I WA L 98 3Meh is a consequence of the phenomenon of:
AT §1 TG A T AT WA B Ar — HEA & Uqel SN B OHheR TNl a1 foRe
(a) The ball can still pass through it because the TftereT st afume §7?
ring diameter expands on heating. (a) Multiple reflection and interference
et fsel gehm ife A9 § YHR % SRoT I R
JoTd bl A dg@ ST (b) Multiple refraction and dispersion
(b) The ball gets stuck because the diameter of the I 3R IR
hole decreases one a;%ﬁ';smn. (c) Diffraction and dispersion
TR & N0 feg @
am:r ‘EI?.' GlTQTIT (d) Polarization and interference
(c) The ball will still pass through because the gaur I fHToT
hole diameter does not change. 3L —(a)
%@mﬁmmmﬂﬁa%ﬁww i TG & Uqct d H FHeaR wﬁ@‘s‘m
(d) The ball will pass through because there is no T % S N S % AT H T
chan P & TARWT &1 R F G WA % a4 el el s uae
ge in the ring.
T FifE O § A oRads ad || T 4 G F T b T § H % AT & BT
m Y191 T Gt F e qgA o 21
I —(a) (& - f&= - N.C.E.R.T.)
T — Rl o1 F TR B W g el ¢ qdn qo A fas=
Y IUH TOR A TN IR WE g B eg e Hr || o )
T W I 9 oA & gre-gy Gl o § off 85. Which one of the ff)llowm'g is used for dating
I3 SR A T s e R SR ;1;2};2$ologlcal specimens in wood, bones and
(& - f&F= - N.CER.T.) w18, A ol viE & guAe S
82. The working of the quartz crystal in the watch fraftor &= & fag fafafiaa & F @E 9@
is based on the: JAYATAT AT &7

o whieeh Tonteet o1 el ferE uX e 82
(a) Photoelectric Effect/Sehr3T forgd e
(b) Johnson Effect/Si=a= J91E
(c) Piezoelectric Effect/a feegd wra
(d) Edison Effect/tTfeqa s41a
I —(¢)

-t # THew fhed & F@ @ foga 7T |
AYRT 2, F© wael ¥ it o & R fagd g
1 & Al 2, PR g foregd yoe et S 2
(& - f@= - N.C.E.R.T.)

83. At what temperature are the readings of a
Centigrade and Fahrenheit thermometer the
same?
forar U @9 W ugmie AfcweE iR
TRRAEIEE ATTHTU W Teh & 2ir?

(@) —40 (b) 212 (c) 40 (d) 100
I —(a)

STEAT— — 40°C Y9 W e de BRAgES aroaiya)
% UGS UH w9 e &1 Afewerw 9ae # e fee
fog @ ¥ I=0 fra g 100 @ & Sfawel & 100
FTA A H afe AUsEHH AT S R, Seih BRASEES
ﬁnﬁﬁﬁwﬁ‘qﬁﬁi—n%wﬁﬁmﬁﬁgzlzo
A 396 o9 & A Bl 180 TG AT T wicehT
a9 [ fear S @1 dfewew § R o qgeE @
BRTEREe H seed % fau frefafad dam s s e

m%—ﬁm(@:m(mfszx%
(B - o -

N.C.E.R.T.)

(a) Uranium 238/ZRf1aH-238

(b) Argon isotope/3IH-3TEHET

(c) Carbon 14/FTE-14

(d) Strontium 90/ RTEH-90

I —(¢)
HEA—FTS, A, @ T T Ul SHareH &
Fa fglor @1 y=EET &1 9w @I 'g dSA ufeRd
Qe FTEA-14 (C-14) &1 & far smar 21 gedt qen
U TS S F A @ 8q I -238 (U-238)
feafaca queeafaes &1 q9r Hiaee -60 (Co-60) T AT
FH & ITAR F fpAr ST 21
(& - f @™ - N.C.E.R.T.)

86.

Acid precipitation is now regarded as a serious
problem in some European and Asian
countries. Its major cause or source is:

IS A F T T H ITA-
SrEaT Y fawe mmrr m=n STt %l T &
HRT T ENT T—

(a) Discharge of acidic effluents onto neutral or
slightly alkaline land where the acidic
components prec1p1tate

STef F ROV BT
foetaufa stear m%m gl gt | A A
3T afg: T &1 fagsi|

Emissions of sulphur oxides and nitrogen
oxides from thermal power plants and burning
of fossil fuels; these oxides dissolve in
atmospheric water vapour and fall back on
earth as acid rain.

(b)
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el wifth S e Sfaren fed o6 e 9

o T Sl 3R AN Sl &

IS, ¥ NS agHedd 9o ard H faele

g 9 ¢ 3R e F w9 H Ay g W

T I T

Natural carbon dioxide released during

respiration of living organisms dissolves in

water, forming carbonic acid which is the
chief contributor to acidity in rain water.

i % vawd ¥ Tl Tgfe Fed-sE-
damEe I # el e FEME o
2 3R = aisrer § St H1 S9@ A B |
(d) Chlorofluorocarbons readily react with

various chemicals near the earth’s surface,
producing acidic intermediates which cause
acid precipitation.

e que & faee fafay @Al &
T TES ¥ R e erla wersl @i
ST BT § S ST AR FI & |

I —(b)

©

(a) Phosphorus/HEhE
(b) Germanium/sHf=m
(¢) Silicon/f&fet™

(d) Tungsten/ZTEH
I —(0)

ST TR 0 G & Fafd & 39 SRo7 Sfaafe
e T @ it e Maed ar ‘fere Tme d &
g il & fmior # fohan wien @1 fafers, i
afz uqe R offed 3§ A e At & B 3
A TR % I T TEE S 2

(¥ - T - N.C.E.R.T.)

e, 914 Y e 39T qor 3w e
H 37T STIRYUT 37Afq 3T I (Acid Rain) T S Th
forhe Toe S ST W 81 S 9 % @ HRS A1 @
3T Wifed WA e Sfared g9 (e, 99, ueid)
e & o fAeherd aTell Tl S8 3Te1ES (So,) 4T
TESISH STFAES] & Icdsd g1 Tewl U1 AIZee &
TS AAVEA i Ml § R ek awt & uE &
T St 3T Al % &9 § gef W e S €1 vt anl
¥ 9 S, aaedfod, 9, ARG, & weRa 99 qa
T 2d €1 (8 - foe - N.C.E.R.T.)

87. Which one of the following colloidal systems is

represented by fog?

B e R
rfirearh graT &2

(a) Liquid in gas/ﬁg LRl

(b) Gas in liquid/sa i

(c) Solid in gas/ﬁﬂ q 2

(d) Liquid in liquid/53 & 5a

I —(a)

89.

ot fou gu St sheHl W fee sty foras o

T & HAT (A) I’R fyefar & @R (R) wa

= % :

Assertions (A): A mixture of salt and ice gives

temperature below 0°C.

HAT (A) : T0F N ah & fgor F o°Cc ¥ A= Hw
AU ST e 2

Reason (R): The salt raises the freezing point of ice.

AT (R) : 95 9% & SHE {5 B el T

In the context of the above two statements,

which one of the following is correct?

FW & AT HUAT & oo # frafafad § ¥ i

oT w77

(a) Both A and R are true and R is the correct

explanation of A.

A 3R B W1 € A A GE S R AT &

Both A and R are true but R is NOT the

correct explanation of A.A AR T8 WA

# & RS R T B

(c) Ais true but R is false/A W@ 2 WR T 8

(d) A is false but R is true/A Teid @ W R T&l &

3T —(¢)

(b)

T Fe H Ferard & G974 @ 5ot fagett & &9
BT 8, S SR Y qEAd HI G HT 81 S e
% e @I a1g &1 AEN g q% Ugd Sl @ ol
T IV & I R, T SUH IUMRA Serard B G
AAUSAT -0 gee b ORI % @ W 21 A
G STl 1 S8 gobl @4 % RV gl H & e @l
3l g & W TYEERE 2 @ g

(B - f@= - N.C.E.R.T.)

AREIT—T1% (Tifead - NaCl FAREE qdr a% (I &
39 ®Y) H Wy W W T g o < & 99w
ATAH ST & S 81 T8 HA (A) G ? W FAT (R)
TH I & THE fag F 9g I 2 T g1 Hifh T
& fasror § S/et 1 FereAiE Sedl ¢ fRuis T

88. The Government of India has totally banned

the export of ‘Burnt Coal’ (Jhama), because it
contains recoverable amount of a metal/element
used in transistors. Which one is the element?
WA TR 3 ‘|’ & foata oX gut wiesier o
feom & wmiifer @@ @ Ut ong, /A o feRme
Hehd ¢ fEenr Sugm il o er € g
frrafeafiaa & @ SE-91 7 87

90.

Vinegar is an aqueous solution of:
Tavert fermant STefter faerarm €2

(a) oxalic acid/3Tade 3T

(b) citric acid/HTe T 37

(c) acetic acid/TEIeSH 31

(d) hydrochloric acid/gggIale 37
I —(c)

HET— TS &9 § e T JHR & THifes 3
3T 21 7@ (Ree) wdife® tfe (CH; COOH) & e
forere g 21 e wdifes o7l % &9 § @H % & §
3Tl 21

(& - f@= - N.C.E.R.T.)
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ue fafera faam (3= faam)

91. The theory of ‘jumping genes’ was propounded
b
%ﬁmm st=’ (ST Sfe) o fagr= @1 wfaaes
ferg feram ar?
(a) Gregor Johann Mendel/FMR S A
(b) Thomas Hunt Morgan/2/ag g @i
(c) Barbara McClintock/aRa1 Afeeieieh
(d) Watson and Crick/aieH 3N foreh
3 —(¢)

ERE-3 DN.A. 3 S WFERUE gd § 3
TAfSHE 37T STET] DNA & faftrs el W M 7807
gHd § ST S W wEne S st e
FEad §1SET S % fasid & wfawed awew
AfFeicis 7 woh § A WIs & < o on1 SfE S
F T A TH BRI W I I A fFAAICRSH &
A 1 S F QT 21 (B - IR - N.C.E.R.T.)

92. Camel uses its hump for:
WWWW@%H%HW%WW%?
(a) Storing water/STl % TIE & T
(b) Storing fat/adr % TIE & oI
(c) Balancing the body during walking in desert
sand/FEY(H a1 H FAd THA IR N HJeH
T T & fore

(d) Temperature regglatlon
AHE %

I —(b)

m—‘ﬁmmm’maﬁw%w

fedl d% 9o (IR e7fe) 7 fiem W, S ww
B @ 21 Fe @ fF e s vk A & A & faw
ol @ o GG AT @1 59 YRR 3¢ T UHN SR @
S IR H a9 ud g G R dd & SR HE el ae
foFT AS-a % @ el B
(& - fo™= - N.C.E.R.T.)

93. Poison glands of snakes are homologous to:
T = ST et e £
(a) Electrlc organs of fishes
& forga st
(b) Stings of rays
T-wsfordi & g
(c) Sebaceous glands of mammals
[ 1 Far-aitEr
(d) Salivary glands of vertebrates
FIEH! T AR

ST —(d)

aET— qut & it sees gt & ar et
(Salivary Glands) & THIT 81t &1 9fq &1 a9 awag &
S0 AR 1 & uRepd &9 2

94. Which one of the following seeds can benefit a
patient of diabetes mellitus by normalizing his

blood sugar level?

frrafefaa & & forges dtw ayde & Wit =

ITEAT ST TR |HTT 919 W@ | 1 Ugend 87

(a) Coriander seeds/gfd & s

(b) Mustard seeds/STEl & el

(¢) Cumin seeds/SiR & i<t

(d) Fenugreek seeds/Bdi & et

I —(d)
-G8 A1 SEfRS AWE UM AT ok K| A
ggfe THE FRAM & TqEET ¥ YRR #H WHU &
S 7 gl W A fier ST % SR AT 81 qEHE
Tft S o9 YRR H T IR S T B 9 TR W
T W & ford el & A q°1 A & W TS Foofl H
AT S9erEeh Bl 8 | (B - & - N.C.E.R.T.)

9s.

Hemophilia is a hereditary disease carried by :
HOTwIeTaT Teh afyTeR W € Rre ot o ¢
(a) Females and expressed by females

et et § 3 yse off faai § @ R

(b) Females and expressed by males
ferat et € 3R S yehe oSt & g 2
(c) Males and ex ressed by females
&Y B St e i § i @
(d) Males and expressed by males
TEY L § 3R Febe Test # g 2
I —(b)
STEAT—EHIBITAT q91 SUTedl (Colour blindness) a1
GUSCELEED s 7 & R qema: gew yead
B & W & AT A e (ot g €1 ddbiferan I §
T FAfH W G F AFH A A e HRUT RN &
fpt 3fT % ®ed W TA H TN I TG I N ¥
ITER B9 W I F g & S &1 = H A 2
f grampifern T ffew werE faaeifer &y g
(& - fae= - N.C.E.R.T.)

96.

If a mouse of over eight times its normal size
has been produced by introducing human
growth hormone gene, the technique involved is
called:

Tfe AEgleg EHM S T FET teh TET &1
Y fopen I T 97 o WIETT ATER | IS T
ST A A 3 qhAIE W e -

(a) Hybridisation/Sehtut

(b) Genetic engineering/3Taif¥eh gSiifr=fiT

(¢) Mutation Breeding/3eafad= T

(d) Hormonal feeding/ETﬁf-‘-ﬁ qIT

I —(b)

EAT— WA g5 8 S H A0 B FHR SHR
Y e A S @ Y w HfRA w SEiR
Nl et ST 9 FHER A SiERT g/ T
HAA S & WEY § N Tk Sal h TR, P,
O I & SEA S FHT 8, dfewh quid: A YER & Siat
&1 ot fomfor fopar S webar 21

(B - fo@™ - N.C.E.R.T.)
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97. Match List I with List IT and select the correct
answer usmg the codes given below the lists:
gt 1 T =it 11 & F%F—T iR
e fo2r gu a—z‘r = ST aﬂﬁ Y Td T
AT R

List I List II
(Charactristics) (Animal)
et 1 (T8Tum) gt 11 (urft)
A. Wingless insect 1. Kiwi

UEEH Hie et
B. Flightless bird 2. Silver fish
IgH e weft i HH
C. Limbless reptile 3. Turtle
3R TGy El
D. Limbless animal 4. Snake
TR Al i
5. Fish/Ac&d
%< :
(a) A-1,B-3,C-2,D-5 (b) A-2, B-1, C-4, D-5
(c) A-2,B-1,C-3,D-4 (d) A-3,B-1,C-4,D-2
3™ —(b)

- WA GEE $ie g1 P =siavs § e
S AT ST e w81 wd e (R ) w6 e,
e & off 7 81 T srefq Aeel BHpE (WhS) §
Rd ol 21 Hhel & o W Asforl § firer g §
9% 570 o 9 H Yol g3 oS Ff Yo &k &9 H
T F 2| (B - fIF - N.CER.T.)

98. Three communicable diseases prevalent in

developing countries caused by unsafe drinking
water and bad sanitation are:

I U A R ST i HHT F HW
Terarrarvfier 2uit ® warfera i demdt A § -
(a) acutediarrhoea, cancer and gout
Malaria, acute diarrhea and schistosomiasis
T, die e 3
onchocerciasis, leukaemia and arthritis

' , TAALhaT 3 werene
Rheumatism, malaria and AIDS
AT, R 15"
ST —(b)

(b)
(©)
(d)

T3 TISA 21 G 1 HE o HROT (o
9 F AT H EH AT A S Gl I - AR, d
yafedr R foermmem ) &, sfar, dfr et
I 0 F wEf T ¥ e awelt dERar €1 HW
Fiferpratt & IRl 3fs ¥, Tew dF-gwy, S W
TS G F YA F e 21 (B - fO9E - N.CE.R.T.)

99. Scratching eases itching because:

(c) It stimulates certain nerves which direct the brain
to increase the production of antihistaminic

chemicals.
WY FB AN W AW § S ufess @
TR el &1 3R 989 & ey o §

(d) It suppresses the production of enzymes
which cause itchin

ﬁﬁgﬁ?ﬁmaﬂ%aﬁmmmg}mé
I —(¢)
T - goa ¥ @ fied @ w1 9 dfen
35 (Stimulate) B 8, S fF aferss &1 s
O 1 3cred S &1 dwr 81

100. The blood pressure values of four persons are
iven below:
TR SAHAT o TTh ST o1 71 e &
1. Mrs. X : 90/60 / sftmeft X : 9060
2. Mr. X : 160/120 / #ft X : 160./120
3. Mr. Y : 120/80 / 5ft Y : 120/80
4. Mrs. Y : 140/100 / $feeft Y : 140/100
Who among the following has normal blood

ressure?
%ﬁﬁﬁﬁﬁﬁmmmm%?

(a) & X (b) & X
(c) &t Y ) Fy
I —(d)
HE—3ad & Bn (Faifers) @ Rty 29

(SERIAH) % S W § g arel gae & & W g
(Blood Pressure) ®ed &1 U a9%h oAfed & WHMI T
@ 120/80 m.m.Hg. 81T 8| SUY F7 T &1 19w &
TRULYT A o =g YW a9 399 A e @l
TR I TEsEIE @Ed g1 g # @ g =W
fFal & @arg ¥ 9 fased (d) # oo mn off v & =
T 120/80 WETA 2, T AfFET Awd x (90/60), A x
(160/120) T et Y (140/100) & e I § A
T G § A 21 (B - T - N.C.ER.T.)

HIT, TITUTAT Te 4T

101. A fertile soil, suitable for growing common
crops, is likely to have a pH value of:
HET HES ST o T 3aX 9fT &1 PH W19
TehamT 2 ot WerraET 82
(a) Three/d (b) Four/ar
(c) Six to seven/®: ¥ ¥ (d) Nine to ten/At ¥ &9
3T —(¢)
EIT—Yal AfhaT 3T el a1 e pfa W et
0 ¢ FT9 591 § e e # A SIS At 2 3
‘o gar der e faedt § wefmm (k) qu wifeem
(Na) 311f& 01 31 & "En a1 & @ 3§ ‘anf gar
Fed § | gaT i SAfufshar pH # Andt S 81 ol gar

g § @St et & wediten - PH M 7.0 ¥ &H T 0T YaT &1 PH A 7.0 § SAmG&T
(a) Tt removes the outer dust in the skin. 2l | Vefh e & H1 PH WM 7 @Al g1 WHH
TG = ARl gl g e 2 wEe ST AdT i€l & gfy & forg gk frdt & pH M
(b) It kills the germs. 6.0 ¥ 7.0 & 7oA 8 eT fiedl & T pH A F U
@ Ay W § 0 T R R €
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102. Sucrose content in sugarcane decreases:
T W 38T AT I WTAT T W B, Al -
(a) If high rainfall occurs during the period of
rowth of the plant.
T a5 & Ay § s ant & S
(b) If frost occurs during the period of ripening.
TS I Ay § g R S
(c) If there is fluctuation in temperature during
the period of growth of the plant.
o S &1 A # A o SH-ahg 8 WY
(d) If there is high temperature during the time of
ripening.
Th F STty F A g A @
S - (a)

AT 97 1 T Thd HA &1 T W R
i 3T gl S A % qvE F SMHiRa 9Ra &
U GO ST AN 2| T F GEA oI aoHe 21° F
27° WO T &t # HET 75 ¥ 100 AL e =Rw)
Ruea T % W H ST # WA 10 ¥ 15 SRee 8 2
T Y & g % Safy % WA Ak s aut @ S A
T YT W &9 8 ST 2

103. Sugarcane, sugarbeet, sweetpea,
pigeonpea and French bean belong to:

AT, Fehet, Wie HF, o, IRE R e
feraeh aterta omma 7

(a) Two plant families/f§qeq HeT

(b) Three plant families/FAdrEd B3

(c) Four plant families/aqs&d Hel

(d) Five plant families/d=d1eq et

I —(b)

chickpea,

- T, g, Wi @, I, IReX N HIEe
ey Fa % ofawid o9 &1 T @ g § A
B @1 T, SR T HUHSIA o Bt ¢

foa= drenfirent

104. Biofilms are:
e fomed e Bt 32
(a) colour films used by biologists to photograph
living organisms.
[ &% Wl oW & fau ShafamE gw
Tk G fhed
(b) photomicrographs of microorganisms from
various habitats.
fafay frame a&i & Qew Sfal & a0 ffa o
(c) accumulations of microorganisms at surfaces
such as those of a rock, a tooth or an oil
droplet.
9, & a1 9t g 1R % g8 W gfid g S
(d) photographic films made through
fermentation processes of certain industrial
microorganisms.
o il Qed Sidl & fhved whAl ¥ o
T wiet fhed
34T —(c)

-39 heH (Bio-film) I, aiq a1 da fargahi omfx
% 9% 9N W G g9ea S 8 2
(& - f@= - N.C.E.R.T.)

105. Which one of the following approaches comes

under the cate%ory of blotechnology ?
frefifas o @ # @1 & Sa-graRe @
groft # e &7

(a) Use of living organisms or substances
obtained from them in industrial processes.
YAl § Sl teen A9 W garet
I ST

(b) Modernizing the commercial industrial to
produce products for use in biological research.

ST H W S arel awqel I Seaed

FH F U ER I

Y fFehTehToT

(c) Use of modern technology to investigate
biological disorders
forpferdl @1 oTEeM & & fau sy
ST 1 ST
(d) Use of industrial technology to increase the
biosphere

Sta ded @ gfg & fow oiefie e &
3T

3T —(a)
- Ul Sl (e ged Sfal) a1 Sfe g 3
werel I e w3 WX W IYAN @l Sfe-
S Fed €1 SERUREEY - Afey IR % fau die
HIRTHSAT H1 ITINT S Nenfien & Siaia 3 2|

106 Which one of the following does provide the
best estimate of world’s biological diversity?

fova & Sfow fafqear @ I
Freferfaa o & ferad firerar €2

(a) Of about ten million species probably alive
today, some 20 species are lost everyday,
most of them unknown because no more than
half a million have yet been actually
identified by scientists.

A S AT UH HUS S Heaq: S
€, I8 ¥ FE 20 oAt sl o @ S €
3R I ¥ sl @ e off S § Hiifs o
T o A § A 5 ARG B @ A
T TEH & 2

Of about thirty million living species, some
50 are lost everyday, actually identified.
St 9 FUe S Shfad § s 9 A
50 ffe @ & S § o 3 § sl
e o gt § FifE T oW a% s
s a9 aRg S & TedE g 2

Of about forty five million living species,
some 100 are lost every day, most of them
unknown because no more than 1.5 million
have been actually identified.

(b)

©
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S T W8 9R FAe sifqar Sifed § s 9
FE 100 Wi @ & St § sk s 9
sfeeTer aF oTEm & Bt § Hifh o/ ae s
¥ arferss Use g # & veE g 2|

Of about seventy five million living species,
some 500 are lost every day, most of them
unknown because no more than 3 million
have been actually identified.

FE 500 Wi @ & St § sk s g
e @ S & ad § it I d st
¥ 31f 30 AR S @ vEEE g 2

3T(¢)

(d)

TR AR - TR, JU9T, =g 3R e & uw
FHA 100 FTF 1 3SR R UV F U faera
ot & i § e wig ofw femer % uw
TeremeRt1 fohmg oTelieh o U oqUIT | rfres v
% ok =g & um feer @ whaer ameft it ¥
Ak U aEgd: fRwr ¥ 5w st R

T THaH 2w F 9 G At se-sst @
TR S SRRl @ Sgen @ SefafEEE (Bio
Diversity) F&d 8| GI9AUSA § Safefaeal &1 Sl 3Td
Sfea qon foom 81 §OR # @ W WUR sg Sifed
Sfeat orlt S €, R g w89 100 sRfRA @ @ S
g a0 3T ¥ S oW A &1 S a% e 15
A TSI A UEEE A ST g 81 S fafyee & dF
TR IR S §- (a) A fafaea, (2) s fafge,
(3) TRfufast fafaem

107. Which of the following strongly threatens
biodiversity?
Y ATk W ferad &2
(a) Fragile ecosystems such as mangroves and
wetlands.
(b) Inaccessible habitats in Himalayas.
fewrera & g fare gt
(c) Destruction of natural habitats and vegetation

and shifting cultivation./STpfts e e
SR FEafEt S faAreT 3w T

(d) Creation of biosphere reserves.
ST Heel & S =

I —(¢0)

AT 7o GieRer a4 & e % foe Se-
fafqemr & gRm @A fa sTEavEs ?1 @l Si-
feferemr 1 eRoT U WHfS ufEaT @ Al 39 eReT @
TP T AT B o 81 fheg adue § S e %
RO F ke AHAE TERW F RO g1 ffaw S %
TFew Ta F oA weie aAefodl @ AT a9
el g & S W AR A 3 F FoO = St
P 373 R Sa-fafqear 31 fFe & aclt amdE e
Sa faferemar @1 st af wgan § |

TATST ToRE & UTE STRrehaw TRT §7?
(a) Alok/3TTeli® (b) Bhupesh/sust
(¢) Chandu/=§ (d) Dinesh/f&mer
3T —(a)
ST - qHT 3TcAlh, U9, =g 3 A9 % oG Huwn A,
B,C,D ¥ &I
JEHER = A+B+C+D=100........... ()
A+B=C+D
T A>B, c=%, A=D+5
Tt (1) ¥ -
A+B+C+D=100
7 C+D+C+D=100(--A+B=C+D)
7 2C+2D =100
D D
77 2x — +2D=100 (- C= —)
2 2
100
7 3D = 100, D=—
3
100 50 100 115
= = A:_ e —
6 3 3 3
A+B+C+D =100
115 50 100
77 — 4B+ —+— =100
3 3003
265
7 Z 4B =100
3
35
aP - =
3
.. T ¢ f w99 oifes Ufer A a1efq seis & U 2

108. Four persons Alok, Bhupesh, Chandu and

Dinesh have a total of Rs. 100/among
themselves. Alok and Bhupesh between them
have as much money as Chandu and Dinesh
between them but Alok has more money than
Bhupesh, and Chandu has only half the money

109.

Given below is the performance of two
learners A and B:

o Torenférat A 3fR B @t freares femm gom 2

L

¥ 1 3 4.5 6 7 8
L)

Which one of the following can be deduced
from the graph?

that Dinesh has Alok has in fact Rs. 5/more Pl T & @-wr frewd framen st
than Dinesh. Who has the most money? HehaT &2
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The learning task was difficult

T 1 G5 FHfed o

B learned faster than A

T 1 9Fed T o

B learned faster than A throughout the task
T # ST B & U@ & M A H ga
7 afye off

A learned faster than B throughout the task
T # ST A & HEe & A B @ g
7 afye off

3™ —(¢)

(a)
(b)
©

(d)

AT - STH A% § TF ¢ 6 §Fd § M= B &
e &t I A # qa § st o

110. Consider the Vena diagram given below:

-~ 3.
AVA
N

s

The numbers In the Venn diagram are persons
reading the newspapers indicated. The diagram is
drawn after surveying 50 persons. In a population
0f 10,000, how many can be expected to read at least
two newspapers?

a7 3G H & T g 39 sSERRdl & 8 S ks
TAER T 9ed &1 50 AN H GIEU T F a8 T8
HRW ST T 110,000 F TG H fpad A

UH 3 S FH § FH I GHER TF Ied g ?
Choose the correct answer from the codes given
below:
TE ST 1 oA A e gu gt | Sie?
(a) 5000 (b) 6250
(c) 6000 (d) 5400
I —(d)

HMEAT— 50 H S9N § 9 ¥ FH7 & AR & Jed
el s G
= 1242+8+5=27

*. 50 FI SEE # 27 =4 9 9 HH & @R Ued 8

3 1@Wﬁ—wﬁ5mﬁma}a@aﬁm%|
50

. . 27
10,000 & SEET § — x 10,000

50
fth & W H 3l AN TSd 2 |
= 5400

111. In an examination every candidates took either
physics or Mathematics or both. 65.8% of the
candidates took physics and those who took
Mathematics were 59.2% . The total candidates
were 2000. How many candidates took both
mathematics and physics?

ueh gien # weft vdenfien F ar ar fifaent foug
feram = wiftre = g wifeent @ e 65.8% o
i Tfote @9 arer 59.29%1 Fer wdremelf 2000

ferer it = T @i wiferest St ferm

(a) 750 (b) 700

(c) 550 (d) 500

I —(d)
ST - F 2000 Tt § § et o arat #

2000 % 65.8
- - 1316
100
T o 9Tt @ 200092 1184
100

. TIOTE 3 Aifde @ aTel S S = 1316+1184=2500
2T T o aTelt S §=E= 2500 - 2000 = 500

112. A point to selected at random inside a rectangle

and perpendiculars are drawn on each side
from the point. The sum of these perpendicular
is 24 cm. If the length of rectangle is 3 times the
width, then what will be the perimeter of the
rectangle?
T T | el oft Tk forg o foram =g of) 5@
forg & 3mua # yA® YO W T ST WIE A
39 F@El T AT 24 WH B ¥ ARG mEE W
wETE Wt WIS A T TE A A NE w
R ST Y

(a) 36 cm (b) 42 cm
(c) 24 cm (d) 48 cm
I —(d)
STET - ABCD 33 &1 IS = x
TEER TRE=3x A E B
oo g0 ¥ e &t o
qEl W e B T E H 5 F
Tl B AT =x+3x
=24 T, C G D
4x =24 9.
x=6 9.
3 I H =S = x = 6 FA.
TAEE = 3x= 18 T
3T T GRAT = 2 (eFaTg + =erd)
=2 (18+6) M. = 48 T

113. If the product of two numbers is 320 and their

ratio is 1 : 5, what is the difference between the
squares of these two numbers ?

afg & HEeAt @ YUATA 320 ¥ 3R A
SIUTT 1:5 ¥, A A1 AT ok A Bt ST /T
grm?

(a) 1024 (b) 1356
(c) 1536 (d) 1635
3T —(¢)
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5X =Y el (ii)
wwo)ﬁ(u)mmr@ﬁm
58 =320
X =64
x =8
=40
ﬁmﬁr%mﬁww

17— 2= (40)> — (8)? = 1600 — 64 = 1536

114. Four equal circles are described at the four

corners of a square so that each touches two of
the others as shown in the figure:

The area enclosed by the circumferences of the
circles (shaded area in the figure) is 13(5/7) sq. cm.
Find the radius of the circles. (Assume = p =22/7)
Teh 1 o TR il Sl g AT 9N SR
TH TR S T E o U o o ot et Y
S for forr o femam o &1 9= @t aiRieEt @

mwmﬁmwwmugaﬁ

[ft. 1 gt wt Brewr J| s (@ e
& n=122/7)

(a) 4 cm
(c) 7.5 cm
3T —(a)

(b) 2.5 cm
(d) 6 cm

HT— A1 g9 i B - S

BRI AT H ST = E it G,

ﬁﬁnﬁﬁa%mmﬁmméﬁ%=
it T &AHA —
T T A - r IS &k I B A

4(r 51 % 99 H &THA)
4

=4 —nr?

=4 —nr’

5
13 —

3

|
T
I/
)
1)
|
N
&)
Ne—
I
T
<o

115. A rectangular sheet of aluminum foil measuring S
cm by 10 cm is rolled into a cylinder of height 10
cm. If the cost of painting the cylinder is Rs. 2/per
sq cm, then the cost of painting the surface of the
cylinder will be:

Tl I Tk AEARR wEl faent
T 5 A, 10 A, ¥, Gerd Bk 10 A, ST
wT Teh Taferet s=mn wom afe faferet = ie
A W AN 2 & Wi v 9wt § v faferet &

STET Y8 ht Ue A St AT et -
(a) T 400 (b) 200
(c) X150 (d) T100
I —(d)

HTET—

Fefor B T T felet #f SR 10 9. 2
su aftfy 5 o @nfh
faeivet & a7 U= 1 &he = Ry x TR
=5 x 10 it 9.
¥e i F arE 2 5. 9t . 7
50 =t 94t YT o & AN B
50 x 2=100 &.

In a single throw of a pair of dice, what is the
probablllty 0 ettlng a sum of 8?
iy a§

116.

T W HA TS 8
T Y TS ﬁh—dﬁ? zﬁ‘tﬁ?
8 1 4 5
(@ — ® — ©— @
12 36 36 36
I —(d)
T Tl & S8 & TH IR heh 9 W qfoaef forgat
FHRT 6 x n=36 ﬁl
IR FA AN IS 3 I FEATEA
=(2,6) (6,2) (3,5) (5,3) (4,4) =5
iy geedr  p=2= 2
noo36
117. A lottery system has ticket numbers with eight

digits. There are ten first prizes of Rs. 1.00 lakh
each, one hundred second prizes of Rs. 10,000
each and one thousand third prizes of Rs. 1,000
each.

At the draw of lots, an eight digit number is
generated by choosing for each digit from left to
right a random number in the range of 0 to 9.
Any one who has a ticket with the first two
digits (from left to right) matching, the chosen
number gets a first prize, and so on.

One individual purchases a large number of
tickets at a discounted price of Re. 0.75 each.
For how much money should he purchase
tickets to achieve a 10% chance of winning a
third prize? . )
Teh ot § 313 3iahl & W& o feahe 21
TH-Tah @@ & 10 TI9 JEHR @ T 8, g6-
T TR & 100 T3t R, TH-Th &9 &
1000 T TR, AT FeRTerd THET 316 3Rt
WY Ueh G foehTell ATt § 2K Wk feg o | 9
o ool o g oft 3t wmueT: 99 @ s fae
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T 81 ek feshe it U & | ugw 3w (318
3R | Q) 39 e Terelt g8 €T & il &
A @ §1 3% JIH T[RRI 36t Jahr 3ty
oft i weR =afvh 0.75 TS wfe feahe @t wwlt
W W =g WR feere Tligar 1 9 fha w09 &
fewe @i fof Tl TR T & IEER 10
wferoTd & W)

(a) 10,000 (b) 75,000
(¢) 100,000 (d) 7,500
I —(d)

EAT—0.75 F9C 9 e & Tt /@ W The @i
et AT F TH IR H G [ERR W F A1
10 SfoeT @ & AT 39 =AfF F ot 7500 FIC & Ay
fege wled 727

118. The average salary of skilled employees in a
firm is Rs. 520 and that of the unskilled
employees is Rs. 420. If the average salary of
both the groups of employees is Rs. 500, then
the percentage of skilled employees in the firm

18:

Tk wH | 9Tt shreniRe st 3| | 520 %
T 3R rvTer SH=RET W 420 ®. € AlE ST 7
& wHETRAl 1 3fHd da 500 B ¥ A wH W
HITET HHSRET ohT Ffer9Te B -

(a) 50 (b) 20

(c) 80 () 70

I —(¢)

HE— T o BH O g wHAREl S @ x 7o
Wmﬁ?ﬁaﬁﬁ@w%

3T OIS FHANET HT Hel Ia =x x 520 &.
TN STHUA FHANET B FA oA =y x 420%.
FIA TN STHI FHARET BT Pl FqT = 500 (x + y)

: 520 x +420y =500 (x + )

20x =80y
X =4y
TH YR FH H FIA FHHARAT H e = X 100

xX+y

4
- 100=80%
4y +y

119. Consider the following pie charts?
= g @ (uE) =l W e i

1985 1990

The pie charts given here depict the area under
cultivation of different cash crops, for two years,

W o goaEs (UE) = W 1985 MW 1990 H
et # faferer ehe WO o FH & @l fubE
ferar T &1
frefafaa & | sF |1 %a" Taq 82
(a) In 1985, the area under jute cultivation was less
than that under rice cultivation.
1985 ¥ S &1 F7 &7 TGl & FF &7 T &9 9|
(b) More land was used for growing vegetables in
1990 than in 1985.
1985 @ T § 1990 H Hesl 3T & foTw 31ferp
afft 1 ITIT AT T
(¢) In 1990, the area under rice and wheat
cultivation taken together was less than half
the total cultivation area.
1990 # wEe R T & F FA FA & W
F 8 F Y T & o

(d) The percentage area under Jute cultivation was
less in 1985 than in 1990.
1990 F T H 1985 H Sk FH &F H
SfereTd A ol
3T —(d)
SATET—1985 T1 1990 auf & fafaer Tt wael & F=
g % gu@re (W) =l § ¥ fhr T smw &
I § W Bl @ {5 A9 1 SR e (d) e § |
Fifs 1990 @ qoT § af 1985 F Sk FH &F
i Sifee o1, HH FE | S H F &F 1985 H qo §
1990 § %% & T

120. The following graph shows the annual sales of a

company’s products in millions of rupees. Study
the trend and find out which of the following
is/are correct?

™ wE W Rt shult o Serdl @t arfie
ferst 10 or@ Fuat W R W@l T §) wgE W
g Ay iR Je wifve foR 3w wnA

/\/

/&7

"

w9 zew e ¥

teg3 B 85 Bs @7 BA

1. A deliberate attempt has been made to distort
the figures in one year.
U ¥ # 3fibS! B S g H e A T 2
2.Some one is interested in misleading the
management.
HIE Ak FEHH! Bl HEHAT R 8
3. The kink in the graph is unexplained.
7 F S el |, 39 germn A T @

Choose the correct answer from the codes given

1985 and 1990. Which one of the following below: .
statements is FALSE? fter fou gu Set ¥ 9 ST 1 w9 HIW
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%< :

(a) only 1/%ad 1
(c) only 3/3aa 3
I —(¢)

The following table shows the percentage
change in the consumption of electricity by five
towns P, Q, R, S and T from 1989 to 1991.

Per cent change from 1989 to 1990 From 1990

(b) only 2 /&ad 2
(d) 1 and 3/1 3 3

121.

to 1991:

Percentage change

Town From 1989 to | From 1990 to
1990 1991

P +8 18

Q 15 +11

R +6 +9

S -7 -5

T +13

6
fr=fafga Aot § 1989 | 1991 o<k o ool W
el TR, P, Q, R, S 3R v # faselt & @ua ®

& gferora &t fegman T §1
ferotd TRad=
TR 1989 | 1990 & 1990 & 1991 &
p +8 ~18
Q -15 +11
R +6 -5
S -7 +9
T +13 -6

What was the percentage by which the total
consumption of electricity by the five cities
changed between 1989 and 1991?

1989% 1991 Y S7afRr ® Uil TR @t ferreft St
TUd # W gRed goll, SHH Sl @ud |
wferore 2

(a) - 4
(b) — 4.45
(c) 4

(d) Data given are insufficient to answer

I —(d)

S99 & Groft § 1989 ¥ 1991 % & a6 # uig
TR P,Q,R, S W T # fasielt &l @ud & ¥=¥ fpy mw
Hihel ¥ WE Bl & % 1989 ¥ 1991 & s@Efy # g
T F et @ud # Fot @ ¥ oy W TE & @ 2

122. The monthly incomes of Peter and Paul are in
the ratio of 4:3. Their expenses are in the ratio
of 3 : 2. If each saves Rs. 600 at the end of the
month, their monthly incomes respectively are
(in rupees)

Ui st WA 3T ST AT 4:3 Bl
IR AT 3:2 & JIUE ¢ Al wrw & ofq
Yk @ gOd 600 . ¥ Al SRt WifbeR 3T
(FuEt #) gt -
(a) 3200 and 2400/3200 3R 2400
(b) 2800 and 2100 /2800 37 2100
(c) 2400 and 1800/2400 3T 1800
(d) 2000 and 1500/2000 3 1500
I —(¢)

STEAT— AT Gle 9 ofe] i Hifds 3T AT 4x T4 3x
21 TEER W 1 T W a P 600 F. S S
Bl B dr G % ST i S 3 2 B

4x - 600 3
3x - 600 2
el 8x—1200 =9x— 1800
Jg —x =-600TFTx =600
et it 3T =4x=4 x 600 =2400 3.

qe, 9id & T =3x=3 x 600= 1800 %.

Aeh TR TTeTur

123. If ABRA CADABRA is 1,2,9,13,1,4,1,2,9,
1, HOCUS POCUS will be:
afe ABRA - CADABRA®T 1,2,9,1-3,1,4,1,2,9, 1
@ HOCUS - POCUS #1—
(a) 5,6,3,7,80,6,3,7,8
(b) 8, 16, 5,21, 19-16, 15, 5, 21, 19
(©) 8, 16, 5,21, 19-15, 16, 5, 21, 19
(d) 5,6,3,7,86,5,3,8,7
3TN —(a)
T YATER-
ABRA —> CADABRA
S U AT = 1291 — 3141291
R & 3¢ %A § Faf I 2|
& hHh
T TBR = HOCUS P OC U S
TEH faheq (b), (c) e @ SHifh 3EH 5 aull & W W 6
Teme sifhd €1 (d) fosher gElT o @ % wew Us &
T W 7,8 A g US % WM W 8,7 B1 FERI (a) &
g ghm|

124. In a group of six women there are four dancers,
four vocal musicians, one actress and three
violinists. Girija and Vanaja are among the
violinists while Jalaja and Shailaja do not know
how to play on the violin. Shailaja and Tanuja
are among the dancers.

Jalaja, Vanaja, Shailaja and Tanuja are all
vocal musicians and two of them are also
violinists. If Pooja is an actress who among the
following is both a dancer and a violinists?

B: fot ot veelt § ur wdfewar, ww M,
T Rt it e amafee arfeetd €1 fRer
3R == qrafer anfeerTd € dt srerer 3iR S
TEfe I JE et Yo iR @
TdfeRat 1 e, g, Jreen X agen weft
fueRTd € 3T 3 | o arafers anfeeRnd off €1
Tfg g afrsht & d frafafaa § § @ et
off & i arafes anfee oft?

(a) Jalaja/STetsT (b) Shailaja/STerst

(c) Tanuja/d s (d) Pooja/gst

3 —(¢)
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HATEAT— THHER -B: o=l i qveett §

4 TARRAT 4 MR 1 AR 3 arEfed afesd g

J & VesT, Sefst, g, ge, fifen, gasT

o § fau MU el & erER fifen qur s 4 awfen
Fifesmatt § § & arEfer aifeshd §1 Sotsn, aes, e,
TSN 59 OR MRS § ¥ & aEfer atewd 6 8 dfb
SIS WE SterSl arEted SSieT A8l Sl 3T WE B
FAT AT e & W & MRk € S arafen e
ot 21 399 T & S @ 6 a & 9% @ @ S % et
AT At afeet aF 2 |

125. Which one of the following provides the correct
sequence of occurrence of four towns/cities as
one proceeds from west to east?

& AT w A A e g
SR R/ TR A W w8
(a) Rajkot, Baroda, Kharagpur, Bilaspur
(b) Bikaner, Aligarh, Darbhanga Nowgong
, Tl Twm, e
(¢) Indore Rourkela, Agartala, Jamshedpur
(d) Nasik, Aurangabad Berhampur, Nanded
e, STER, TEEY, AR
I —(b)

SMEN—9Rd & AFFA | 999 § f{u o wed & fufy
H 3@ Y Wy g @ 6 ara # ufvem § g fRen @
3R I T W AT Il H GEANIH TS ST
SR TITEE STW-IEY ToF A e, i foer T
1 STHTT AT 3T A § 7T TST H AN I e

126. If you are the ninth person in the queue
starting from either end, than the number of
persons in the queug is:

gfe 0 I ¥ T T W R A
ufts # et feraw o €72

(a) 10 ®) 15 () 17 d 19

3T —(¢)

STEET—YeAER afe 39 foreht e # 21 @ o fime
W AT W W I A e W e aH W
8-8 =AfF a1 3Ey frpd frsperar 2 f 39 dfFd d gt
ATl 1 G@ 8 + 1+ 8 = 17 &l

127. A father is now three times as old as his son.
Five years back, he was four times as old as his
son. The age of the son is:

T fen ot TR U | i T oy W ¥ ui
T8 UEe et Y UF ¥ O T ot 3w wma

T @t 3 T &7

(a) 12 (b) 15
(c) 18 (d) 20
I —(b)

A T forar fuer it adue oy x A 7|

TEATER (x—5)=4(§—5)

x=5 x-15
a =

4 3

Rl 3x— 15 =4x— 60
Bl x = 45
foem &t e 21 45 a9 2
gsrﬁaa“:rmaﬂ—— =15a%

128. C0n51der the map glven below

Ko

Two tourists, one travelling from Delhi to
Karachi and the other to Bhuj, wanted
company. The railway Junction up to which
they can travel together as shown in the:

foeett ¥ ot S vdew, 90 ¥ T W S
T ¥ R g @ o, wneft =t aemer # §) =
o S deh o WY O Wehd &, SW WHeS §
ot §-
(a) Phulera/BeRT
(¢) Luni/eft
ST —(d)
A% | 9N & A J Faf¥e o 9 oy 9 @y
2 8 5 el o0 RYA 9 A F (WfHEE) q9r
IS (RM) S At & A STl R d% -

AT B Fh |

129 . o 9t s fou € =0 | U @ weA (A) 3R
TEX I HNUT (R ) e T4
Assertion (A) : Hong Kong is to revert to China
from British Control in a few years.

(b) Jodhpur/STEqT
(d) Balotra/sTelleRT

®AT(A): IS o # gem ffew e ®
e X a9 = &I e ST
Reason (R) The people of Hong Kong have

opted for it in a referendum.

HEU (R) : TR afGE 3 S9Ed @ A U
T G A 8

In the context of the above two statements,

X which one of the f0110w1 1s true?
. g7 # FAuE g g — ) FU & g wEAT ¥ frfafaa & 9 =
3 o wét &7
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Both A and R are true and R is the correct
explanation of A

ARRET T8 € 3l A F T8 @R FA 2|
Both A and R are true but R is NOT the
correct explanation of A

A SRR T & W A F T8 AR & A B
(¢) A is true but R is false/A &l @ TR TTed 81
(d) A is false but R is true/A Teid @ TR Tl B
3T —(¢)

(@

(b)

=TE—dH & af-gd § R 200 § e @y @ &
TUE BT 1843 50 © fafewr stfem & oM fhg 1984 H
f5reT or 9 % TeT g T F SFER 1 SR 1997
feT F g A 99 F v § Wi @ W R
AT 1 LA THET b F g & 7 % 96 &
el s/ SFd Hoe | wed S TE e ¥ ST e
T FHIT (A) TE & T FRT (R) Ted 21

(B - FUATent - dTfet I RITAEIT SEH)

130. As on today, which one of the following countries
has the largest external debt?

30 gAY frAfafad § ¥ = 91 397 gaifies arer

SRUTIE §7
(a) India/9Rd (b) Brazil/smsiat
(c) USA/ETH T W (d) Mexico/Hferget
3T —(b)

132. frafafea § @ & w1 9 gafe 87

o e & e fow @y g
ot grifer TeTeR AT Tt g8 §
(a) ST 1992 T FfYy T giSRTOT
F & fow
(b) T SR :  HHEId W &4 & fow
() HISTRI : SAT EIE T gHA0T
& fou
(d) =5 9 H T 9 WS g
% o= < W % forg
I —(d)

SEIT—5gH T¢ T 50 a9 & T < & 91
1964 § & HEIH & & T@ HACT TRl - A adT b
T [EAEE o | WG FEE W@k 332vd ¥ S
21 (B -FrETarE - S 99 St 2EE)
133. 199293 ¥ TrmaRt SuSt At WeRX gE R W
A | e =
(a) A€l (b) AT
ST —(d)
TN T, 9T TR §RI FHIe 6T T STiwgt
F AR AW 1992-93 # fieed & IR # AT A
TN 1991-92 & A i o1 § e afg g&1 sl
T Ty § T S T % S § e o 3 T adn

(c) &eTe () faere

EMET— TS & U a0 Wi TRIE & a9
Fefie arel SEl qd S SNEg o et ¥ wor
W A o9 H gUH T WA

131. The book The Man who knew Infinity by Robert
Kanigel, published in 1991, and extensively
reviewed in newspapers in India is the
biography of:

e Fime g fafad, 1991 & yaRlye 3i|
TR & THTER Ut W 3TeAfreh Wi e T
= g = sffet’ feraent Sfia wiftr €2

(a) Vikram Sarabhai/ferRT TRTaE

(b) Homi Bhabha /gt «rem

(¢) Sir C.V. Raman/ #.81. T4

(d) Srinivasa Ramanujan/4if-am8 TS

I —(d)

=T FE g fad W ogEe 7 i g
BT ST T 1991 H TR q9 IRAE THER W&
H e wife 2 T, § W ¥ A9 T TR
‘e TS 1 Sfee a9 Sfeafad e T §1 @
TR T YRG @ ] St 9, fEE 9 W
T H T GREIY] STIHH §EIM (BARC) ® TG H
T 21 forhH GReE 9RG % siaRer dwe 9, fEe M
R foed g iRy $x Bosw # fem @1 W
W AR F ifte aue 5 it Ted R 9
Tt e S 9 2

(B - FUATeRt - dTfet I RITEEIT SEH)

e @1 3IcAGA AIel a9t b Wi 12.5 fafers =7 @ srven
a¥ 1992-93 # 14.7 fafers == & T
(EN- AT et - AT ek T RITTEI TH)
134. The dispute regarding East Timor is between:
goff feriv fawrerer ferame fomr & & ofter @72
(a) Japan and Russia/SITqH R &G
(b) China and Philippines/=t= R fepetrfig
(c) Indonesia and Malaysia/gg-femr 3 Ty
(d) Australia and Indonesia
rfer o SRR
ST —(d)
=EE—-19000 a1 fRA. gAma # fowa @ fR
SUSHTET % Harn WeEd § fRd fr g s g
21 gl R # s § qdmferdt @ sftafEfie s o
T 1975 H @ B8 T6gE & a8 SUSHIYET 7 39 W §
1976 # 39T STfeged ST foren &9 ¥ €idie & guenfemE
qgn erefern % < faifed fawa o= T gEen @ f
Fiam § g fAR veHREn ¥ o T @ad qw o
™
135. TEITY HB AW FLRA ISAWT wAUa {7 ST Ioh
g, R oft ara § yrfow W & wya Wen
AYTH UL ¥ Wiepferen 1 o 3 fewner w@memt
T IUANT feRdh Seure W feRarm ST wehar &2

(a) 39%H (b) FETES
(c) AhrEe (d) Gfeere Siferm
I —(a)
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I % 3IeqEA H foRAr S @1 9Rd # affaen (SReft), qor
IS (TSIA) & SHeb! IAH TIT Tpfeieh TG T TR
1 (Ea- guamtEnt - aifiet a9 Ry SEw)

136. Which one of the following was part of the
erstwhile Soviet Union over which Kurdish

opulation is spread? .
%lttl%vrf@?r o g HF W YAy wifead W
amr o e HiEer T T 872
(a) Armenia/3TRETAT (b) Azerbaijan/3ToRaST—

(c) Georgia/Sifsr  (d) Turkmenistan/qHfr&
3T —(a)

e AR qAgd Wifged "9 @ 9w o1 fed
F A wd 9

137. Which one of the following monuments figured
in the news recently in connection with a fall of

some of its parts and its consequent
archaeological conservation?
TR A ¥ e U W

frafafaa & & @F-a1 § e 8 9 fir =@
& 3R femt sTg § quraeta wYerur feRam Te?
(a) Jagannath Temple, Puri/Saneg Q8 Hfex
(b) Sun Temple, Konark/§d Afex,
(c) Khandariya Mahadeva Temple, Khajuraho
HeRa wERd HR W

(d) Chaunsat Yogini Temple, Bheraghat
=g A Afe, e

3T —(a)

EEAT— ST I8 A g | on) e 3o 9w fin
T o, 3R SR § qucas SeevT e
g @ ft ST A us g At 2, S e s
(figwn) ® AT 1 T8 9RG F AW TH F <Al
R g # Rem 21 Sy vss 1 o S & @ @
21 g A & Sl A o et 8 |

ferferes
138. Match List I with List II and select the correct
answer using the codes given below the lists:

gt 1 ST =it 11 wifve ST gt &
o fedr gU Fel 1 SUERT FA G W I H

I HIT

List I List I1

et 1 il

A. Grand Slam/iE =i 1. Chess/3a%st

B. Grand Prix/i€ g 2. Polo/drat

C. Grand Master/3g AT 3. Bridge/f5st
4. International

race/?ﬂ—_clﬁ'gﬁ'q 'qﬁ?s’

he :

o

(a) A-1,B-2,C-3 (b) A-2,B-4,C-3
(c) A-3,B-4,C-1 (d) A-4,B-2,C-1
3T —(¢)

e ie Wy vsEEd B ga ¥ gefRa 21 2
F AR AadTE wulet - eefernd, %w, ferecsa qun
I U B T & § g ww el 21 U
S vIsarael SfAiEa dte § qur Fe Ay visaEel &
T TS b G § T g1 A I 4-4 JeFaR
fgenfedl g @e s & T 21

(B - I WHET A, 50,000)

139. gt o g8 W fordt fewim foag W fa=m whifstg
(Serernd feeeft vreR)1 fom o (Serewumd Sruew
SNE aS1) 9@l ST ATOHTT WiEAt st e i o
A=A 3Afereh ST SRAlfeR -

(a) T o1 e e & vodl g & s Febe B @

(b) geAt R i areft o fopeot wdf & gt & g
feem st gt B &

(c) TTHEE SFERIAUT ¥ el o A1 et & A B @

(d) W& F 9 o 3vey g o fen # i e E 2

I —(b)

- gt WA arett g &t Rl vl | gedt &%

I8 # faenm F s gt At § A PRor @ R Rt

IR A g & g o foEt farg 1 A Wi & arden

T F W S g B

(& - I WHET 7, 50,000)

140. The Lifeline Express’ is:/ T3t olg— ToAUd ' &

(a) The world’s first hospital on rails operating in

India.
YOR HT 999 A Sl 9Rd & @ RRAl |
AT @

(b) An instrument used for watching the

fluctuations in the blood pressure of a patient
under general anesthesia.

e SRR @ ffy § T 6 w6 e |
B ATl SAR-=IgME H 2@ Hl

(c) A de-addiction programme to save drug
addicts.
et amet ¥ geeh ani @ @ ¥
g faamer &1 SRl

(d) A popular health magazine founded by
Ramnath Goenka.
THATY S He] S T TH Eree-gad
A g

3TN —(a)

ST I00d 51T TR &l T 379 &7 & S
o fove &t tHAE Hua e et - AR od
TFHE GO & UE ygen fufhearerd @ S fR Q9 &%
SR AN S Ger & fw wRa ) 39 9efRE W genferd
BT 21 E® e Har H§ Sl & UH oo 991 Wi &
gelol 2q Sl SUSIl A fhe s sFen §1 Fg fufehea
TAeT o= fafshean Ud e Yanstt & e 9 Rd
& o fore denfea & @ 21

(B - I WHET A, 50,000)
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141. Given below is a diary of disasters involving

143. Which one of the following is a man made”

hazardous chemicals. Which one of the cereal NOT found in nature?
following is correctly matched? U @ & o ‘e |’ o € S
AR .ﬁgé%waﬁﬁ@aﬁan weRfer & T wmar?
geft &1 fr=fafaa & @ & o fouer a6 fearor (a) Dwarf wheat/a1 &
& gafera g2 (b) Hybrid maize/Sht Herehl
(a) 1959, Minamata/ Leakage at pesticide (c) Triticale/fediohat
Nigiata, Japan plant. (d) Soya bean/SIFET
1959, femmmEy FHieeTs T H R I _}(Ic)
[GUIGIASINIE) PrC—— = @ f E——
(b) 1976, Sevesor Italy Mercury discharged e Ios ﬁ—é\ e . | e
into water ways e AT FO S 81 78 S H swes A a
1976, TG, Toft womE § UR &1 frge | | e et g dar R vem Fimear 2
(c) 1984, Bhopal, India  Leakage of dioxin 144. The only landlocked country in Southeast Asia
1984, , A SR i e is:
(d) 1987, Kotka, Finland: Mono  chlorobenzene gferur g qfyren ¥ wes WS A Q9T R -
split in harbor . (a) Laos/a3Td (b) Thailand /Tgeis
1987, S, S i (©) Malaysia/qﬁ@ﬁﬂ (d) Kampuchea/sagf=rar
AT I —(a)
ST —(d)

TG WA & Ie & herasy 8fed g8 &
T R uereT H ¥ fasgey (d) § & T ST TR
GO T W Ao 81 G 1987 § B, feive %
TR T AFEARESI| A & WA & e et
SR g8 ATl 1984 H W W i TEFT WO H S
T I FElEE B FREH T el el T9- feEa
|3 R AR RS RS R ) L

142. Among the four pairs given below which one
consists of a correct combination of dignitaries
who became Vice Presidents after having held
diplomatic posts like Ambassadors and High
Commissioners?

o o g fed € R @ 9% o g s
ek A AT Ut a9 | gd Teigd
AT ITATITH o U W R® -
(a) Dr. S. Radhakrishnan and G.S. Pathak
Sf. U9, TUGWH R .. ugE
(b) Dr. S. Radhakrishnan and V.V. Giri
1. U9, TugwH SR 4. iR
(¢) Dr. Zakir Hussain and K.R. Narayanan
1, TR g8F 3N F. IR, ANEvE
(d) B.D. Jatti and K.R. Narayanan
A S S F. AR, A
3 —(b)

TE-12 W, 1952 § 19 WE, 1957 T% WRd & ¥dW
SWPU & &Y F FE F A T, TH, TUFVH TP
T & T4 1949 § 1952 T difead 99  T9gd @1 0
2 < TuwE T 13 wE, 1962 F 13 WE, 1967 7F AR
F Upula & &9 § off & A1 6 wE, 1967 ¥ 29 I,
1969 T XA & ITPUG | A 4. . R swyefa a9 &
T des § Togd 41 Soieda g 5 A it ara F
Teel W FE (R G TEURT (1967-74) TH1 9 T
§ ot =6 @ AEOET HCT 9 41 @ UPUd @, IR

TR < TP a9 % g4 =R (aE) § Ieed © 99 9

AR UF 0 <R-gd tREE 2w 8, s =R
AR F TafEd 8 o1 39 W A G s A Wl &
F Y T FA 21 AT F AR R R 3w faEaam,
AEeUE, TR, FRET a1 W9 81 oneiE B qee
ferefae 21

145. The founder of Boys Scouts and Girl Guides
Movement in India was:

O ® S whee (IR ) AR fufaermee

AT T STHGTAT AT+

(a) Charles Andrews/aTed Tg

(b) Robert Montgomery/Xfaé HfeT

(c) Richard Temple/faE 3ua

(d) Baden Powel/d=84 diadt

ST —(d)
HAEAT—de Wdd 9Rd § a9 @hiee (=) aan fafaa
MEES T F S &1 ThIeS IS IRITH ars]
o faenfdel g7 denfe fohen s w1 SididiE wmEE
T TERTET Te 2|

146. In many developing countries, three major
causes of death and disease are:

# geg o A0 % A T

HRT
(a) Lack of safe drinking water, increasing use of
pesticides and thinning of the ozone layer.
TISTA I E, DN H FqEar gal
YA 3R SIS WA HI GAA &
(b) Contaminated food, global warming and
industrial chlorofluorocarbons.

T IS, et & el S TRAMT S 3fefi
FARTL BT

(c) Polluted air, greenhouse effect and soil
erosion./¥af¥d AR, UTTERT P FIE S GaT SRS

(d) Dirty water, contaminated food and polluted
air./TaT S, G oM 3R Fafi arg

37 —(d)
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HE-fava & e faemeia o R Al gfet &
T of F@1 S g, F @nit # g e AW F A E
FHROT g9 3 F A B 9 & foAu e arer e 9o,
wiafi s o e g

147. Match List I with List II and select the correct
answer by using the codes given below the lists:

Tt 1 @ et 1§ gae s iR gfeet &
o fear T Fel w1 IUERT HA g W ST HT

AT FAC
List I List IT
il =t 10
A. Gro Harlem 1. Prime Minister
Brundtland Slovakia of
o gRH sigcis AT T TEEAT
B. Stephen Hawking 2.Prime Minister of
Russia
o gifehT &G H JIFHA

3. Environmentalist and
Prime Minister of

C. Vladimir Meciar

Norway
AR fosR TfeRTETdS 3R A
T JEEHA
D. Viktor Chernomyrdin 4. Cosmologist
e <t RIS fas
&<

(a) A-4, B-3,C-2, D-1
(b) A-3,B-4,C-2, D-1
(c) A-4,B-3,C-1,D-2
(d) A-3,B-4,C-1,D-2
I —(d)

ST FReH HSTUe TaiauTard 72 =1 & TuFwa 4
it g B & wfrg FEws awte 4 S e
g sfedR foR Tafea & ugufd o S&fE faeey
T &9 % gd guEEE 9

&9 & g U % AW | A S wy g §
TEN] EET F HRUT g A F BROT TSl AT AR
™ 9

148. Which one of the following is the underground
army of the African National Congress?
frafafaa & @ & @ ket TS HUW wt
T WA &7
(a) Umkhonto/3w@iet

(b) Kwazulu/FaTs[c]
(¢) Xhosa/sisit

(d) Ulundi/3e=1

37X —(a)

STEAT—3THIH TI'QQI"«T HI (African National Congress -
ANC) 2RIV i & yq@ Torfaes qf 21 39 et
TS =&l 6 YAl i WIS Toiifaeh AMUHR o= qer
Fgt F YT Al A gH TS WHER FN e (3T9)
At & faeg 5 1 ® omr & fay &9 & fou

fopam e o) 2. oua queen oTwie UE FiI & g
A 9, R eTwel o SR & fTT e 30 an S
T fodmEr eTHied ARMa SR & @ S ()
@@ﬁ%l WW%WWW@QE-ThGSpGaTOf
the Nation' _E?FFIT%\I

149. Which one of the following is correctly

matched?
forferfia & ¥ H A W e 2
(a) Dr. Kurien Space Science
3f. P after fomm

(b) Dr. Malcom Adiseshiah : Cooperative Movement
i, Howy snfeger TEhl STare

(c) Dr. Abdul Kalam : Development Economics

. 3TgA HaH e srefema
(d) Dr. Pramod Karan Sethi : Jaipur Foot

. yHIE T Tt S Fhm 9
IT—(d)

HE—TIH & ToEH TR SR & faw €.
TAEHT U3l AR § fahat % fog S S S - g,
W ol 7 & fow sfag &1 <. yeieesor 9 g fafda
fPT T ek FHW TGS W For gl ¥ qEw fasberi &
AT T den 37 AT & §9E 81 T S|

ST, e FRAA 9T H WeEd @A () wifa
‘ARIAE TS F AW § o I @ 8, F oyoEr g
forareer & 99 ¥ s = T f. S oEa Fam 9Ra
H T 1983 H W fRU T THPA FeUET FEFHA &
YT SR d9n 9RA F TP |

sf. Aown nfawsar 9a % Wfg srdfered wd e
Td A F ITFRIINE o |

150. Next to Hindi, the language spoken by the largest
number of people in the Indian subcontinent is:

WA SUWETET ® aiell = arefl |remsi &

e ATl eht Faiferes GEaT o AR W = &

o1e fer® T a7 31T 872

(a) Urdu/3g

(b) Bengali/siTTet

(c)Teluguﬁ?fl

(d) Tamil affret

I —(b)
IR U § fedt & uvan waffes
g dlell S ATl Wi aell 81 amell WM 9Rd %
ufTedt S ToF q9T SRy § o 215 fufere o
S Srell ST 2| fRed de sel & ae R SuHerdd §
A T qifehEa  slielt Sl § | e @ 6 4R § alre
arl @ W @ g g Y & 9’ dery 9 @ gEa
T 1 STl q91 90T R S HAY: 0w =i ag
T |
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3E. U, uH. (Witermm) udam, 1994
HHE 37T
' YIA-TA

(STEATIAR TaIyesuT Aigd A&

e |Er

1.

The earliest evidence of silver in India is found in
the/¥Ta H <Iidl oA SUCTSRIAT oh UTS=d €T
frrera €-
(a) Harappan culture/geT T&pfd &
(b) Chalcolithic cultures of Western India

UFeaH TRA T AT Spha §
(c) Vedic texts/afee dgarsit &
(d) Silver punchmarked coins/=idr % 3Ted e &
ST —(a)

ST - =il o SEFaE QR ST 9w § W 8 2|
NCERT (Y€I9 9Rd) &
Tl T & ST T 41 FEl q 9 & s
FHMTE & F 91 A Te: T F TR 3R
S Y T S 2

AR, HEThTSH hlcT, FIH ShieT Tel

gd Hrelenter

2.

Whlch one of the following usages was a post
Vedic development? HA-H
JeT-SIgEd AQIT hieT W TeIferd 32

(a) Dharma — Artha — Kama — Moksha

ud - ord - & - A
Brahmana—Kshatriya—Vaishya—Shudra
SRV - & - 9% - R
Brahmacharya—Grihastashrama—Vanaprastha
— Sanyasa/sE= - TEEAIHH - TN - T

(b)
©

(d) Indra— Surya — Rudra — Marut
T - g - W - W
3T - () 5.

AT — YT HA § Had TegH B @ {Her
21 I dfesh Tl § dhad 9 S & Seoi@ e 71
TR - AF, A 3R a9 # oA Wd 9, g - qoer
FA I, SEEN - T A1 IR & 91g Wl 91 G &

ST YA T FEHeAETe H T 8 |

(c) Worship of gods and goddesses
ERE R

(d) Worship of stupa/&Jd Il

I - (0)

AT — I TORE # A 5 H T HergEy A
ST o1, W] HEE SR H 3w <ad A S a1 adn
I Qo H AW o ff g & Ay T A @
o off O g

4.

“Live well, as long as you live. Live well even by
borrowings, for, once cremated, there is no
‘return.” This rejection of afterllfe is an
aphorism of the/ S& dah

@, <8 $HF 7T /0T & & s, azﬁﬁn biricac
e B S T QAR T A e’ g
o1 feer e aelt 9 Sfert ferdant €72

(a) Kapalika sect/&Mifcteh TWIGH aTeli &b

(b) Sunyavada of Nagarjuna/AFTS" o @R arci s
(c) Ajivikas/3Tsiierhi &t

(d) Charvakas/=Tatehi 1

ST - (d)

Vidhushaka, a common character in Sanskrit
drama, is invariably a/@&ha o g
T ferguer ' W feRm ool AT grar &2

(a) Brahmana/sT&IoT (b) Kshatriya/&i3

(c) Vaisya/asd (d) Shudra/¥[x

37X — (a)

Sieg, S, WNTad Ue g e

3.

HAAT-H5pd Al § fGgus H1 Iuan wifere™, O
X Aehadrl 3 T 71 a8 WA ST avf F1 T T FH

Which one of the following is the most

fom g emi

fundamental difference between Mahayana
Buddhism and Hinayana Buddhism?/stg et

TR 3R Ea gl O daifie Hifeten 3t
frefafaa & s=-ar 37

(a) Emphasis on ahimsa/ 31§81 W &

(b) Casteless society/SfcRfgd FHST

6.

In the Gandhara sculptures the preaching mudra
associated with the Buddha’s First Sermon at
Sarnath is/TTreR- ]l T g 1 WA
F U WO mUReT & Wa WS- TR A
(a) abhaya/3T99 (b) dhyana/&m_

(¢) dharmachakra/sH=s6 (d) bhumisparsa/"ﬂil?ﬂﬂt
3T —(¢)
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e - TR v § ffiq g5 @ gt
qEn, g9 ad R g @ s 21 ged 9w
et # guiar mn 21 g8 S gffd sm, geE,
YR, G T A9 A qgred § g

TR, TR HIA TS g G97
7. Toramana belonged to the ethnic horde of
the ferer STeftar gt <t ar?
(a) Scythians/frfer==
(c¢) Yuechis/Z=t
ST - (b)
ST — ARET U1 o $9 @l § IR W STHA
feham om1 gur wem wftrn # frew e areft sfa ot =y
FUT o U WS i1 o wrenl o ush e o
8. The name of the poet Kalidasa is mentioned in
the/ehTd TSI & ATH T o1 feRa gt 272
(a) Allahabad pillar inscription/SAREIE ™ @ |
(b) Aihole inscription/ﬁ@? % I g |
(c) Alapadu grant/3TeqTg aFerE |
(d) Hanumakonda inscription/ggweie 3ehivl o@ #
ST - (b)
W — F9 FHEE & AW F Ieoh@ A AR
TAHRH 3t & Ui aifireia # ger @, fome W
T on1 R & Fofera % STW T IAg T IH
T & fas el @ avie 3u% e Hfa gRuo
ZR TAREIE W o H A T 81 A T & =
am § o sifufed forem S aTen 77 W o 3H W W
gl 2, e W A e erie qew @ sl Seht
21 T W o W ewie # T FeArs kAW B
Ig 2l

800-1200 <ht T=TTereh |THTIS feerfer

9. The statue of Gomateswara at Sravanabelagola
was built by/ <l

frmfor feamr shtama ar?

(a) Chandragupta Maurya/=sa 52

(b) Kharavela/GRad

(©) Amoghavarsha/mqﬁﬁf

(d) Chamundaraya/=M{e™

ST - (d)
AT — T (FAled) F T WHE F F T Ave
T 3 FAlesh H ‘Gaveerlieal Ae WH § 109 Idmdr &
ey § agaet MHdvaR @ foeme sfomr @ i s
g e Sl % vem @R wEuWRd k[ agee
THAveR & 81 FeT 8 {5 THdver &t sfewr o9 od 4
wEfa 9Rd # wed fgwmer (17 W s i @
THAYER Sl AT 1 FETRAHISS ag gHEm o S
fpam Smar g1 W Fw @ e a3 e
sify THg FAleH & gvEeren H & foEr w W
TZ A T 298 €. Q. H Heow T (SUE) 5N g 6
T fHar or1 S od B EeR HE 9 T 4R F
T & - 353, ASUS, TG HE, Hew R WA,
TPEe TS SFHEas q91 = wEe |

EAC RSl
# fafira

(b) Hunas/g01
(d) Sakas/Trh

10. Which one of the following important trade
centres of ancient India was on the trade route
connecting Kalyana with Vengi?/yT<fiq 9Ra &l

frafafgd § ¥ ®F-91 TE@UUl AUR hE 39

TR A U A7 S SHeATuT il S | Hrgar °r -

(a) Tagara/dTI (b) Sripuram/#iqX

(c) Tripuri/Bgd (d) Tamralipti/dHfaft

ST -(a)
AT — THEH 9RG § W B H HE@qU AT
Fx TR AN H TAGEAT FeAwT B G AqH
T S Sed a9 R A o1 Je @
amfafa, Bl <@, a1, @™ T WS TR #1A &
I W@ FECTE 4| AR A H SR A
R q9T 9ff STEHI & Hera®y THAdaIg H 38T g |
11. The caves and rockcut temples at Ellora

are? ﬁwfbﬁ?‘ﬁﬁ?ﬁf‘-‘lﬁ{(%—

(a) Buddhist/atgl &

(b) Buddhist and Jain/atgl 3% sS4 &

(c) Hindu and Jain/fe=ga1t i S &

(d) Hindu, Buddhist and Jain/%ﬁ?:ﬁ , sitgl 3K S %

ST - (d)
AT — TAN & [HE TGRY & TR e § 9%
(TSN s F W 74 § odf v & d= fAffa &6
TE| THH PoT 34 Vorhd TwIST §, TH T 1 T 12 T
dtg ¥, TR EET 13 ¥ 29 T feg o & A T
T 30 ¥ 34 A A TEE S ud § @G 1 e
# w H 10 TR €, Gﬁﬁrqéamﬁﬁaaﬁqfﬁwﬁﬁ
R e 2 o wel % T At s fmin ageket % wea
# foFar T 21 39 T Al § e W F1 JUH 5N
fafifer Sharer o Afew wEipE 2

feeett Hoa=a

12. Who among the followmg lS said to have

witnessed  the  reigns eight Delhl
Sultans?/fr=fefaa & & %{ﬁ faeelt & o8
G ol IEA @ ar?

(a) Ziauddin Barani/SEEeER st

(b) Shamsi Siraj Afif /Irg-3-faret e

(¢) MinhajusSiraj/f8r-39-faTs

(d) Amir Khusrau/3mR G&l

ST - (d)
ST — UH HA1 S R o gE (1253-1325) 3
feeell Temd & ST oWl &1 WEA @1 ATl THE S
IR Y & T et & ufeareh i H g o ag e
feEedy Teqe & T feeel e qur T
F T TF @SR gul & TH-u-fee’ % AW | S
ST 21 3R GEU W el F1 Yadeh o1l 3E S,
W A ReRedE e 4 TRy, e
39 s 7 ‘TEem-T-ARE dur o 4 ‘aiRa-T-
FRUISTRIEY e Jeehi bl Lo |
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13. The first Indian ruler to organize Haj pilgrimage at
the expense of the state was/XTSX T & oht
HTEAT I ATAT UEAT WA ITHeh &AT —

(a) Alauddin Khilji/3te=ed Raersit
(b) Feroz Tughlaq/ﬁv‘ﬂw UNED
(c) Akbar/3Thsk

(d) Aurangzeb/3TSe

I - (b)

T — RIS TS (1351-1388) Heaqd il ol
FHAUHN HHT THS A AU HeAvER HE &
Sia fRsTee TS 3 5 ae A GRarE, 1200 Hel &
I TEN, YR SHER S SO S geem o,
foeranett e wefFal @ W 3 TaH-T-BUd 6w
U fo9ET T Y q9r < I & e Eem-
TEe AW ¢ faum # g & sHe eifie
Fed ol qHemH FRISRE e J WEd (TS @9
R el & U Fom-adAT i FS TE H HaEd S
I FoH ARG I ATl RS T et ol
EEM EER T B A F@, a9 g s wooff
ST FT o XA TR WeM F T 1882 H AU
TARY A ¢ g HI Fafad fRaT| SR e & -
T-3AR! B EHR F A A G 91

HITeT |QIUTsq

14. The Mansabdari System introduced by Akbar
was borrowed from the system followed in/3TchaX

= 58 Tweet guelt Wt @ feRer @®

ferm o1 B yrerfera yumet | Sa oft weft ofi?

(a) Afghanistan/3THIEH

(b) Turkey/@'cﬁ

(©) Mongolia/W

(d) Persia/®R¥

3T —(¢)
AT — 3TER (1556 F 1605 ) g @1 & T 44
ST B TAGEER b AH ST Sl 8 | STeha G
F T T AR e § 39 AfFadl S 9HE 57 Th
T2 eI fRam S e, S I 64 H ' 9 few I A
T% H TAES TH I TGV W At FI FAGEER Fa S
oAT| STFI R AN Sl T8 FAHEEN Faee Haed =dr =
ol TIWAT T’ T IUR &l T off | Ameart e
¥ 9 ¥ A & daq iR wfaer # qU AR ue q
TSHAR T H WG H I A ATl AAGIEN B A
T W@ SR I w9 A fEm S e SeiiR % 9ne
TR 98 H g-3re do ‘T ST i e & S|
15. Who among the following ladies wrote a

historical account during the Mughal p;riod?

TITCTRTA |

Teraur fora?

(a) Gulbadan Begum/Tcieia Ep)
(b) Nurjahan Begum/ Tt Epcs

(c) Jahanara Begum/Sigia Epe)
(d) Zebunnissa Begum/ Sz 7
ST —(a)

The shaded area in the map shows the kingdom

of the i T 9T & —

(a) Satavahanas/STaarg-l

(b) Chalukyas of Vatapi/arardt & =refi &1

(c) Rashtrakutas/Tg&el &1

(d) Marathas/™3[ =t

ST - (d)
T - &8 T3 qERE F1 SEifhd 9 7GRy H i
2, S WE & Usg ¥ gefm 21 178 wasd § g
qEeg & faeed % uvEn RrEsh qor gvEnst & oerHe
ST W # WA 9T & adH HENIY, Sl qdr
A WY F WA F P 9 H ggl R MU AeE @
DA AT TST NG % T8 A7 Bl T B 21

megfen sfererd
I WU ol foges wad gqude
ATIUTST Al JIET

17. The first Indian ruler who joined the Subsidiary
Alliance was/9gTgeh Wi &t ElSl

UEEAT AR IITEeh o7 —

(a) the Nawab of Oudh/379Y =1 Had

(b) the Nizam of Hyderabad/?W EIREEIE]

(c) Peshwa Baji Rao 11/9¥raT asie fgedta

(d) the King of Travancore/m EARASI

ST - (b)
T - T Sy EHR H el gl WEE 2alae
&1 fomm o1 gerEss §fy s} ftafed Tl § deeg @
fasm 1798 # wem o, wefh AR w0 T R 1799
¥ geras iy wier fFar, 91 oy % AW 4 GeEs
Gfer &1 1801 & Thepr o o, gafere & fshew (b) 21
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18. The capital of the kingdom of Maharaja Ranjit
Singh was/WgRIST Wishta &g o T b
TreTerEt ot -

(a) Amritsar/37gadX
(c)Lahore/Fl@I
ST - (0)

e - fral @ geEeEten fea ¥ 9@ R

W fig &1 U9 999 § ARR a% faRgd o1l HenST

ORI g S Torifas ToeHT ARR qer iftis e

saeR ff S, 1839 H weRen weia fiR @ g &

YN 1845-46 3. § WeNT fiefiu fig dur SHN TMaX

SRA A FET H TSN & o= g a-fara I8

T3 T 184849 H @ seRS A fyd -

fierg g = 2 5 wfas FIRR v o fig @t

FHE WEE VEST § u gan o, 9 A

fhet ¥ TR o T o1, 3R R fecfy ffg 7 wowh &

gy fm o Seoeg @ 6 el fie T etoe e

ARR & s @ @ren o1, e gt dod Gwd w

W T 9

(b) Patiala/gferer
(d) Kapurthala/&qxgeT

AT — IS & HIAq & 3TaRke "wal § ST TWHR
g foFT ST 1@ g%l & BROT TR H A YK 9 (1800-
84 2) 7 3 & favg fosie X feam) oHeH 4 1849 H
s € 1 9o § St fEn 9a ¥ g4 F a” gin 9
ST & fows O WhRT ®, 7 1857 . & faxw #
S & faars TReA g8 @er T § 1861 | SIS A
T OE F ST FWEE H OGS & BerEwy 28
HEd, 1884 H YLK WE # S H & 9g & W | WER
e &% 1833 2. o @ anfears fomig i = o

21.

Which one of the following upheavals took place
in Bengal immediately after the Revolt of
18572/1857 & d% g §me H

frafafaa & & == a1 fawra gan?

(a) Sanyasi Rebellion/d=r€t fagig

(b) Santhal Rebellion/ge fasig

(c) Indigo Disturbances/=Tal 3Usa

(d) Pabna Disturbances/dsT 518

ST - (0)
HRAT — T 1857 & fa%ie & Ji% qval s H 69
1859-60 3. # AT FHRI H Halfgw AUH T JHE

19. The first to start a joint stock company to trade
with India were the/YTRa & WY SUR & fog

FEAGH HerT YSit Heut foReT T+ TRE 7

(a) Portuguese/qAMe  (b) Dutch/S=
(c) French/3= (d) Danish/gfer
37X - (b)

AT — T 1602 H €9 (Fivs) T8 g TRd T g
TS ¥ Uh HgE S9 $ gfear dEAr s T g
TH FE B 9 TEG 3/ 21 IO F AT 9RT W [ F
39 & WY AR H, MHAUT UF T F F g §
YR T W gam €9 fw Efean e @ Am afme-
e e HUEr o1 Tg FF HEAE B Hems = o
TH YR Ig RA & 919 AR i & [T gu9 A
Frr off | Bfewr werEr wfersmey wow % g faw w15
Fifg =R fER-TT T faEeR 1600 3. H SHNT §=
gfean wrot S g S ) S e e Su (FEa
g ey sifdec) ot o g 143 o e g7
1664 3. § & TE, a9 9 (S $R Efear S
1616 H 1T g3 oI

(-3 T TRA Fegra-TTe’ T T9TdTer )

1857 ot farsig, 194 ITaT=dl st SR

20.

Who among the following was the leader of a
number of anti-British revolts in

Sambalpur? /GeTqX & Wk fafeor-femedt
fersigl &1 e fr=fefaa § @ i ar?

(a) Tirat Singh/da &g

(b) Surendra Sai/ﬂﬁ’ g

(©) Kattabomman/%‘d@‘@ﬁm?

(d) Sayyid Ahmad Barelvi/82% 31898 sieldt

3T - (b)

ST g3 | AR 1859 # er & e Rt 7 e

<fer @) S e e 91 T A % g
glves qast 4 370 STEeR & W ¥ A
wﬁqmmmﬁaﬁmﬁm e zdor § i
AN Afeishl o TR F gen oo
F Tholedl & Berawd 1860 H et R i fagfa
T 39 IR q fea () @ A Gl we
eI R T e e Bse 187376 € H

fosie 1 Sooig sy =% Jes 7 319 ST ‘A= WS
# fbar @1 G onfeerd fose MR wd Temed #
1855-56 H fiTg Ud g & A9 # gaT oM

22. The s1gn1ﬁcance of the Bengal Regulatlon of 1793
lies in the fact that /1793 o e ht
fafdts wrerur =/ or?

(a) it provided for the establishment of the Supreme
Court /31:@ {~I°|IU=I T i TITAAT a1 IS
Iqrl
it restricted the application of English law to

Englishmen only/39d 33t fafyr &1 = Haa
ST & forw <fe &1 e

it accommodated the personal laws of Hindus
and Muslims/38¥ fgait 3 quemHl & e

faferl st off o fea T e
it provided for the appointment of the Indian
Law Commission/398 wRd@ fafyr smam =

frgfaa =1 3oy a1

IW - ()

(b)

©

(d)
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T — 99 1793 §. & AT THe R HPT & =R
AR I 20 a9 & AU S@ET T, T A WA H
AR g7 forar e der Ax JEefREl o e feEr

AT — HeH B HMA, TH. Slehdeat], d.aLTH. 3R
3R THEA. T Toft T Hiebr & 3R T STaer
A 7 IRG ¥ AT fofey =1 HW A @ 4

TN 39 T g TR SR & qRue & g4 gei
AfaRe 1793 & 39 9T TR & q99 oW d@ o=

' g 1833 & AR THE B @ TR A

el

I IEE ST 9 R I w1 wewE A T 3@

I,

ff 9 TR & 5 e vd qHeHH # @iga g
Tttt s ff G T e YoM fher e §ied @
o5 G H Fafed =Ae F WA T 1773 & 9L T
g aur ‘fafr smamr (Law Commission) IR fafyr gee

25. Which of the following international events
influenced the course of the national movement
in India before the advent of Mahatma Gandhi ?
[wgTeRT et d O | i
it foon & frefafaa o / fora siavidia et 3
wurfaa femar an?

1. Ttalian-Abyssinian War, 1898
sttt

23. Those who joined Mahatma Gandhi during the
Champaran struggle included /oremur werd )

Trrafeafiga o @ fera werenT Tieft =t drer feam an?

Vallabhbhai Patel and Vinobha Bhave
Fead 9 gee R faer 9
Jawaharlal Nehru and Rajendra Prasad
ST A AeE R TOR TR

(@
(b)
©

ToE TR SR SR AR

(d) Mahadev Desai and Maniben Patel
T IR AR oA

ST - (¢)

Rajendra Prasad and Anugraha Narayan Sinha

1898 % EI- Jg I
2. Boxer Movement in China
EIEaES
3. Revolutionary Movement in Ireland
SRIfdeRTr STTere=
4. Victory of Japan in the Russo Japanese War

FH-WUH & g § WU i
Choose the correct answer from the code given
below.
(a) I, 11 and 11 only/39e 1,2 3 3
(b) I, I and IV only/&eaet 1,2 3 4
(¢) Il and IV only/3ee 3 37 4
() L 1L 1 and TV/1, 2, 3 37 4
IW - (d)

AT — FelAl el SHadt 1915 § Sfyor o1l ¥ 9

AT - e e T e, 1917 § I9FER YA
foor W foRR o =P foet & el Fwet wfRT S

PR AN fg, TER i, A9eed &%, S
FIAH, I fHUR T4 WEIRd <6 Ff o1 T S &

9 T Sfafa A fgfaa @ e gee s off 9

&
®

AR & fo%g 31 JUH TIE 3T&Ie 1 Tl Hgcd
| —mRT TR § e miell & 91y 6. g y9E,

1.
H

TN TAWE § URUTHEEY THR Pl SO ST &R
FHTAT TSI A Fpu s FHEeT F QW HH h I TWHR

JIH M qdq 1917 H FEAWH wRA (fer) ¥ iy
M=o § Yamdur fRAT) meTe T % U erieM §
A B & T8 ARG Sl TRie Fl a0 §
YOO & T T, YT g7 SRICHSRI dtehd b o T3S
Tl H TS Heb I A I W/ A1 ganed 39 I
F WO SEA-IHA IE (1898), TH F AER
ATEIeH, AERATS F Fi<HRI Y=l qdT 9 1905 &
TY-SUE g5 § SO 94 6 faem #t siaddie geret
¥ o & W W IRAE wife eTied 1 wales
T SO S B 39 5 &9 # WeF 1 fFa

24. What is common among Madam Bhikaji Cama,

M. Barkatulla, V.V.S. Iyer and M.N. Roy ?
qqw
3R . . T W = @ e eft?

(a) All of them were leading members of the

Intemational Communi.st Movement

HTT, TH. ehdea, ot 0. TH. 3=

TR T I
wfifereh WTEAT/ 31T d5/9Ta I

26. Consider the map of India given below:

e § sl gae 4 e e T e & A W -
(b) M. Barkatulla was the Prime Minister and  the The map shows/s9 ICER:] qgTiaT = %‘—
rest were Ministers in the Provisional ]
Government of Free India established by a group 1
of revolutionaries at Kabul / T&h A .
T FEA H EAT NG @ S ST TR T o,
IGH TH. Sehqed T & 3 9 @l 6
(c) All of them were among the prominent
revolutionaries outside India operating in
different  countries  during the Freedom |
Movement /3 wh F{g@ HfaTd 9}’ it W (a) an isohyet/THh guent J@n
T e P sy A A § A fofaw @ A | ) ndia water divide/sRae SR 9ot s
HTH B @ A (c) acombination of national highways
(d) All of them were accused in the case relating 5 tu\(:)pﬁ ks
the throwing of a bomb on Lord Hardinge/ (d) a combination of major railway routes
T TR W B S ATt 99 F W - i ) Rk g
ST - () I-(b)
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27. Which one of the following types of erosion is
responsible for the formation of Chambal

Ravines ?/99c W& & Wie-GSE & Eal

R frafafad § ¥ forg grey o1 Tuve §7?

(a) Splash/3EmeTa" (b) Sheet/=mad

(c) Rill/ggs dfar (d) Gully/3TaTfeTsht

3T(d)
METoE GRAT 1 AR ®9 @ sEAfeE g1 4
FEATART U o V 3Fgal GO 3feIcrh 1 SThR T80T
Fh Tl 1 TR LA &1 9T § Wrofr % YR # fom
T AL FT AR G STAANCAR WG § HaAlfys yufed
&7 81 SFAITCThl STNE & IRUTHEEY & wee " #
el Wie Ud @eE! & i & e Rl
28. In ancient Indian historical geography the name

‘Ratnakara’ denoted

T § TRt 0 gk AT

(a) the Arabian Sea/3{d ¥R &

(b) the Bay of Bengal/s el & @Iel &l

(c) the Indian Ocean/ &= WETHIR

(d) the confluence of the Ganga, the Yamuna and the

mythical Saraswati at Prayaga/Jam # T, FHA1
3R Ui T Tt % S

3T(c)
ARG & Wb Uiy S fFe awg &
T e Wit # w-T M@ @ g1 T 9
Ufeerfes il § R TR &1 R 91 ¥ g
e T 71 (BNA-STRE ST Ye—erg T AHrRam)
29. The average elevation of Tibetan Plateau above

sea level is % TR W WER a9 °

B
(a) 2 km/2 T, (b) 3 ki3 T,
(c) 4 knv4 T, (d) 5 kny/5 fopHl.
IT-(d)

ITEAT-fiead H YR fEHed Tdd kI IR FA
Tdq & a0 # 4,000 § 5,000 HeX F TR W 2@ T
oh @ H S R ufvem § Ry qun Fh P
foraf oo €)1 (Ea-aRa 1 e-erg s A
30. The only anthropoid ape to be found in India is
the /ST ® ST TeRHTT HATASTST ST UTAT HTAT §,
T B

(a) hanuman monkey/gJAM d&l

(b) liontailed macaque of Western Ghats

o1e f&e-qeel wehreh

(c) slow loris of Assam/3T8H &1 T=R ANG

(d) whitebrowed gibbon of Assam
319 & veay fed

3TH(d)

T 1. A AL, i 7 59 1962 €. § ¢ urg 59

Sa & fA=ct S9e q9n a1 # (ARA) WIS H | AT 140

ARG T qd i (T § fa # A g wear

Y T SRS TgHS oAy s 911 9 9Rd # ur

ST AT THAE A S 2 |

(ET-RA T YT ATHIREm

31. The Himalayas are formed of parallel fold
ranges, of which the oldest range is /feuTe= <t

T GHIER g gfvrEt # g8 §, R | yrefiaw

gruft &-

(a) the Siwalik Range/fymafers soft

(b) the Lesser Himalayas/f= fgarem ioft

(c) the Great Himalayan Range/J&d_ femrera sioft

(d) the Dhaula Dhar Range/Te&R Sioft

37H(¢)

ET-feneE gt # ofiaie wigadl ¥ eRma &

JeH % gz 9 @ fafdd afem (fold) ved 21 R

A o IR @t faema -aoht § aed ged % IR

faffa gom 21 Foral fafter Sifora o1 forebre forsr-farr st

7§ goT oo &l Ta Wi 9aq 9o ged fewrers gof

#a § fffa ot §) v 9 fefas soft e @

o e gda 9oft 21

(EA-ARE 1 Je-erg e amram

32. The hallmark of watershed development in the
semiarid regions of India is the /9Ra ® ITE-ITh

N H W7 21T TerehTd ot wHTuTeR g 3

(a) establishment of sheds on large scale, so that the
rain water does not evaporate /a8 THH W el
F1 TG, qF a9 F Tt A | &

(b) undertaking of earthworks, soil conservation
measures and treeplantation, so as to conserve
soil moisture and recharge underground
water/Jal 54, -TREI0T 3T AR 1 STHH
T ga1 & T ThRm © SR simifw S @1
T BT R

(c) drilling deep tubewells so as to tap water at the
rockstrata level/Tet Tagul &1 I, I Tel T
T e 1 fTshrEd g g

(d) setting up a system of tanks by banking water
from seasonal rivers /AEH ARE ¥ S &
TeAHRT Fich TR o 77 bl LT

I (b)

AT G T ¥¥ % ER 39 3ugh S (b) 2
FifF 37 Y &F TNE F FE WA § @1 T g1 T
F gfr § g Sy - U SR JERI H IUHT ¢
TR gar s T SR W SR S WA B T [
T @ | T8 T SefhIeIn A |
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33. Consider the map of India given below :
T 9RA T & T
The map, read with the index provided, refers to
the distribution of /fqW @ )
Y @R FATC Toh o fermen feravor & daof o &7
L I

(a) winter rains/3fiaebrel a8t

(b) pressure/ad

(c) annual rainy days/ate st & fai @t de

(d) mean temperature/HTET AIHAT

ST(d)
M-I # T 9N % AR B e ¥ wWe ?
T 9gRG % W a9 S S e w81 oSy wg A
9 & ufvet W (USE, o) § aifes aree e
S 81 ¥ g H 9 B A9 e TR a% uge S
21 i e o Feqel % dre (A-anten) # S99 ofwd
e q9EE T Sar 21 e faaer i At § gwi

q(g‘l?r_lww Pe-agyst amian)
g, 9, fugt, faend uResend, sy

34, frer S gere fou 7w €, RAH | T @ wma (A)

3fIT AT T HWT (R) FET T -

Assertion (A): The monsoonal rainfall decreases as
one goes towards the west and northwest in the
Ganga plain.

HAT(A) : T & HeW H e HiE qfTew 3 SR-uig=m
I =l q A e g8 e

Reason (R): The moisture bearing monsoonal winds
go higher up as one moves up in the Ganga plain.
HEW (R) : T & ' -3 IR I aEd
S, AT A ga 3R S S e

In the context of the above two statements which
one of the following ‘«132‘ correct?

HUX wed o fmfeafaa & | =

o1 wE &2

(a) Both A and R are true, and R is the correct
explanation of A/A 3R R A @ E IR A A
& S R AT 7

(b) Both A and R are true, but R is not a correct
explanation of A /A 3 R &Fi 98l § W A & &
IRAT R T& HAl &

(c) A is true, but R is false/A T& & T R T ©

(d) A is false, but R is true/A Teid @ T R @& &

I (a)

- T & HeH | At FE ufved iR I-ufvan
T A T A el g fe Fifs T % dem
1 - SR F TEdl AW, SR TG T 3R
FaE W Il gE frentt

35. If safe storage is to be ensured, the moisture

content of foodgrains at the time of harvesting
should not be higher than/aif¢ @Tem=it T TR

g gHfYaa &1 8, O HeE % WHA S
JTHAT 9T Fehae wierota & ek & g =nfee?

(a) 14% (b) 16%

(c) 18% (d) 20%

ST(a)
AT G| o GUar JUSRUT & F & faw
HHA H FE b THA IS b I H TH 7l A
Sfrhem T 14 S ¥ e T g =few) e
I fw AE THY S g W W & g adr 39H
BTHN Bl & o & GHET 9 T 2| Seoia 8
fp querl & W 9 % yvE @EE ¥ 19g 14 vfaew ¥
31 SEar o A aftad & & urdt, e e # @i
T AT T P ST T I 2|
(BT ST e it "THREm)

36. The highest milk producing breed of goat in
India is/TRA H WALk & I ATt Teht ki
T
(a) Barbari/sRa{t
(b) Jamunapari /STHATIR
(c) Black Bengal/@&Tcit STeA!

(d) Beetal/sitdel
3T—(b)

SEAT-adqH § S & gfy 9 and § fovg &t gaifees

IRt T Sl £ T S wme I & g9 # e

Te GRfeEm # TR W w2, e sme gy R

(T.B.), "R Td AfER & 7S & fow aga arwaes

A Bl ARG B wd A GEd gl §em fgeet T

SR’ B 1 S T ool weifes gyt @, afeh WG %

fw off So9 A% A ST @1 9RG $ gurE asial H

T -SHAT, SRE, fidet der SR 81 Jed @ g

¥ galfee swfal g § ol o 81 T el

gwﬁwmq@g(qgmﬁf@a%
_RA T TA-Tg s 7

37. Farm land tends to erode most rapidly when
planted with /&Y gftr ¥ fermer drer = | o
T UG AR gt | 2T 87
(a) sorghum/E‘T‘Eﬁ? (b) potato/ 3]

(c) wheat/Tg (d) clover/FaR
3T—(a)

SRET-Ga] WS (GN0T) TS fifess fpan 8, s g

7al gard U E ¥ g WE R 9 KU 96§ ga #

O WA G A1g qd 9 & 6eAd § WEmRd @

ST 81 g6 1 G&T &R0 (Soil Erosion) %ed § HY g #

T s7afq SR & Tl 7 Sl g0 ga & ke T

H el L XA A 3| Berawy qfy e S

dioe % WY g9 NN 21 T WS H Uk & forw

HEA! Bl TEA-TZA B AT (A =R
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38. Which of the followmg fish are bred exclusively
" | @E-

in the cold regions of India?

Hi o uSferEt wr URA o kool 3 & W g
WS B §7

1. Catla/hdell 2. Tinca/ e

3. Bhekti/ % 4. Trout/ZTRE
Choose the correct answer from the codes given

below./S& feu gC ®l ¥ W SW & o=

(a)land2/1 3R 2

(¢)2and 4 /2 3 4

JT(c)
-G & g fmer o TR’ wefad &t
Yo, R % 3T &F # &I &1 Safh shaan, Yehdl, g
e fim wefert ara F @l ed § we S @1 g
T B H TEACE & T ASel o AR & fora
g 81 Feferat aRa & frafa & @ e §)
(ET-RA T YA-ag s ATHIRE)
39. Which one of the following soil types of India is

rendered infertile by the presence of excess iron ?

I T YT UET 18 e

aﬁm@ﬁ%wa&ﬁr@mwm%’

(a) Desert sand/"F&Eelid a1 (b) Alluvial/STee

(¢) Podzolic/TrEsifers (d) Lateritic/®ieUgie®

ST-(d)
T ege WHag Medl 8, S 9Rd § o 1.26
o ot feh. § faegd 81 5@ PRt @ Fi e wd

I TEE F HEE uRadd & ror e @ shear

(ﬁm%mﬁmélmﬁm%wmm
T B W Rew = T o g

(b)1and 4/1 3 4
(d)3 and 4/3 37 4

40. =T ahl Wt o [T ARV Terarg TRIEATTT 2
(a) rainfall above 100 cm temperature above 25°C
100 ¥, T T At 3R 25° C ¥ HW A
(b) cool and moist chmate for the entire crop period
wod A Ol 3y F o 3 SR AW o
(¢) rainfall below 100 cm, temperature below
25°C/100 T, & 9 9t 25°C ¥ F AT
(d) warm and dry climate during the entire crop
period/ T FEe 37af F HB TRA 3 Y FAag
IT—(a)
STEAT-T9d 3T 3T Hieaw F Tl g4 F HROT T
3R 37 R H fviveRt STEr S 21 39 fow arome

forga =1 e
41. The colour of a star is an indication of its
AR T T oI &
(a) distance from the sun/gd & &
(b) luminosity/3ge! S 1
(¢) distance from the earth/3qat gt ¥ T &
(d) temperature/m GIERCAl
IT(d)

TR & faftd ‘quisq (Spectrum) 3T9ﬁ'v[ ERCARGCER

2 o fafereor &t fgar % emuR W ani & 1 i feifa

fepar wmar 21 Rt off AR 1 7 3G AI9HM H1 o Qe

21 & (T A7) F T F A9EE 5500°C F 6000° C

g 21 g & T fen da @1 Ak § A gomd #

f3e & 3T 309 B 2 |

(Ea-fova w1 -G HTe)

42. The time taken by the sun to revolve around the
centre of our galaxy is /AR ATRIIT T & hg Y
UReRAT T B G Rl THS T -

(a) 25 million years/2.5 %ﬁ%’ CL
(b) 100 million years/10 Eb'ﬁ_S’ Gl
(c) 250 million years/25 %ﬁ%’ Ty
(2) 500 million years/50 Fg a9

IT(c)
SMET-HE T e a’ & ferd 99 g1 R
sfespe TR oEl g femE T el W A ww

T T 25 FAS TH BT THA A 2 |

(BT-fwal T ST Jere)

43. The length of its day and the tilt of its axis are
almost identical to those of the earth’. This is true
of//Ush g o fo &1 W 3R STk rer T
PR TN Yeeft ok fod WA iR FgwEE &
wAge gl
(a) Uranus/ZA9 & fawa &

(b) Neptune/~9=g7 & fawar &

(c) Saturn/¥f % faway #

(d) Mars/57at & fauar §

I(d)
SRET-HTe 78 ¥ YAl % guM & & g4 (Poles) ¥l T
FE S W 20° F BT W FgH 2, o oo 9 Tl

TG B9 200 YegEE ¥ 270 AeAd F a9 § e || IE # @ & Hg Radd e g
Tfgw | =t & 7Er g 200 . B TR (Ea-Tave T e-gIoT JdTe)
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T IS
44. Consider the map given below :

W e AT

The numbers marked 1, 2, 3 and 4 respectively
indicate the islands of /1, 2, 3 3t 4 3 I
T fTrafafaa gt & gaes &
(a) the Bahamas, Azores, Falkland and Cape Verde
&I, TN, Fishels 3R ¢ sfady
(b) the Bahamas, Azores, Cape Verde and Falkland
(c) Azores, Cape Verde, the Bahamas and Falkland
(d) Cape Verde, the Bahamas, Falkland and Azores
¢ 30T, TEHI, HeheE 3R TR
IW(c)
A9 § KA fohw T foree Amfem 7 1, 2, 3, 991 4
3l @ 3ifehd fhT TC M HAL: (1) WK (2) 9 =T
(3) BT 3R (4) Biwelve 247 1 TG F 5

45. The greatest d1vers1ty of animal and plant species
occurs in /FTUTET 3HR ﬁTﬁﬁlﬁ 31&%"2!

Ferfererar fireret §-
(a) temperate deciduous forests/¥fiarT qufardt s+t &
(b) tropical moist forests/SWTHaY & 3 a4 §
(c) heavily polluted rivers/3fafereh Fgfod Afei #
(d) deserts and savannas/FeEIdl 3R FaMT HeHl
37-(b)
AT faged W@ % aH SR 10° IO qer 10° sl
PRSI % ST ST HiESET A &7 U I § Fl A W
I 3G A9 (AT 27°C) U ST €, a9 9ol
aut Bt @l 81 I A9 997 I=9 AT (3HA At
it 200 ¥ & FROT A T TR T 74 T 3R B
1 el W W, e, wEe, Jsee ofE % o ge U
Gﬂﬁ%lﬁaﬂ‘ﬁﬂ?{ MRHT & ST Y, THHT F
Fl AT qor wfrEn § wefder g gveniEr § e S
g1 39 a7 yeur | Wit 1 waiferes ffaem o s 2
46. The acceleration due to gravity of a catastro hic
earthquake will be /ﬁl‘ﬁ?ﬁﬁg p
HITUT ST BT
(a) > 550 cm/sec’/> 550 THI./A.2
(b) > 750 cm/sec’/> 750 TH.A.2
(c) > 950 cm/sec2/> 950 TH./A.2
(d) > 980 cm/sec’/> 980 Tw./A.2
IT(d)

- AR F F ed & HRU @0 H OAA
980 cm/sec® T 9.8 m/sec” T 31 B

47. When it is noon along 82° 30' E longitude along
what degree of longitude it will be at 6.30 am?/S&

82° 30' J. I WY WEATE & a9 UId: o 6.30 foh

IR 31T WX AT ?

(a) along 165° E /165° . W

(b) along 67°30' W/67° 30" 4. T

() 0°E or W/0° . a1 4. W

(d) along 82° 30" W/82° 30" 4. T

37(¢)
A9 82°30'° Gdf I9R o/ 9Ra &1 A9 THY
(Standard Time) AFT ST 8, ¥ qeare omgfq i 12 a9
BT, T I F 6.30 T9H § T A= 12-6.30=5.30 TS
B 3 4 fFE @ wHE 1 SRR Tl 9N e #
AT 81 TEIT 5.30 U H W WM B -5%60 +30/4 =
82°30' TR | W 2 5 g IR @M (° Fearg @ |
fer 81 Seaaa 8 6 0° e Aefee Y o° e
W W A g SeamE § 00w defae
R T B S A=A () F U E o g
Tg 0° qd stear ufvew I & g gw v @ A
i ZTE el ST 2 (Sa-ferve st ie-gieT UETe)
48. The first bird is believed to have appeared on the

surface of the earth /gedt & acT W wow vefi =1

TgHTe el FIAT WHT AT 82

(a) 300 million years ago/30 HUg ad ‘{q‘

(b) 200 million years ago/20 g a4 ‘{q‘

(c) 150 million years ago/15 HUg a8 ‘{q‘

(d) 100 million years ago/10 e a4 ‘{q‘

JT(c)
eyl & fafes ari ¥ wra e Sftarest st
el 7 FE SRm g W fafy feiRe & 2 suw
TR T AT 3T HIei & STMHR W Yot & T T s
oferEl o wigHia @i fafa @ 135 we ¥ g e
T 21 TH q2F % MU W I & faHeq (c) Fehead
TE ST ¢ (EA-fava T YE-gRIT Juie)

49. An aeroplane takes off from 30° North Latitude,
50° East Longitude, and lands at the opposite end
of the earth. Where does it land ?/Teh femT 30°

Il 3rgivT, 50° geff 9T | ST AT ® 3R
gedt U ferudia R ox i Sawar & a8 st sawm?
(a) 30° North Lat., 50° West Long
30° ITY SwAEn, 50° ufvet IwR
30° South Lat., 50° West Long
30° aferoft sverrer, s0° uferdt R
50° North Lat., 30° West Long
50° ITr 3weren, 30° Ufve
30° South Lat., 130° West Long
30° afRyult awrer, 130° gfvedt IoT=R

3T-(d)
- faswed & SER, T famE 30° 9 eww,
50° gaf IWR F ITH WA & I geAr F fawdhia R W
f= saar @1 o1 @ 30° SRl swiw @er (180-50)
=130° gfYem et # Sa| 39 SR fHweq (d) wEl 2

(b)
©

(d)
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anTfereR sTmieT

50.

Match List I with List II and select the correct
answer from the codes given below the lists :/G=ft

L@ ge 1 @ gAY ST ghre % e
feu gu et =t WerEdT ¥ W ST w0 oA Hit-
List I (Crops) List II(Crop Pests)

geit-1 T 11 (HEE AT Site)
A. Rice/=mad 1. Aphid/uftrg
B. Wheat/T§ 2. Gundhi bug/gEr AT
C. Sugarcane 3. Greasy cutworm
e 3. dferan A
D. Gram 4. Top shoot borer moth
Bl 4. i g FuE wew
5. Bollworm/Tei® 3oty
(a) A-2, B-3, C-4 D-5 (b) A-3, B-1 C-2 D-4
(c) A2, B-1 C-4 D-3 (d) A-5, B-4, C-1 D-3
J7{—(c)
STET-1Fel S-S § aell S Tl Wi e 21
A Fa § T9A F WG B GEEaE AT SR

THE HIA T T HHATLN
e & 6 9 i Bee § ‘et ot I e @@
T H Frgem wH T W, 9 H IR W a4 T H
HHA § A S (Red Rot) 4T ‘%’ (Smut) I FE
Y Y @ | (Ea-fava T -Gt y9me)

51. Which of the followin is/are used as
biofertilizers ?/fre=feiaa o & ferm/fer= et SU=T
J-3eter & ®U H TR ST §7?

1. Azolla/3Tste

2. Bluegreen algae/a gRd eI

3. Alfalfa/

Select the correct answer using the codes given

below./=l feU TT e T ITANT & g | 3TN
Codes:
(a) 2 alone/de 2
(c) 1 and 3/1 3R 3
IT(b)

T TH S ST vife @ FrdTeReiE AgEieT H
feriertor ek o gf # fr HRmRg $ Tl $ ST
FRL det # g wd fam § gerEd & wg-9y gar &
difte s ¥ off R F@ €, S9-3d Fead g
e R & gar ffa dor wod & 9P & SR |
g 3 S Frefoiad S # sier w21 F 2Ra
Yo SN IS (2) USICMel adl TSeERed (3)
TeSifea | fie gla Sare der eien gW % @ |
TEeee Rl #, wSiceeet @n, foeed, TJwd
el STEEl Bl #, TSty T IS
HHA H q91 TESfaay eigl Eell § Sid 39 & &9
YA § oA S @

(b) 1 and 2/1 3 2
(d) 1,2 and 3/1,2 W3

52. Which one of the following regions of Asia is
experiencing the hig?est annual §r0wth rate of
frrefafaa

population ? o form oo o

TEEHT i aTfteh gfeg o ATeIehad &2

(a) South Asia/aferoT TR

(b) South East Asia/afer0T-gd e

(¢) Central Asia/med TRET

(d) West Asia/afgeHr iy

3T - (¢)
ST — &g U &F & SHEE &t A & 2000-05
F ERH 2.5% T 3 3R 2005-10 F 2 0.3% @ &
37 TITBTS % SN fahed (o) T ST A

TR Fierem
ANTReRAT, G ARISRR, T shaied, T
o Hifa Ty T

53. The basic structure theory of the Constitution of

India implies that / SHBIG)

e o TaegTe @ aread € fom -

(a) certain features of the Constitution are so
essential to it that they cannot be abrogated
dfaes % Fw R T g, f& s
foTeReT =& feham ST Fehal

(b) fundamental rights cannot be abridged or taken
away /9o TRl H T &9 6 1 T 2, 7
SIS ST Fehal 2

(c) the Constitution cannot be amended except in
accordance with the procedure prescribed in Art,
368/dfaEm &1 e F=T 368 | fafed
sfehan § & fopar S geba @

the Preamble of the Constitution cannot be
amended for it is not a part of the Constitution
and at the same time represents its real

spirit/Sfqem & SefyrE #1 g T R S
Tehell, it 9 ElewE &1 9 T 8 SN Wy &
o8 HiEHM S ST I FafafeT Sl &
3T - (a)
ST — 78 I8 Fared <A 3 $H3Ea—< IRl a9
IR | % A § FANT fHAT o1 e 3 39H et o
foh Zaft 3T=a 368 & ot HuR i TN wida fawga
2, fobe ordife 76 &1 W & g 0 sfErt o @
5= fRga a8 SMuRyd =9 & I8 A F Hhd|
3: fhed (a) WET 21
54. Freedom of the Press in India/¥Rd # U
TS T TS —
(a) is specifically provided in Article 19 (1)(a) of the
Constitution/Sfa8M & =7 19 (1) (a) H favm &7
¥ 3afed 21
(b) is implied in the wider freedom of expression
guaranteed by Article 19(1)(a) of the
Constitution/Hfa&™ & =2 19 (1) (a) T T
sRrEfFT & =T @R § fAred 21

(d)
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(c) is guaranteed under the provisions of Article 361
A of the Constitution /Hf3& & 361 & &
IYEE T T 7
(d) emanates from the operation of the Rule of Law
In the country/3¥ & fafy & = & wad=d 9 &
ST B 2
ST - (b)
T — 9 & Ay § 9ueER-TE U@ 39 & e
& e ¥ fFedt off evgese § Soo@ W far mam W
I9 P A A" % -3 & Sfid SEE-19 (1) (F)
EUY foem, sifieafa &t @ % s ufioRg |
Tfaferd %|

Y Ud T i HHUTAeRT, AT STl

55. Who among the following are a%pointed by the
F | feRment

President of India?/frefafaa o
TR ok WU T Y et &2
1. The Chairman, Finance Commission.
farer T @ sremer
2. The Deputy Chairman, Planning Commission
<Rl 3UTEALT

3. The Deputy Chairman, Planning Commission
Y - 813 T )

Choose the correct answer from the codes given

below./Hi=t U gT Fei & TH I T =& T

(@ 1 only/m 1

(b) 1 and 2 only/aa 1 R 2

(c) 1 and 3 only/®ae 1 3R 3

(d) 2 and 3 only/Faa 2 3 3

3= (0)
AT — IR WEgH & T es-280 § TH foam e
F TG B TEgE 21 GREYE % SHER o em &
e T8 IR TeEl @l fRfF IR % Ugufd g o A
F forw & ot 71 fo S H S S S-S a9
S TEE oeH ¥ Tl b R @ fawier s g
fore oIt % STemer qor Wew & wifd UH €Y TS e
et W faumme & A 8, & gete @ o e
Ty g S S 21 e @ Rt qur wifesd w@
#s TR & € STl W e & e & J@ee 1 e
A 9 T & gemdt @ e ageft g/ & &t S
B SR ASAT STEM T U e el g1 A
AN F ITeA 1 FEE T g/ & S 2
faam-Auee : whulg
56. frer o1 gadex fau &1 90 @ U &t ST (A) 3R

O R HRT (R) el T4 & —

Assertion (A): In India, the political parties

which formed the governments represented the

majority of seats secured in the elections to the

House of the People at the Centre and the

Legislative Assemblies in the States but not the
majority of votes.

HAT (A) : IR H FT g SN T i fAHE
qureit & Frated & gawt % 9gad U o Torias g
& THR 9K @ § 7 76 F 9gAd 9= 9|

Reason (R): The elections based on the majority
vote system decide the result on the basis of relative
majority of votes secured.
ST (R) : SgAT JoTTell R 3ERa Fafed § 91 adi &
RIS gl & SMER R & uRomy & fFufa 3 )
In the context of the above statements, which one
of the following is correct?/3UX & o ECse iy
wedt o frafafaa § @ S adt §7
(a) Both A and R are true, and R is the correct
explanation of A /A 3R R &1 T& & qa1 A
e AT R T
(b) Both A and R are true, but R is not a correct
explanation of A /A R R A G E WA H
TE A R TE B
(c) Aistrue, but R is false/A F&I 2 TR T @
(d) A is false, but R is true/A Ted @ W R T 8
I - (b)
AT — -G & AREd (§9 F 9 Fe&A) T T
fourm wwedl & g § feia $a 9 § 9 9e= @
Y ¥ Y B agEd W
TeE & TR S &1 g § 92 FA i 5 agAd
T B aTel Toifas g &1 foT el &1 agad e fhe
TR T 1 SAUHR T8 e | agad Jomel T i
A H gt o ST 0 arel Seneh @ e g 2
T SRS FGgAd & SMYR W YR & ER-sia

57. Which one of the following statements is correct
H ¥ -9 YT T 27
(a) All the members of the Rajya Sabha are elected
by State Legislative Assemblies /Tod T % |t
gawdi @1 fates Tt ) faee e F )

(b) As the Vice-President is the exofficio Chairman
of the Rajya Sabha, only a member of the Rajya
Sabha can contest for the office of the Vice-
President /STUU TSI TN &I YT GG Il
R, 9 TS GHT B HE GI & SWPUH 98 *
fTT < T8 Gebel 8 |
A point of difference between the Lok Sabha
and the Rajya Sabha is that while a candidate to
the Lok Sabha can contest from any State in
India, a candidate to the Rajya Sabha should
ordinarily be are resident of the State from
where he is contesting/ T 9 H
TF 96 ¥ W 2 5 dAbaw w1 faa a e
Yol wRd % R ff U9 ¥ g Wb §, W T
[ F J@ARN TG 98 # e AR, SEod
@ el 99 @ 2

(d) The Constitution of India explicitly prohibits the
appointment of a nominated member of Rajya
Sabha to the post of a minister /¥Rd & e
T 991 % AT gee= $i Ahe | e & ww
v § oy 2
37T - (¢)
ST — 39 T4 & 8 & fou g8 9eft fsedi W famw
FET B foheq (a) H T W W g9 U €
T # 12w e ff g €1 faees (b) #
ST 98 &% IHiEaR & Y 98 3ravas & % a8 U=

©
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QN H ST S99 & ArEar W@l & 9 6 TsaEd &
T 8| YR G9iedE ¥ USg g "e & O 98 |
frgfs = fme 7 21

Ae—IvTdha & N fFhed ¢ TE a1 Wy a9 2003 F
GO N EEHR 4 TST G % UST & el g @
A AT F & 2| 3 a0 urded § 9R foeed
T 2 |

Y T T GoeT, Yome, ST~ hyHi T
58.

Which one of the following determines that_the

Indian Constitution is Federal? )

fra fafquifta @ar &, f6 awa &0 d@fau=

uReeha &2

(a) A written and rigid Constitution

| I @

An independent Judiciary/ =TaaeTehl e &

Vesting of residuary powers with the Centre

vifFaat &1 & § fAfed g
Distribution of powers between the Centre and
the States/®% aﬂPI Tl & g vfFaar @ faawo
ST - (d)

ST — A | el W qef-Aifa gfyam & ¥ 5t

T4 WA ST 7, 9% 9% ¢ % F9fy guR Sy &1 wwy

TeTcqeh & oI ST e Uehiohsh @1 &l wisal # ofef

T WE T Fad T W g "faem @
b T ST S AR 3 @ ad qEl W éh—s(

aﬁt Tl & & wfEEl & foaaor @ wy @ @ f

&1 He R 2

TS TS MHA T & T $© vl &1 g STeavas

2 98- 1. fafee w@ s dfaa 2. wRedl @1 fawree 3.

WA s 4. 9fEUE # gatar ol swdw

el § 4 wh ¥ ot foebed @ € e WA W

foeped v 3 Tl & o wReal @1 e 21

59. In which respect have the Centre State relations

been specifically termed as “municipal relations”?
hR- T i w®U 9 T "

‘wfafauer deier’ et T §?
(a) Centre’s control of the State in the legislative

sphere/faemm F eF H T W B5 & g0

T |

Centre’s control of the State in financial matters

foefta amell § Uo7 W S F e & s |

(b)
©

(d)

(b)

(¢) Centre’s control of the State in the
administrative sector/S¥TE® &7 § T9 W F5
% foior & s A

(d) Centre’s control of the State in the planning
process/aSHT YhT H T W HF & AHA0T &
ST

I - (b)

AT — I8 favem fodfer ame § Isa W &g & fea
F TG ¥ A F@ S 3| Fifh TR TR F SRR
FU G I B Al 3T B T A bR b T # e
1 el Tl 1 AR ol Al WA iE g
T T 2| T 9 36 §EY A9 &9 ¥ HE S 8, S
HZ T U A H YgAF oIS I H THR A1 ST
fehed (b) o TE fehed el ST Fehal 81

=TT SHEEAT (§E Te )
60. Which of the following statements regarding the

advisory jurisdiction of the Supreme Court are
correct ?/3<TAH ~AT—ATAT

foroar & freferfige & @ -9 wa 9 €2
1. It is binding on the Supreme Court to give its

opinion on any matter referred to it by the
President./SeeIdd It & T o

%, for org wgufy grr PR et off wmoer &
T A T i

2. The full bench of the Supreme Court hears any
reference made to it under its power of
advisory jurisdiction.

v & orefim ura fodt fdor W oSsuaw
IS i gut it gaarg st )

3. The opinion given by the Supreme Court on a
reference under advisory jurisdiction is not
binding on the government.

% areft g forder WY e foRem e Seeaw
ITATAT AT W FIhT UT STedehit T8t ol

4. Not more than one reference at a time can be
made to the Supreme Court under its power of
advisory jurisdiction./SSed® AT Y

WS TR &r Ve o Tefi U A W
hael Tk & 9T AT ST Fewe B

Select the answer from the codes given below:
o fow gu et it FETEaT ¥ 3T A 99 ST -
(a)Iand 1I/1 3R 2 (b)I and III/1 37 3
(Mand 2 3R 3 (d)Iland IV/2 3R 4
ST - (0)
T — 143 & orefl wwufe fafer on qe &
UREF Y99 & YR W Tared AEed § T W
FHM| T T AT T T R g e 3@ 8 %
fore amer T @ oIk AR T FE T wAd =R FW
gy F & T & a TPt 39 T B A & o e
T 2 i oreRE 143 &1 U9 gared =@ g qpl
TH W aEFR AE 1 W IR 131 F e AR

S FEeE § T A € A Gated =
T 3 & fore ame g wy & st sfenRar & aref|
T 3 F o fed S § <Aem 5SSt g gAeR e
ST | (37T e 9 gR)

frrater 3T, rerwTET

61. Which of the following electoral systems have
been adopted for various elections in India? 9T

o fafaer fratemit & fag feafafes @ § SF-3

#t frraterm yonferat wiepa =it T €2
1. System of direct elections on the basis of adult
suffrage./aa%h &% SMER TR T

2. System of proportional representation by means
of the single transferable vote.Wshel d
% B I Sfffee & Somer

3. List system of proportional representation.

4. Cumulative system of indirect elections./37c&1

fratem & 9=t Aaeq gumelt
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Select the correct answer from the codes given
below./rer feT 7T FeT T TE 3T AT T BT
(a) 1 and 2/1 3R 2 (b) 1 and 3/1 R 3
(¢)1,2and 3/1,2 3K 3 (d)2,3 and 4/2,3 3 4
ST - (a)
T R § fafeT & SRt SR st St & e
yonferal ST E ¥ cebew qu T sl % e
Wﬂa’m%wmmw@w@%%wﬁ
Tyufd, SwpHfy, Teager aar faue oRed & &g et e
AU TG TN & AW ¥ Sdfde YomeE 9E &
e Y e ©Y § G 2l 2

62.

Given below are voting percentage of a political
party secured in three successive elections_to the
Lok Sabha:/f=r ferdt T BN

& AR o frateat § 9w Jdt st wiaeraar &
T -
Years/a®

Percent Votes :

1984
7.4 114 224

7.4 114 22.4

The party which secured these percentages of
votes was/RNT@ T ¥ Tel ot Suderd UferTear We
i, 9 a1

(a) Congress (I)/‘ﬁ'ﬁ'@r ('S:)

(b) Bahujan Samaj Party/ags FAIS Tt

(c) Bharatiya Janata Party/9Rda ST aref

(d) Communist Party of India (Marxist)

@ (

1989 1991

I - (0)

=T — 9ot | fRU U Aed % AR = fatEE
¥ ot el st Sl & W g 2, 6 el St o
T ToHfa ad A fIse 1984, 1989 T 1991 o FATE
& Tl @ 48 SO W A WS 3 1984 % G
TE H Fa 2 W qA 7.4 WAV F, 1989 & AAHKH
TAE H 86 W qAT 11.4 Fe WA A1 1991 F ArHH
TAE H 119 9IS q9T 22.4 Hfererd # S foha o

63. Which one of the followin
‘Exit Poll’ is correct ?/'

W T AT HAT TE 7

(a) ‘Exit Poll’ is a term used to denote a post-
election survey of voters regarding the candidate
in whose favour they had exercised their
franchise / | H%aw’ Afreafaa @
TR % 39 fate SR B e & §,
S99 o8 ua =t {5 Aqem@rett 3 319 TR &

statements regarding

T ween’ & faw

I 59 vt & qa{ # o

(b) ‘Exit Poll’ and * mon Poll’ are one and the
same /fifa @ RS TS &
a1 71

(c) ‘Exit Poll’ is a device through which results of
voting can be most exactly predicted /* ad
e 9% IfF 2, fE9 waae & aRemE & fame
# srferehad wEt TﬂT:IFT fepam ST Wb 21

(d) ‘Exit Poll’ is an administrative device made
recently by the Chief Election Commlss1oner to
prevent impersonation / ‘forfa @ TR

elee 3gH g feredt T SRmEfh
g@ma TETHRUT ek HAG Ul ST Fehell %Fﬁﬁ

37X - (a)

et ffd 7q 9T (Exit Poll Servey) HifSam 3w
fFet ff T & AT AAGH Fh (e Arel AAamrst
g fafay wfés, senfdel & o § fFu T Aaem &
eI T TR R iRy gfE 2, fres g g
¥ uRomd % e 8 % 98 @ uRom % AR § wd
TEIHA T YA R S 2
64. Which of the following is/are among the functions
of the Election Commission of India ?/9Rd
Frater st & frefafad § @ @9 @ o 87
1. Conduct of election for the posts of the Speaker
and the Deputy Speaker, Lok Sabha and the
Deputy Chairman, Rajya Sabha./
e 3R IUEAF T ST TH h G TG B

for fratem sam

2. Conduct of election to the Corporatlons and
Municipalities./FRuTerBTaT 3R TR-frmt & forg
frafe s

3. Deciding on all doubts and disputes arising out
of the elections. 3 9 g
foaral =1 fauta
Select the correct answer from the codes
below./H=r few gu Fet & wEt ST w1 w==
(a)land 2 /1 3R 2 (b) 1 and 3/1 3 3
(¢)2 and 3/2 3N 3 (d) None of these /®1E el
ST -(d)
RN — SR I3 H Gobd (1) F &1 Ta @F
F1 daa () 1w o9 Fated R & 8 SEfE Gha
(3) % T e 21 o7 ey (d) T S 21

anféres fae wd wdte srm/este
65. A major shift in the 8th FiveYear Plan from its
preceding ones is/T: @ geT o
T3t Terater AT H g uRed § -
(a) the significant reduction in pubic sector outlays
%’aﬁ H yoq A
the concentration of pubic
infrastructural sectors /3TSHTEAHS
frerett @1 dehsor

major investment in agr1culture with a view to

iven

investment in

(b)
gt 7 A

©

promote exports/ Hagd ot 3y ¥ A
Rhic) K
(d) major investment in sectors in which industrial

sickness has been a chronic problem/3 &=&i |
T e R ST wvvm fRaT e §
37 — (a)

ﬁﬁmmsﬁtﬁeﬁ%ﬂmﬁﬁﬁﬂﬁssmw
AMEE R SO wWEqE geSte 89 % 9
Wﬁwﬁaﬁ%ww%ﬁﬁnﬁﬁ%ﬂ%ﬁﬁ
fafrar o iR oife g gem 21 o S 3 ¥
Ioolg AT SR BN % el IS % SR Frestieh
g7 o fafra & an e 58 St or S osdt ar |
59 ST, At AT § AT 48 e O11 W M3
o § Fact 45 v & uRefoud fHar ma
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66. The principal reason why national, economic
planning is still being pursued inspite of
embracing a market economy since 1991 is that
TA 1991 ¥ SR refemaan @i & off T &,
iRz oft wftar anférer = oreft =rme §) 3we g
T T 82
(a) itis a Constitutional requirement
T8 Hifa

(b) the vast quantity of capital already deplo
the public sector needs to be nurtured/
¥ wge ¥ e TR 9 A & st & é@qﬁr
T &

(c) Five Year Plans can continue to provide a long
term perspective to the economy in market

friendly fashions/d=adfa ASAE aoR s i ¥
sferae F1 Srefafy TR Y R © S ¢

(d) the market economy is mainly confined to
industry and commerce and central planning in
agriculture is necessary /dNIR 37 &
o SR A T W E s FW F e
ST STEYS 8

IT(c)

d1n

T - 9Rd H 1991 §. ordeyawer & SISl a9
e # AT B SR Hh SR deE &
R foFa T, W AR SEEdr S an] S & ae
off Tt ofdss AT qur Adwte enfds faem o off
FefemadT F @ YR ¥ TEH G AU T & %
Yeaig FreeT & mey § oo g9l Ofq 9 etderasen
aﬁéﬁaﬁgﬂ?qﬁﬁwmﬁwmmélwwﬁa@
(c) & g

67. Fiscal deficit in the Union Budget means

et aste ® TR e @ o ¥ -

(a) the sum of budgetary deficit and net increase in
internal and external borrowings/ase =S R
aRe d=r ol #omeE | fad gfeg & am

(b) the difference between current expenditure and
current revenue/Te] 79 3R FTe] TTE I 3

(c) the sum of monetlzed deficit and budgetary
deﬁcn/ﬁflé‘?ﬁ e 3R a9 g A

(d) net increase in Union Government’s borrowin,
from the Reserve Bank of India/sRda e %’cﬁ

g 9 TER g fRU T FOTEE | g8 e gfs
ST - (a)

AT — [EHEE LT = aoie g (Tohd T + Yo
) - YR DBIEH ol Wiadr (T Witqar + IuR
Bt IS Tl BN T HEAd &1 TSI
e F gfg SR qun arer e T &1 wafed Ht
2, sTefoaTar B FOT A H X A I g qdn gsh IR
q GHEE H HEE AT F &

Y, I TE SATUR

68. ‘Self sufficiency’ in food. In the true sense
freedom from hunger, has not been achieved in
India in spite of a more than threefold rise in
food grains production over 1950-1990. Which of
the following are the reasons for it?

195090 S AT ¥ WRA W WEmHl T e

g o T W sfers & T §, R oft W ored

srrerfarefvar, frgert oo § 9@ & gfew, & wma

HI T Weh! 1 THeh TrAfeRad # | i & S/I0T 87

1. The green revolution has been restricted to
small pockets of the country./gRd i< 39 &
BR-BIC Tl % Wikd @ 2

2. The cost of food is too high compared to the
earnings of the poor./ @ & FAE @ qaT |
T % 9E g A g

3. Too much emphasis is laid on wheat and paddy
compared to the coarse grains./Al 3TN
qo # T 3R 99 W ST aof e w2

4. The gains of the green revolution have largely
accrued to the cash crop rather than food

crops./gRa Hif< & BT A ThE BHAl Bl
& et €, @ wEdl B
Select the correct answer from the codes given
below./fFrefeTiad el § TEl ST T A St
Codes :
(a)1,2and3/1,2 3R 3 (b)1,2and4/1,2 3 4
(¢)1,3and4/1,3 34 (d)2,3and4/2,3 3N 4
I - (a)

AT - I8 T ¢ 6 eRa i & Ry o 391 &
BR-BIC Witd Tuel a% & e 9 ® T W & g
TEEl & 99 H ofs gfg T 98 fRuEl & Ay @ "
fohrq B1C fopel @I @1 Tea A firelh| 8Ra i< &1y
FIF BUC THA T IR g T & S FOR T
oV | IS SIS W ITH FAIT A0 AT A BT TG

69. Which of the following statements about the

Dunkel draft is/are correct?/Sehel W&aTal o fereer

¥ frrefafad # § @i 9 g wE §72?

1. It is mandatory for the Government of India  to
accept all its proposals in all the sectors./qRd
TR & o 3w woft swmE & o dee & fae
THR T a2

2. In the field of agriculture, the main proposal is to
cut agricultural subsidies./F % &7 § q&1 &M@
2 - P Teelt 3u=mT 5 FE

3. In the field of textiles, it reiterates the operation
of the multi fibre agreement./a% & &7 ¥ = agiq
TR & o 1 A 2|

4. The proposals have already been accepted by the
Parliament./Sal 3 98 T8 & WHR & a1 2

Select the correct answer from the codes given

below./t=r T g FHet ¥ T I T =TT HITT

Codes :

(a) 1 only /HEA 1

(b) 1 and 2 only /a1 3N 2

(¢) 1,2 and 40nly/§ﬁ?1 1,2 3R 4

(d) 3and 4 only/a\v'alﬁ 3 3 4

I - (b)
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ST - et el 7 20 fARR, 1991 & 108 Fe=

a7l W oEe # T 1 ARd § e # O SR
fereprereiet ésﬁ F freft T2 P TUE BT 2, D
WM F YT FA agrra‘hr frml, s f stfempiem:
IR R Th Wl 9 F €, F o > fRw 21w
TS 1 T faTeres qaE F e i 9 & 2l
70. Which of the following re  correctly
matched?/fr=rfefiaa # & 9 @&t gﬁﬁﬁ 22
A B C
Establishment of Year Place
Manufacturing Industries
WA 9" e
1. Setting up of the first 1854 Bombay
cotton mill
1. 999 ot e a1 were 1854 T
2. Manufacture of the 1870 Near Culcutta
first machine made paper
v WY AT O A 1870 Feled & U
3. Setting up of the first 1904 Madras
cement factory
3. 9o HHe WO 1904 HEH

Choose the correct answer from the codes given

below:/rar feT gT Fei ® & Wl W o @A+

(a) 1and20nly/av_fﬁ'l 3N 2

(b) 1 and 3 only/&aet 1 3 3

(c) 2 and 3 only/ad 2 3 3

(d) 1,2 and 3/1,2 3R 3

3T - (b)
e - wem weie AT S o fafmior 1832 # fgw
(4. SMeT) | g A1I FoUH Tkl ol A T 1854
F @ & g9 g goq @i et @ IO 1904 H
A5 & I & TS A

71. The density of cattle populatlon per 100 hectares
of gross cropped area is the highest in /9fer 100

T WHhA F & H WATITEN st HEAT T T

TeH I ¢ -

(a) Bihar/fogR &

(b) Haryana/gRamm §

(b) Madhya Pradesh/q& ¥91 §

(d) Uttar Pradesh/3tX e A

ST — (b)
AT — 9 100 R Thd FH &7 § waRwE #i
T 1 Haife T gRAT TT § 31 Sea@ i 7 1%
feam (gfamm) § & ‘Hi G99 oTEYH e @ T
T €1 T 1998 H AR 0 T T AT T I
2 B TG IS ToA FrEfefed § - S gew, U,
T q91 3Ty W %%W%WHW
e AN H 1964-65 H FEA U]
mmwwmawwm@mm
(TR FeTE) AT Gaiferd T |

72. Even though the Railways are the most pervasive

mode of transport in India, it is the road
transport which received the maximum impetus
in most of the post-independence period. Which
of the following are the reasons for this?
O § wad Sifusw Suek uReaed Wi ¥, W
AT & ST hi UAHTIT TaTr TSk UiasT
H el Wicdga e §1 36 frefafaa § &
I W HET §?

1. Railways are cheap to operate but the associated
capital costs are very high.,Ae Rag uRemeq #
T @ W IR a5 G5 AN g 31 2

2. Given the geographic spread of the human
settlements, it is unrealistic that the railways
alone can serve the needs of transport./dH 9
&1 iifers AR 3o e € 6 P o 9 &
Reed & W TevaEde H Qi @ SRM A
SFaTEfe 2|

3. The per unit (tonne/km) cost of transport is
cheaper in road compared to rail transport.
Rag & qo § HgS ulaed & A The (el
/) e Tl R |

4. Given the indivisible nature of the Railways, it is
not always convenient for the population to avail
it with the same ease as private cars, buses or two
wheelers. AT &1 @&Y & PR ST
& FTU ST: STeT o1 ST ST Gfaersteh =& g
fSaen fAsht Ri, i 7o gufean i § @ 33
B 2

Select the correct answer from the codes given

below /~f=r feT g Tel | Wt I === wifw —

Codes:

(a)1,2and 3/1,2 33 (b) 1,2 and 4/1,2 3R 4

(¢)1,3and4/1,3 34 (d)2,3and 4/2,3 3R 4

I - (b)

AT — @9 9Rd # IRae H 999 a1 e a1 99"

FeT forieT TeH 71 IR 3o e o g6 e ae

I HeTsh ¢ THH TESE WA b JvEN g Tl

TeF URTET FI AE AT B 31 TSH wRagd H

fehar T BT — (1) T e & IRAe & T @

W ff 3T gEg g AN B S 81, (2) s

diifers & § forga aa aferat 1 oRae sravasharsit

F g FE H @ uRae & ewmdW aw (3) Wd #:;

AT WET % FROT FT F forw et areHt # erde

I Taredt 1 A I H E ATl ST v 2

73.

Which of the following are the purposes to which
the National Renewal Fund has been set up ?

frfer & oo st Teht 22

1. To restructure sick small scale industries./&70T
Y I P G G F o

2. To help workers likely to be displaced due to
retrenchment  in  the process of industrial
restructuring./3MAN TF: T F W9 § B 5

Foaey R g e FRE TR & o

3. To modernise existingS industrial units.

SRR 3 for
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